o » . KEER (20 1)
B B KRE AR i]IE2 Bl Pkl 1 4FC19994F)

H B | B | 15| 2/2 ( 8/2 (47131 6/11 | 6/8 | 7/6 | 8/3 | 9/7 | 10/6 | 1179 | 12/1 |fg Al /) ili| S 4804
X & - | B | # | B |[/E| 82 | B £ | 8 | 8 | =&
oK B Bes> | 8:20 | 8:56 | 8:20 | 8:19 [ 8:33 ] 8:81 | 8:30 ] 8:53 | 8:27 [ 8:36 | 8:50 | 8:40
kiR m 4,80} 480]414[437[4.05[4.24[4.18]4.27[4.20[4,00][4.35[4.30
Bakk B m | 0,50]0.50]0.50]0.50]0.50]050]0.50]0.50]0,50](0.50]0.50]0.50
& °C [ 205060 ]1508[17.1/29.7/20,2(20.9]26.6/20.5]17.3] 8.7
X R °C | 555870 140]10.2]24.8]22.9]20.0]27.2]aL.7]160]1L.2]29.0] 55 |17.0
8 EED T e s e s e R e L e P e e s ‘
2 & G5 — R R | mE ) ER | mE | ER | ER | ER | R EE | R | R
B cn [80.5]27.0|17.5 150 [14.0[20.0 | 11.5]16.2]29.5/23.6/[10.67]23.0] "
B m [0,45)0.50[0.,80[027]0.25/0.33[0.17[0.25]0.48]0.30]0.80]0.40f 0,507 0.177]0.383
kK — 16 | 16 | 16 [ 16 | 16 [ 16 | 16 | 16 | 16 [ .16 [ 17 [ 186
pH ~ [782]802]7.09]887]790[822|7.79/840[8.29([8.78)/8.44/[8.53]8.87]7.79]8. 25
DO mg/1 [12.24]12.91[12.27(10.88] 8.49 | 8.68 | 7.56 [ 8.76 | 8.47 | 8. 06 [ 11, 11]11,66]12.91] 7.56 [10.17
BOD mg/l | 2,54 2.17]8.72[3.80|4.59]363]8.25]4.00]3.33]360[2989]201]453][2017]3.31

ATU-BOD | mg/l = - - - v —
COD(n) mg/l | 6.10|5.26|7.54|707)|728)7388)770]|747|6.68)840(7.96/6.90)8.40 525|714
D-CODMn)| mg/1 | 8.96)4.27(4.44 14,0188 ]4.78]4,62|505|548)5.36)565|4,43] 5,651 8,85 | 4,66
P COD)| mg/1 2,14 0.98)3,10)3.08|3.43]2.66(308)242|1,20(304).231|24])3843]0.98] 249
COD(Cr) mg/1 |16.86)14.54)19,36)16.43]19.35]10.40(11,91]17.68]14.50(20.93|12. 82|13, 71| 20,93 10. 40| 15. 62
D:COD(Cr) | mg/l | 4,82 | 545 8,56 |9.22|12.02) 585 | 8.18 |11.12|10.04|12.62(10.22| 7.80 12,62 4.32 | 8.70
S8 -mg/1 | 9.6 |10.3]22.5/22.0{84.0)24.0/40.0)27,0/|17.5(256]23.6]12.8]|40.0] 9.6 | 22.4
j:}}%@iﬁﬁ We/10o01| 1, TE43| 2, 8E41| 7, 9B+1| 7, 9E+2| 7. OE42|4. 9E+2|3. 8E+3| 3. 3E+3| 8, 3E+3| 7. 9E+2| 3. 8B+3|3. 3E+3| 3. 3E+3| 2. 3E+1 | 1, 8E+3

N mg/1)1.30)1.50) 1.64)1.471,1411.00)1.10}1,00]1.19]0.85}1.20]1.04] 1.64]0.85]1.20
TP mg/1 |0.066]0.069|0.106]0.093/0.090]0.104]0.127(0,097/0.094]0.080)0.077]0.067]0. 1270 066 0. 090
* NH;—N mg/1 ] 0.02)0.02|0.07]0.03]0.03]0.020.06]|0.02]0.05)0.02]0.02]0602]0.071/0.02]0.03

NO,—N mg/1 10.018)0,01470.015]0,016]0.011)0.002] 0. 032 0..024 0.020(0.002]0.009]0.0610 0..032 0.002 0.'014
NOs—N mg/1 ] 0.6710.97(1.26]0.17 [ 0.58 0.8210.29.]0.43 1 0.15 | 0.56 ] 0.49| 1.26 | 0.01 | 0.49

0. 01
"IN mg/1 {0701 1.00/1,85)0.22|0.63]0.03]04)|033]0.50]|0.17]059)052]1.35]0.038]0.54([
ON mg/} [0.580.49]0,68|1.15|0.56]0.960.69]0.67]0.69]0.68|062]050]1.15] 0497069
D+ ON mg/1 1 0.34(0.30044]049[0.28)0.56]0.41]0.40/0.87[0.35]|0.30(0.29)0,56]0.28 | 0.38
*P.ON mg/1]0.24|0.10)0.24)0.66]0.28]0.40/0.28({027[0.32]0,33[0.32]06.21]0.86)20191]031][
*D:TN mg/1 | 1.04)1.80|1.79]0.71]0.91/0.59/0.82)0.73[087]0.52[080)0.81)1.79]052]092]
*TN mg/l | 1.281.49(2,03]1.87(1.19/0.99|1.10]1.00)1.19/0.85]1.21]1.02]2.03[0.85] 1,23

D«PO4—-P | mg/1 [0.003]0.005/0.026]0.003)0.002(0.005|0.020|0,005|0.014)0.005(0.0090.000]0,0269.000]0.008

"D-TP mg/1 [0.028]0.042[0. 045]0.015]0.006]0.013]0.032]0.0381[0.032[0.018]0.008]0.013]0.045]0.006]0.023
'P.TP mg/1 [ 0.088]0.027]0.061]0.078]0.084]0.091[0.095]0.066]0.062]0.077]0.069]0.054]0.095]0.027]0. 067
IC mg/l | 15.5 [ 14.4 131 [12.6 [ 181127 ] 14.8[13.8]12.0|145][12.4]12. 1| 155121 [ 185
TOC mg/l.] 40| 4464597752 (63]|7.2]65]638]66]|64[77][407]86.0
*TC mg/l | 19.5]18.8119.5]18.5/20.8]17.9]21.1[20.5]18.4]20.8(19.0[185] 2.1 ]17.9]10.4
D:0C g/l 22124 (88 ar7138(so0lat|ad4latlsalstldoldol22]3z2
*P.0OC mg/L| 18] 2081 ]22]380]22 32588243185 24]30] L8] 28
D-Fe mg/110.28]0.36]0.20]011]0.18[0.08[0.30]0.01[0.00[008]0.10[0.12]0.3]0.011015
D:-Mn mg/1 | 0.00[0.00[0.02[0.00]0.00/000]002]000]0.04]0.00[0038]000]004]0.00]0.01
Fe mg/1 | 0.36[0.54]0.68[075/[047[0.767]064]0.79]0.39[0.81[0.62]0.25[0.817]0.25]0.59
Mn mg/1 {0.03[0.04[0.05]0.09]0.06][004]000[0.02][006][0.06]0.05/0.18]0.18]0.02]°70,06
A g 165 [10.2]17.5]18.8]25.4[20.1124.4120.8]15.0[2L.5[22.9]18.0]25.1] 6.5 | 18.4
HEHE0C) s/cm| 280 | 286 |.830 | 803 | 214 | 277 | 277 | 289 | 308 | 347 [. 344 | 279 | 847 | 214 | 295
.. Ca mg/1 | 17.8(18.9]19.5|17.5 11,4 [ 155 (181 ]17.4[18.8/18.7[19.7[17.0] 19,7 [ 1L.4 | 175
Mg mg/1 [7.97]7.95/842688 147146 77 [ 65 [89 ]98] 68 ]|714]1470]650]8 91
pH4. 87 A Y| mng/l |49.7 54,0 52.9] 51, 4]42.8]48.0]50.55L.8(53.1]59.2]56.0]50.9]59.2[42.8][5L.2
p HY, 0B | mg/1 | 8.32122.55/22,55]27.40( 46.8 [ 14.48] 8.41 [ 4,31 [8.61!6.56|2.7112.94[46,80] 2.71 [14.84
pHO 0T WA YE] mg/t | — — — — - - =1 = — - | = - - - | -
S04%" ng/1 130.8(81.2]90.1]280)32.2357]837[381.0]28.8]29.9]38L.7/33.0]357]28.0]3L3
cl- mg/1 180.83]36.0]90.1]34.4)26.8]338)|354[58,6[580.3|44.9[381.2]584.0]44.9]26.8] 34.7
N a mg/1 |20.1|30.4[82.4127.6]21.7[27.8]80.5[25.8(26.7|80.7[27.8[27.4]82.4] 2L 7281
K mg/) | 5,10 5983 (557 477|477 110.61]10,53[10.15]{ 5.27 | 5.85 | 4. 95 | 4,85 | 10.61] 4,77 | 6. 44
T +8i0, mg/l | 19.5 |15,.58[25.84| 28.5 | 21,0 28.7[40.0 [ 27.0[10.1] 9.0 [13.5]17.58] 40.0] 9.0 [ 21.3
A ng/1 [14.44|11.00)11.20] 5. 91 6.88 |11, 41]11.69]11.64] 7.91]3.42| 1.80 ] 1.04]|14.44] 1.04 | 8 15
Chl-a g/t 48,2:[50.07] 65.8[99.994.1/63,6]387.0]739[32.4[31.5|54.8[51.1({99.9]31,5]581
Chl-b ug/l] 2240 a0 l1s4[87 |30 7262l 23]29]14[184] L4753
Chl-c ng/1]1 6.0 6.0 161181 (1581301460395 7 (89 10.7]181] 89 [10.1
JuA74F v lug/1].05 | LO[18.1] 0.4 [22.6]17.6]10.9] 2.1 [47] 9286/ 85]22.6]05] 9.0
e v pmEs | mg/1 [0.02]0.02]0.04]0.0210.01]0.00]0.017002[002]002]001[003]004]001]002
gk DR H ITRROFEIC & DRI, 8, P-ON=(ON)—(D-ON) 6 P-TP=(TP)—(D-TP

1.P-COD=(COD)-(D-COD) 4. D-TN=(CIN)+(D-ON) 7. TC=(IC)+(TOC)
2. IN=(NH4-NY>+(NO2-N)+(NO3-N) ‘5. TN=CITN)+CON) 8. P-0C=(TOC)Y-(D-0C)
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Bl e pEYa TR )% B o il
bes| B | Bz | 1/6 | 2/2 | 8/2 | 4/18 | 5/11 | 6/8 | 7/6 | 8/3.) 9/7 | 10/6 | 11/9 | 18/1 (KMl |/ Mill| 294
2-MIB |ug/1]0.006]0008/0. 011 0. 071(0 001[0, 0150 011/0,007|0.039|0,000)0,001]0.001}0.071]0,001]0.014
VARI Y  |pg/1]0.029]0.019]0.013]0.078)0.001]0.0140.007)0.005}0.009[0.001/0. 0010 0010 078]0.001]0.015
nnp v RAECTINFP) | mg/1 — — — —. — — - — — — - — - L — -
JonkphERRRE | mg/l | — - - - = - - - - — - - - - - |
7 0wy Jonp vl | mg/l - — — — — — - - — — - — - - -
V7 oA VR | mg/l - — - = - - - = — — - — - — —
roebwvhiEpEe | mg/1 ) — | - | = | = | =] — | = =] = =] =1 = - - | -
TN.E/E mg/1]1.80|1.50|1.64|1.47]1.14]1.00/1.10]1.00]1.19/0.85-] 1,21 [1.04]1.64 [0.85 |1.20
TNHE mg/l [1.82]1,42)1,29|1,48(1.10)0.97)1.1)]108[1.22]0.93)1.12|1.02]1.48 [0.83 |1 17
TNTFE mg/l [1.80(1,87)4.85| 1,57 [1.11]0.95)1.18| 1. 11| 1.11/0.89)1.18]1.02]1.57 [0.89 |1 18
TP L& mg/1 |0. 066]0.069|0,106]0.093[0.090{0.104[0.127]0.087]0.0940.090]90.077|0. 067]0. 127 |0. 066 |0. 090
TPAUE. | mg/1]0.069[0.069(0.092]0.098]0.098]0.098|0.1210.093|0.094|0.096(0.075]0. 062f0. 121 |0. 062 |0. 088
TPTE mg/1 10,0760, 070]0.097(0.099)0.094/0.096]0.111/0.109|0.084]0.084|0.079)0.087[0. 111 |0, 067 |0. 080
COD.L/H mg/l {6,105 25| 764|707 |728]%38|770|747|6.68]|840|7.96|6.90[840 |5.25 |7.14
CODH/E mg/1 | 6,85 (598721727 |7.11[6.78]|7.89|754(734|770]7166.95[7.89 [593 [7.10
CODTF mg/l 16.02)565(768[7.15]718)86.80|787)|800)6.06|780 |8381[720[831 |565 |714
S\ kY - - - - - - 1 = - - - - - '
EAI| ‘C | 56 (58 64]139)19.4]24.8([23.0(29.2/27.2(21.8]159]11.3]
0. 5m C 157|541 65138)19.5]24.6[23.129.1|27.2|2L.7]158]11.4
L.0m C | 57|54 641138|19.5[24.3(23.1)290)27.1|2L.7(159]11.4
2.0m _C [ 58 [54)|64]138[19.5]24.1/231[28927.1)21.6(159]|11.4
3. 0m € | 58|54 64 138|19.5|24.11231]28.7|27.1/21.6|159]11.4
4. 0m ‘C |58 |54(64]13819.5[24.1(231(287|271| — |159(11.4
5. 0m c | - - - — - - - - - — - -
6. Om C - - - - = - - - - - - -
JEETH C | 58|54 64/137/195)24.0/23.1[286]27.1)21,5|159]/11.3
*DO Kb |mg/l| — - | = -1 = — - - - - = -
Edii mg/l | 11,2]10.5]12.4]10.2] 80 [ 7.1 [ 7.6 | 7.0 | 7.4 | 8.6 | 10.7].11.2
0.6m mg/1 | 11,1/10.8]12.4]10.2| 80 | 6.6 | 7.6 | 6.7 | 7.4 | 85 |10.6[11.3
L. 0m mg/l 10.9) 9.8 11211101/ 79|68 | 7563|7088 ]|105|11.4
2.0m | mg/l 1 10.7) 9.7 | 12.1)10.1) 7.9 586 | 7.2 6.0] 6480104114
3, 0m mg/1|10.0) 6.5 |12.1] 9.9 (79|49 |67]58)|62]|79]102|1L3
4. 0m mg/l [ 89|89 )121]94|75|36|53]|57|51| —.]98]108
5. 0m ng/l| — - — — - - - - - - - | -
6.0m mg/l | — - | = - — - ~ - — - - —
B mg/l | 89 |27 ]11.8,97)53(1.2]061]02]|02]|04]411]1.9
ZkdgEE 2k b | Lux | 8930 | 16600| 8300011200 | 1630072800 | 36600 | 95600 91600 19600] 27400 | 26100
Ecdin] Lux | 8520 | 10400|29100] 7210 | 105004 |52700| 2030070300 62500 17200 15300 | 23700
0.5m Lux | 1340 | 3020 | 5500 | 1350 | 1190 | 10400 3640 | 11000]14700| 3200 | 7110 | 4180
L 0m Lux | 671 | 139 | 184 | 164 | 42 | 2460 | 64 | 1830 )| 2840 | 421 | 1020 | 562
2, 0m Lux | 115 | 82 | 40 6 1 87 3 28 | 270 | 29 | 44 25
3. 0m Lux | 84 [ 16 g a 0 11 0 0 40 5 3 a
4, 0m Lux 0 0 010 0 4 0 0 15 - 0 0
5, fm Lux — - - — — — - - - — - -
6. 0m Lux | — - - — — - - - - - - -
il Lox | — — — - — — — - — - - —
JEiRE LORP | mV | 546 | 168 | 107 | 146 | 85 33 | 277 | 246 | 138 | 199 | 73 | 118
Tz ¥ DOED OfHC & B HLERSR




REER (20D 1) ’ :
R PTH AR M KEA FAR)[. N &I Tk 1 1EC10994)

H B | Bz | 1/5 | 2/2 | 8/2 |4/18 | 5/11 | 6/8 | 7/6 | 8/8 | 8/7 | 10/6 | 11/9 | 12/1 |KAl|Re/ME FH4E|.
X & | - | B & [ K |2 | & |88 B[ & | & |8 [B]
Hokbesl B> | 8:06 [ 8:42 [ 8:00 | 8:03 | 8:20 | 8:18 [ 8:18 | 8:40 | 8:14 | 8:24 | 8:35 | 8:25
2KE . m [6.32]6.01 580645597 |522](586[5201547]5.52]86 055 60
KK R m 0.50 [ 0.50 ) 0,50 (0,50 | 0.50) 0.50 05005061 0.50]050(050]0 50
R C 1 265056 |155[17.2/237]19.56/288]|26.6]2..5]16.7] 87
kB C |59 5868 [187[10.7]23.7/23.3]28.0 278220168/ 11.0[289] 58 [17.1
OB (D B e e e P e e T P |
2 R QR - MR | IER | R MR | R | R | EE | R | R | RR | KR | ES
BIRE cm | 35.0(865]19.0/18.0185[27.6 9.4 [17.5]40.029.0] 22,5820
BIARE m ]0.40]0.580.29]0.85[0.800.40[0.15]0.25/0.67[0.420.45]0.58[0.67]0.15][0.40
K = 16 16 | 16 16 16 18 16 18 16 16 16 16
p H — | 784786781 |877[7.95|7.90]785/820]8.41[8.94]838851]804]78]820]
DO mg/1 [11,71112.06]11.77]10.87] 8,08 | 8.52 | 7.558.83 | 9.38 [ 9.87 | 10.75/11.88]12.06] 7.55 | 10, 06
BOD ng/1 ]| 2.34 247 3.64 | 2.87[4.26 296 2.55|4.822.98[2.70]2.65(1.60/ 4.32 16() 2. 95

ATU-BOD |ng/l| — o - [ =1 =-1-= :
COD G | ne/L | 6.0 [ 6.06| 7.6 | 5.05 | 8.10 | 5.92 | 5.18 | 5.88 | 6.12 | .49 | 7.68 | .08 | 5.18 | .02 | 7.11

D.-CODG | mg/1 | — | — | = | - | - [ - [ - [ - -1 -] =T-1T-1T-71+=
P.coDGm|mg/L | — | = [ = e e e - -
cobito) |mg/t] — = — [ - T - - -T-[T=1T-T-=-T-=7T1T-=-1T+-—7T-

D.-COD) [mgA | — | - | — | - [ - [ = [ = [~ -~ == -1T-—T-1°="
SS mg/1 | 9.0 [ 6.3 [22.0]223(80.5]12.3(40.3(25.3]10.5]19.6]20.0[ 7.2 [40.3] 6.3]18.8

RIGEFESL  |wenaoom| 2, 8842| 3, 3E+1| 7, 9E+1 | 2, B+2| 1. TB+3| 7, OB+2| 3. 3E+4| 1. TE+4| 1. BB+3| 2. 3R+3| 1. BE+3| 4, OB+3| 3, 3E+4 | B, BR+1 | 5. B+43
TN mg/l ] 1.87(1,06(1.45/1.19]0.87/0.89|1,18]1,05|0.99)0.78]0.79]0.70) 1,45]0.70| 1,03
TP mg/1 | 0.068]0.066]0.102]0.121]0.091]0.070]0.127}0.093]0.072/0.090)0.079)0. 058 0. 127 0. 058 | 0. 086

NH,~N [ mg/L [0.02[0.00[0.02]002]0.03]0.02[0.04]0.03]0.03[0.01]00I[002]004[0,01]0.02
NO5—~N [ me/1 [0.011[0.010]0. 008]0.002]0.004]0.001[0. 047]0. 031]0. 026[0. 001]0. 002[0. 002] 0. 047 | 0. 001 0. 012
NOs—N [ me/I]0.78]0.61[1.18]0.08(0.08[0.02[0.46]0.370.89[0.12]0.17]0.04 | 1. 18] 0,020,835
*IN_ ['mg/L{0.8170.63]1.16]0.05]0.11]0.04]0.55|0.43]0.45]0.130.18 [0.06| 116 0.040.38
ON mg/1 | 0.55 | 0.48]0.59 | 1.040.74]0.73[0.68]0.62 ] 0.45]0.64]0.60] 0,61 L.04 | 0.45]0.64
D:ON |mNn| — | = [ = -1 -1- I = I
_‘*P-ON'mg/l————————f————
[N | - - - - - -1 -T-[T-1T-T-1-71T-1-+-
TN mg/1 | 1,86 [ 111 1.75(1.09/0.85]0.77[1.181.05]0.90[0.77]0.78 [ 0.67 | L.75-[ 0.67 [ 1.02
D:PO4—P | mg/1]0.002]0.002]0.026]0.002]0.000]0.000]0. 030]0.015]0.0d7]0. 006]0.006] 0. 000] 0.030] 0. 600 0. 008
D.TP |mg/1| — [ - | - - -1 -1 -—T1T-T-1T-1- o I

‘P.TP mg/1 - - | = - - - — 10.058 - -
1C ng/1 | 14.3 | 13.8 | 18.3 | 14.2| 14,0 12.1]| 18,2 13.7 | 14.5| 15.9 | 18.6 | 13.9 15.0 | 2.1 14.0
TOC |mg/l| 4451667184 48609 61|56]|62]|64]58| 84| 4461
e mg/1 | 18.7 | 18,91 19.9 21329316920 1| 19.8 [ 20. 71221 120.0/10.7] 233|166 0.1
D-0C |m/1| — | — | = [ = = — - - =1 =1-= -

‘p.oc Imgt]| - [ - -1 - T -] -1 -T-1T-1T-1-7T-7T-7T-1T-

D:Fe /1] - | - [ = [ = [ = [ = == -1 -"1T-—"T-T-1T-=7T+=71T3=-=

D:Mn /1| - | = | - | = | = [ = [ - - - [ T =1T-="1-=-71-+=
Fe Ty I e e R P e e I R R I e e e
Mn ng/l | — — = - - | - — — — — — — — - -
W | J%£ | 8981 |165]|17.2]22.7]|11.8]252|17.0] 7.8 | 16.5|12.9] 0.8 | 25,2 7.8 | 14.5

ABR(20°C) |ws/cn| 265 | 280 | 305 | 284 | 283 | 282 | 264 | 27 | 293 | 330 | 300 | 298 | 330 | 264 | 288
Ca g/l - | - | - - -~ [ - - -] -—T-T-T-1T-1-71+

Mg g/ | — | = | = [ - [ = - - [ = [ = == -1T=1-1=
p 11487 )V UIE| mg/1 | 610 | 616|529 54.9 | 47.4 | 44,9 | 52.9 | 50.5 | 55.5 | 60.8 | 57.9 | 56.6 | 60.3 | 44.9 | 58.1
pHO.0%  I%] mg/1 | 9.02 |21 33| 26.88]26, 71| 56.6 | 17.55] 9.43 | 5. 13 | 8.61 | 5.74 | 2.51 | 2 94 | 56. 60| 2 51 [ 16.04

p HY. 07V A YEE| mg/l | — — - = - - - - — — - - -

S04%" m/1] - | - [ -1 -1-1-1T-1= - | =1 -T-1-1T= -
cl1- mg/L | 82.8]87.939.7]87.5]30.7|356|84.9]31.8]385)29.7]89.0]87.2]39.7]29.7]35.4
Na g/t - - | - - - -1 - [ -1 -1 -1 -1-1-1-71-
K /1| - | - | -~ | - - | = [ - [ = [ = T T -1 -—1-1-=

T 810, |mgl| — | - | - | - [~ [ - - [ - - - =T-1-T-1T+=
BT ) A | ng/l '

l
!
I
|
1
|
|
|
!
i
I
|

Chl-a zg/1[89.9(46.9]66.8]91.2(86.6/(36.0]32.6 637 32.0 | 58.1[44.8[42.4[ 0L.2 [ 320534
Chl-b ve/1] 2.0 | 42 [10.7]10.7[ 86 40[ 688223 [52]22]21]10.7] 20]5.86
Chl-c pg/1] 6.1 69 [14.0[2.6]21.5[10,1[183[10.5] 52 [158] 82 (0.7 2,6 52 ]1L9
TaA74Fv pg/1 1710716810714 40700821 (81]21]23 168 0.7 5.9
B A v RmEEEn | ng/1 | — — — — — — — — — — - —
e xﬁnmlﬁa:mmw”uwm 3 P-ON=(ON)—(D-ON) 5. P-TP=(TP)— (D -TP)
LP-cOD=(COD)-(D-COD) 4, D-TN=CIN)+(D-0ON) 7. TC=CICY+(TOC)

2, I N=(NH4-NI+(NO2-N)+(NO3-N) 5 TN=(IN)+(ON) - B P-0C=(TOC)-(D-0C)




.. KEEE (2D 2)

T R KFAH FIAR )] [aHIES Bl PR 1 1AE(19994F)
H B || 1/5 | 2/2 | 8/2 | 4/13 | 5/11| 6/8 | 7/6 | 8/3 | /7 | 10/6 | 11/9 | 12/1 [RAE| /M| P fE

2-MIB [ug/1]0.004]0.005/0,012]0.093|0.001/0.012)0.012]0.006]0.028]0.001]0.001/0.002]¢. 093]0,001]0 015
UAR3 Y |wg/1]0.026(0.027]0.015 (0. 0620, 001]0.016]0.009]0.005(0,005]0.001[0.0010.002]0,082]0.001]0.014
Hnopy /R fECEP) | mg/1 |0, 0680, 058(0, 0690, 059 0.087]0.064 (0. 101(0,113[0. 1140.097[0.055]0. 063] 0, 114]0.055] 0. 079
Jontradi KAl | me/l | — - — 10.081]0.058|0.027|0.052(0.068(0.068]0.044]0.019]0.021]0,068]0,019]90. 048
Tors joophvaR | mg/l |~ - — [0,020]0,025/0.023[0.082]0.082|0.083[0.03410.021]0.021]0.034]0.020] 0. 027
Yot | mg/l | — - | —-10.008]0.009]0.018|0.014]0.012]0.0612(0.017]0.013]0.019/0.019]0.008]0.013
7 nevas pRAE | mg/l | — - — [0.000]0, 000)0.002)0.001{0.001/0,00f]0.002]0.002]0,0020.002]0.000]0.001
TN.LJE mg/1 ] 1,87 1.08)1.45/1,19({0.870.89)1.18]1.05/[0.99]0.78(0.79]0.70|1.45 [0.70 |1.083

TNHE mg/1

TNTFHE mg/1 | 1,89 |1.09)1.24|1.07([084|0.86|1.14)103]108)0.81|0.79]0.69]139 [0.69 [1.00
TP LB mg/1 10.068)0.066)0,102/0.121]0.091]0.070|0.1270.093|0.072)0.090|0.079|0. 058]0, 127 |0. 058 |0. 086
TPHE ng/l | — - [ = - - - - - - | - - -1 = - -
TPTE ng/1 |0.073]0.064[0.110]0.108]0.087)0.079/0.129[0.L11]0.080]0. 1080, 073/0, 060]0. 129 |0. 060 |0. 090
CODL/E |[mg/1)|6.06)606/765)815|810/[502818|6.88|6.12|7.49(7.68) 708|818 1592 711
CODHE [mg/l}| — - - — - - | .= - - - - -

CODTF mg/16.25]569)762)674[7.61|700]761)647|678)891[823[722| - - -

k@ kkE | C | - | - | =] =] - -1 =-1=1~

HH °C -~ — — — — — - — — — — —

0. 5m T - [ - | - = [ =T =T=1=7T=1T-1T=1-=
1.0m C | - | = | = [ == =1 T =1T=1T-"T=7T1-°=
2. 0m KON I I I = R R = N = = e
3.0m C |l - | -] - | =] [ -—[=1=1T=1T-1T-71-
4,0m °C =~ -~ - - - - i - = - —
5, 0m C - — — — - — - - | - - - —

6. Om oC - s '— — - — ,_' _ _ — — _
JEH °C — — — — — — - — — — — —
*DO KET g/l | — - - - — - — - — — — —
i mg/l | — - - - - - - i M - - -

0. 5m mg/1 — — — — — - — - — — - -
1.0m mg/l | — |. — - — — — — - - — ~ —
2.0m /1| ~ | -~ [ = [ = [ = [ = = - =1T=-1=71-<=

3. 0m mg/l | — — — ~ — - - — - - - -

- A 0m mng/l | — — - — — — - - — — - -
5. 0m [ mg/l| — — — — — - - - - — - -

6. 0m mg/l ] — | - — — — - | = — — — — —

- Em mg/l | — - - | = i - — - — i
KPRE JKRE| Lux - - — — — - - — - — — -
FEH Lux — — - — — — - — — - - —
0.5m x | - | = | = [ = [ =T - =1 =T=1T-1=71T-+=
1. 0m [T I I I I I I ) I I e e
2. 0m x | - | - | - | - [ = [ = =1T-T=-1T=-1-=71-=
3. 0m Lux — — — = - | - —~ — — — — —

4, 0m Lux — - — — — — — - - - - —
b0m [l | - | - | = | = | = [ = | = =1 =1-T=717+-

6. 0m x | - | - | = - [ = -=-1T=1T-T-=-T1T-=-T=7T-=
JEE Lux - — — — - | = = — - - - .=

T A I = = O e

BE ¥ DOMD OFFT X STEHE




REEE (€D 1) .

R A k%2 FiAR I talEA Byl Sl 1410994
IH B | B4 | 1/5 | 2/2 | 8/2 |4/13|5/11 | 6/8 | 7/6 | 8/3 | 9/7 | 10/6 | 11/9 | 12/1 [ RAE |8/ Ml | SE-H948
K g -1 (218 |&2 £ & 2 B | E|& | B | H
BRIk Koy | 7:54 | 8:82 | 7:58 | 7:53 | 8:08 [ 8:02 | 8:08 | 8:22 | 8:01 | 8:12 | 8:20 | 8:10
Ak m [615].6.00]520]640 (670682647 [6.45/[6.30[6.10]6.30]6 05
Bk m [0.50]050 050 [050]050 (050050050 /[056]050]050]050
&/ B °c |asg 4868157166230 10.0]20.2]26.8]2.0]16.7] 88
-k @ c- [ 58 ]58 68 [138[10.3]23.5]22.9 202 2142241 16.2]11.9]20.2] 58 [17.1
S48 (BR) N P L e e e e L e T e
DN ¢G5 — [ EE R R | EE | EE | mR | ER | ER | ER | MR | JER | el
BIRE cn [ 25,0840 17.5]19.8(23.0]80.0[180|21.5/[34.6]3L8]24.0]/380.6
BREE m [0,35]055[0.807]040]0.8-0.47]0.28]0.33[0.55]0.58]045]0.50]0.58]0.23]0.42
Kk — 16 [.16-] 16 | 16 [ 16 | 16 [ 16 | 16 [ 16 | 16 | 16 | 16
pH — losdlnel7800848]7.88]7.82]17.871822[8.16[8.8. 18.211840(8.81778]8.10
DO ng/1 [12.18[10.95(11.80]10.73] 8,36 [ 7.78 [ 7.86 | 8.74 | .05 | 8.66 [ 10.40]11,56] 12.13].7.78 | 9.84
BOD mg/1 | 2.24 12.21[8.92]3.83[4.57[2.72]2.26]|4.80[3 10258246 1L79]4.80 ] L79[3.00]

ATU-BOD | mg/l | — — | - — — — —
COD(n) mg/l ['5.58 |571(7.96]7.85|6.94|569|7.84|785/6.45|7.14]8.27]|794]8.27]558]6.98
D+« CODn)| mg/l — - — — - — - - = — — — _ _ _
*P-CODQO) | mg/1 | — - - - — — — — . — = - - — -
C OD(Cr) g/l | — — — — — — — — — — — = = Z =
D+« COD(Cr)| mg/l — - - — — — — — _ —_ _ _ — I — _

SS ng/1 | 8.6 | 6.6 | 18.0 18.820.0| 11.6|80.025.8 18.5 10,0 17.0 8.0 | 80.0 | 6.6 | 16.3
KIBEHER,  |wn/0om| 3. E+3[4, OE+1| 1. 3B+2|7, 9E42| 7. OR+2[ 1. 35+3]3. SL+3| L 314 |3. SL+3|2. 3C+3| L. TE+3|3. 3E+2] 1. 3E+4 | 4. OE+1] 2. 5B+3

TN mg/1 | 1,55 | 106 1.06 | 1.26 0.67 | 0.95 0.93 | 0.99 | 1.00 | 0.78 | 0.8L | 0.75 | 1.55 | 0.67 | 0.98 |.

TP mg/1_| 0. 0680, 075] 0. 099 0. 100]0.080] 0. 068 0. 119] 0. 132] 0. 092] 0. 090] 0. 078] 0. 052] 0. 132] 0. 052 [ 0. 088

NHy—N mg/1-10.0210.01/0.03]0.02)0.01[0.01]0.04/003]0.04]0,00060)001)0.04]0.00]0.02
NO,—N mg/1 |0.012]0.009]0.006(0.005(0.000]0.001/0.009(0.011{0.033|0,00.|0.005|0,002)0.033}0.000]0.008
NOs—N mg/l ]0.98(0.67)0.65]0,02)005]003]0.22)0.29|0.34]0.13)0.12]0.05]0.981]0.02]0.80
*IN ng/l | 1,01]0.68/069]0.05)|0.06/004[0.27)0.33|0.4t)0,13/0.14]0,06] 1.01]0.04]0.82
ON mg/l | 0.58)0.44)0.66] 1,13 |0.65|0.71 ] 0.66)0.66 | 0.56 | 0.66 | 0,67 | 0,67] 1.13] 0.44 | 0,67
D-ON |mg| - [ - | = - [ =1 -1T-T=-T-T-T-T-1T-=—1T-71T7+=
*P - ON mg/l| — | = | - | = = =] =] -] =] =-—]—-—1=-|=1=-"1 =

DTN |mgn| - [ - [ - T -T-1T-1T-1-1-[-1-1- -
‘TN mg/1 | 154 [ 118|185 | 118 [0.71[0.75| 0.93 [ 0.99 [ 0.97 [0.79] 0.81 [ 0.73 | L 54| 0.71 | 0.99

D-P04—P | m/1]0.008]0.002]0.016]0. 008 0. 002|0. 000]0. 0IT0. 080/ 0. 0261 0. 010] 0. 008 0. 000] 0. 031 0. 000 0. 011
D-TP |mg/1| — | - | — | = | = - [ - | =1 -1 - - =
perp  mgl| - |~ | —

|
|
|

1C mg/l | 16,4 14.6|18.7[18.7]13.6|12.2|12.6|14.0 0 Bl .5
TOC mg/l | 46| 5082 | 746556871 |75]60| 70 ]71]60] 82| 46/ 65
*TC mg/1 [ 20.0]19.6]2L.9 21 112011771971 21.5[19.2[220]19.2]18.4| 22.0( 17.7] 20,0
D-0C |mg/1| - | — | — - [= | = [ = =1 =71T-<= — 1 - | =
‘p.oc [mn| - [ - - -] -]T~-T~T-T-1T-T-1T-1~-1T-"7 -
D Fe g/l — | - | - | = [ - - == | = -"1T-T-—1-<=71T-=7173=
D Mn g/l — | - | = | = | = | = [ = | = = =1 -=1-=1-=7T-=7°¢°:
Fe mg/l | — — — — — — — — — — — — — — -
Mn /1| - | -1 - | - [ -1 - = [ = | — | =1 =[] =1-=1-=
wE B 9.1 | 7.9 |11.5]150 121 [10.2|16.8 | 15.1[13. 0152 17.8 [ 12.1]|17.83] 7.9 | 12.9
BBEHRO0C) | ps/em| 280 | 264 | 272 | 291 | 284 | 205 | 282 | 201 | 316 | 321 | 802 | 304 | 321 | 264 | 292
Ca mg/l - — — — — — — — — — — — — — —
Mg mg/1

pH4. 87 NAYEE| mg/l | 51,6 | 50.4 [ 51.6 | 52.7 | 49.4 | 44.7 [ 50.5 | 56.2 | 55.5-| 59.6 | 57.7 | 54.6 | 59.6 | 44.7 | 52.9

p HY. 08¢ B mg/1 |.9.19118.90]13.18(85.21( 64.4 [20.63) 8.615.95]6.36 | 5.74 [ 580 [ 3. 72 | 64.40( 3.72 | 16.47

PHIOZ AR UE( g/l | — | — | — | — | — | = [ — [ - [ - [ = -T -1 -—1-71 -

YR T I E I I B N B A P I I e e
C1~- | mg/1[81.3]388|40.8|35.8|39.2]40.2)15.336.3]43.1|29.4|40.838.6]43.1] 5.3 36.1
Na s e S I B I I I D I e e e e
K P I S S I I S I I I I N I I

T-Si02mg/l———————————~———
ey h ng/l | — .

|
|
[
[

96.6 | 30.5 | 49.3

|
©

Chl-a 1g/1]82.4|89.7]59.8(62.7|42.6| 361|856 96.6 30 5]6L5]5238 42 8
Chl-b ng/1] 1.6 18572 |100]68 (29|72 |185]|24]387]87] 20]1385]| 1.6 | 54
Chl-c ng/ V] 4.3 )69 |22.4)17.5]19.6| 5.2 |10.8] 6.8 | 4.7 |10.9( 80| 9.5 |22.4| 4.8 | 10.5
JaA74F v \pg/L| 15189 12001109152 6.6 | 6.0 | 28 |61 ]85 | 70]60]2.0[L5]79
B4 v RmiE e | ng/1 [ -l -1 -1 =T -T-T-T-1T-= - — =
S *mmﬁﬁ(miﬁ@ﬁﬁuwmwm 3. P-ON=CON)-(D-ON) 6. P-TP=(TP)—(D-TP)
LP-COD=(COD)-(D-COD) 4, D-TN=(IN)+(D-ON) LTC=(lCY+(TOC)

2. I N=(NHA-N)+(NO2-N)+(NO3-N) 5 TN=CIN)+(ON) 8 P-0C=(TOC)-(D-0C)



EESH (£FD2)

A # i KB FUAR ) [ e B o fif Pk 11 AE9994E)
H B | B | 1/5 | 2/2 | 8/2 | 4/18 | 5/11 | 6/8 | 7/6 | 8/3 | 9/7 | 10/6 | 11/9 | 12/1 |FRAAE eIV 406
2-MI1B Jug/1| - | — | — | =T - T -T-T-1T-T-T-T-1T-T-7T7=
VARI v |wg/l]| - - - - - - - - - - - - - - -
MAaR ISR | mg/l | — - - | = - | = - - | - - - - - - -
senkvhs kAl | mg/l | — - - - -1 =1 = - - - - - - - -
Toey pensdviEs | mg/l | — - - - - - | = - - - - - - - -
77 e vER | g/l — - - - - - - - - - = - - - =
7 wedk ARl | mg/l | — - - - - - - - = - - - = - =
TN.EE mg/1 [ 1,65 1.06(1.06]1.26]0.67)0.95]0.93|0.99)1,00/0.78/0.81]0.75]1.55 |0.67 |0.98
TN#g |mg/i| - [ - - T -T-1T-1T-[T-=-T-T-T-1T-1-=71T-=
TNTE mg/1 | 1.60)1.130.98)1.28|0.70)0.97]0.93|1.13|1.08/0.67]0.80]0.68]1.60 |0.67 |1 00
TPLF mg/1 [0.068]0.075]0.099]0.100]0.080|0.068[0.119]0.132]0.092|0.090/0.0790.052]0.132 |0, 052 |0. 088
TPHE ng/l | — | — — - - - - | - - - - - - - -
TPTE mg/1 10.071/0.067]0.100/0.108|0. 089|0.085]0. 189 0.180{0. 0980, 112]0. 079)0. 064]0. 189 |0. 064 |0. 095
CODLEE | mg/l|5.58)671)|796)7.85)|6.84|560([734|7.85)645([714)|827|794]827 [5.58 |6.98
CobpfE |mgt] — [ - [ - -1 -1T-1-1T-T-=1T=T-1T-T-1T1-"1T<+-
CODTF/E | mg/l|552)6.42|7.62)781|713|589]6.76)786|688[727 | 7.57|6567]| — - -
KB kb | C ] — | - - =1 - - - - - - | = -
i C - - - - - - - - = -l = -
0.5m c |l -1 -1 -T=-T-=-T-T=T=-1T=1T=-1T=-1T=
1.0m C |- -1 =T=T="T-=-1T=T=-T-1T=-7T=-71T=
2.0m c | - - =T =1T=1-T="T=-T=17T=-T=71T>-=
8. 0m °C - = - - - - - - | = -1 = -
4.0m KON I e I I I I S S I I
5. 0m Tl - -[-[1-T=1T=T=-T-T=1T-=-T-7T-=
6. 0m c | -1 -1T=-1T=-1T=-T=-T=-T-1T-1T=-1=-7T-
JEE C |l - =T-T=1T=1"=T=-T1T-T=-T=1T-71-
*DO  skE|mg/l] —~ - - - - - - -1 = - | = -
Ead1) mg/l | - - - - - - - - = - | - -
0.5m g/l — | = - T -T-1T-T-T-1T=-1-1=-1~-
1.0m | - [ = - T =1 =1T-T-T=-1T-T=-1T-1+=
2.0m mg/L | — === -1 -1T-1T-1-1T-1T-1T=
3. 0m mg/1] -~ |~ [ -1 -1T-1T-1T-1-1-1T-1-71-
4.0m /1| — | - [ - - =] =1T-T-T-—1-1-1-
5. 0m ng/l | — - - - - - - - - -] = -
6. 0m mg/l| — | - [ - - [ - — T -1 -] -T-1-1T+-
JB T mg/l | — | — - - - - - - - -1 = -
R kb | Lux | - - - - - - - - - - - -
K Lux - - - - - - — - — - = —
0. Hhm Lux - - — — — — — — - - - -
L.0m wx | - [ - [ - [ -1T-1-1-1-1T=-T1T-=-T=71T=
2.0m x | - | = [ =1 =-=1-1T-T-T-T-T-T-=-"1T=
3. 0m wx | — [ - T -1 -T-—"T-T-T-=-T1T-T-1-= -
4, 0m wx | - | ~ | - T =-T1T-1T"=T7T-1T=T=-—T1T=-1T=-1T+=
5. 0m wx | - [ - -1 -T=-—1T-T-1T-T-1T-1T-1T=
6. 0m. wx | - [ - —T-T-T-T=T-T-T-1T-1T+-
il wx | - | - | - [ - [ - [ -1 =-[-T=T-=-=1T-1T1+-
EPRELORP | mY - ~ — - — - — - - - | = ~
e % DOXD Otz ki a A




Y IKEER (ED L)

AP

i 1410904

BRI I T G G i
H B | B | 15 | 2/2¢| 8/2 | 4713 5/10 | 6/8 | 7/6 | 8/8 | 9/7 | 10/6 | 11/9 | 12/1 | KAl He/ ME| 44| |
X | - 1wl &2 B | 2 | BB | &% & | &% &
Fok Rl s> [10:00]10:49] 9:57 | 9:57 [ 10:18(10:22]10:31]10:55] 10:07[10:15]10:38[10:26
. Ak m 410141007585 03.95]4.17]8.95]4.00]4.15]8.97]4.00]4.50] 4.00
kK m [ 0.50]050]0.50][050]0.50][0.50[050]0650][050]050]050]0 50
R °c |58 7.2]100[182]181]24.8[22.1730.,0][280]23.2]|18,0]11,0].
K & c [ 6865 70 [150[20.1]26.8[24.0]20.9]27.8[22.5/16.5]11.5]20.9] 58 [17.38
S8 (D —  |whem sk obam| Rkm| o e koiem | Bt | ks im| RISE [BohR B k]
2 & - RR | R | R | MR | R | R | R | R | R | R | R | ER |
B em | 20,5[21.5]18.2]| 125152 21.5] 150153228230/ 20.5[220 . .
B m | 0.85]0.40]0.92[0.25]0,25[0,30]0.25]0.20]0.37]037]0.35[0.40]0.40]0.20] 0.82
R — 17 [ 18 | 16 | 17 [ 17 | 17 [ 16 | 16 | 16 | 18 | 17 | 17 '
pH ~ 1892084486488 7.88]7.80[7.88]8.76/809]7.801887[7.90]892]788]8.33
DO mg/1 [18,93]12.75/18.62]11.32] 7.65] 7.86 | 7.72 [10.41] 8. 17| 7.60 [11.92|12.31|18. 93] 7.60 | 10.44
BOD mg/1 | 5.25|4.86|4.86(6.26]6.66(6.18[4.59]6.42]3.73[3.36[2.86(3.74]86.66]2.86]4.90
ATU-BOD | mg/1 | — - — - - - — =~ [ =] = - - — - —
COD@n) [ mg/1[6.51]7.06]827]8.72(8.29]8.54]8.33/[10.07]8.62]8.25]928]28.33][10.07]6.50]8.52
D:CODQn)| mg/1 | 3.26[2.90]4.25[3.66]4.10]6.12]5.10]5.68[5.83[546]590[4.75]6.12]290]4.75
*P - CODMn)| mg/1 [ 3.26 [4.16|4.02 ] 6.06[4.19]2.42]3.23]4.89)2.79|279]3.38|4.58]606]242]38.77
___COD(Cr) | mg/1 |16, 44]15.51]20.00]25.53|19, 69(18.08]15.63)25.34(19. 28|15, 93|25, 75|22, 92] 25. 75| 15. 51 | 20, 01
D COD(Cr) | mg/1 [ 553597880 [1299/11.01]10.30]12.92[11.42]11.43]6.91 |12.82]12.41]12.99] 5.53 |10, 17
SS mg/l | 17.6114.8[18,0]81,0(27.423.3(93.8[380.3]185[19.6/226/[10.0[333[10.0]22.2
C KIEETEL | wns00m|4, 0B+2]4. 0B+2] 7. 0B42| 2. 3E+37. 0R+3[ 1, 30437, 0E+3| 2. 3E+4]7. 6E+3] 1. 3E+3] 7. BE+2[ 7. 9B +8[ 2. 3E+4[ 4. OE+2| 5. 2E+3
TN mg/1 [ 2,10 1L.7212.34 [ 1.85[1.67]0.99[ 1,61 [ 1. 77| 159 | 1.43 | 1. 16[ 1,98 [ 2.14 ] 0.99 [ 1,67
TP . | mg/L [0 112]0.109[0.119(0, 190]0. 125]0.148[0. 159[0.175]0.174]0.156(0.1298[0. 118]0.190]0. t09] 0, 143]
NH;—N wg/1 ] 0,000,008 [001]005]0.07[006[0.11]06.02[0.21/0.12]0.01]0.01]0.21]0,01]0.086
NO,—-N mg/1 [0.026(0,018(0.017[0.029]0.023(0.004]0.027]0.016]0.041[0.073]0.006]0. 026! 0.073]0.004]0.026
NOz;~-N mg/1 | 197 11.05[1,17[0.90]06.90]0.03]0.72]0,93[0.56]0.49]0.13]0.13[1.27]0.03] 0.6
‘IN mg/L [ 1.81[1.08]1,20]0.98]0.99]0.09]0.86/[097[0.81]068][0.15[0.17] 131]0.09]0.77
ON mg/1 ] 0.70[0.66]0.84]0.87]0.70[0.90]0.75]0.88[0.76[0.72]0.93]0.70] 0.93]0.66 ] 0.78
D:ON mg/1 | 0.40 [ 0.40 0,49 0.44]0.81]0.54]0.50 ] 0.51 10,41 0.34]0.47]0.39]0.54]0.31[0.43
*P.ON_ | mg/1]0.30[0.26/0.85/|0.43]0.39[0.860.25]0.87[0.85[0.380.46)0.31]0.467]0.25]0.35
*D . TN wg/L | 171 ] .48 [ 1.69 | 1.42 ] 1.30] 0.63 | 1. 36 [ 1.48 | 1.22 [ 1.02 ] 0.62 | 0.56 | 1.706] 0,556 L. 210
*TN mg/1 [ 2.00 (1742 04]1.85] .69 0,09 1.61]1.85[1.57(1.40]1.08]0.87]204]0.87] L 58
D:PO4—P | mg/l [0.005]0.002]0.028]0.002[0.003]0.009]0.015]0.015]0.042]0.027]0.008]0.000]0.042[0.000]0.0183
D:'TP mg/1 [0.030]0.031]0.047]0.018[0.006]0.021]0.024]0.087]0.062]0.037]0.012]0.021]0.062{0.006]0. 029
*P.TP wg/1 | 0.082]0.078]0.072] 0. 172]0. 119]0.125]0.185(0. 138]0. 112[0. 119]0. 117[0.097] 0. 172]0.072] 0. 114
1C ng/1 [ 18.2]18.8 140 [ 1.6 11.8] 1.4 10.9[12.8]14.0|14.9]11.8]12.7] 14.9] 10.9] 12.7
TOC mg/1 | 5,855 7298 (807278096681 76]68]|84]298]58]|75
*re mg/1 | 18.5]19.8 21,2 21,4[19.8]18.6] 18,2 22,4([20.8[ 225/ 18.6]|21.1]22.5]18.21]20.2
D:0C mg/1 | 308030574539 4d0[49[40]42]36]4Ll]5s7]30]4l
P.OC mg/L [ 2325384138538 [33[47[28 (3438243 47238/ 34
D:Fe mg/1 ] 0.49]0.20]0.15]0.82]0.15]0.08]0.16[0.05[0.08]0.01[003[010]0.49]0.0f]0.16]
D:Mn mg/1 {0,000 00(000]000({000(0c00[000f000[0.06[000(0000000]0.06][]000][001
Fe mg/1 1 0.59(0.36]040] 1.07[0.99]0.54][0.50]0.869[0.28[0.54[085]025]107]0.25]0.50
Mn mg/1 ] 0.04]0.04[0.06[0.15[003[0.08]007[0.09/0.10/006]007[0.09[015]0.038]0.07
w B [11.2]1d5]18.0[29.2]20.1]17.5]18.8[80.5]20.2[10.5|22.2]15.5]80.5]11.2] 19.8
HBHR0C) |us/en| 179 | 218 | 248 | 208 | 162 | 246 | 170 | 178 | 265 | 269 | 276 | 230 | 276 | 162 | 221
Ca mg/1 | 14.9117.0]18.1]155] 0.1 | 150 18.019.7[15. 8| 13.2[16.5[14.4[19.7] 9.1 [ 151
Mg mg/1 (508684 [7.48|551(10.8[12.9] 51| 74] 78] 82]6.4][5099][1290]5 10753
pH4 87 A VB mg/1. | 46,9 562.1]52.1]47.0(88.6(43.4] 4L 7[47.8]57.5]63.8|50.0]56.0] 63.8] 38.6[49.7
p HO, (F% | mg/1 | 260 18.56]18.04] 0.54 | 37.8]18.43]10.46( 3.28 [10.05] 9.84 | 3.87 | 4.81 [37.30( 2.60 | 12.19
pHIOTAAVE wg/t | — | = — — — — — — — -1 - — — — —
S04%° mg/1 | 91.8]94.6]|24.4]22.5(25.0]28.3]20.623.0]|24.8/23.2]20.2]29.2/]20.2]20.6]24.7
cl- mg/l | 16.5 [ 24.2 | 27.5 | 18,4 | 170 25.1 [ 45.0 [ 16.629.9]26.7/30.2]20.4[ 45,0 16.5] 24.8
Na mg/1 119.5(23.1/27.8|20.8]15.0]22.4[17.8]17.8./22.1/22.3/26.6]20.2]27.8[150] 212
K mg/1 [ 3.14 [8.574.48]5.27/53.93[8.65]6.85|7.79[4.78]4.29|4.44]3.19]8.65]8.14]4.87
T «8i0p - | mg/1 22,4 121.44(17. 92| 28.7[19.5[24.1]|27.4 [ 258]30.1 1162 11.1/23.78]380.1|1L1]21.9
Hfy U mg/1 [17.14]12.20(11.40] 7.79 | 7. 05 [12.80| 11, 14]14.45]14. 45| 4.26 | 2. 08 [10.49} 17. 14] 2,06 [ 10. 44
Chl-a  [ug/1[180.0] 77.8 | 91.4 |179.8(117.4] 78.5 | 56.6 | 166.4] 52.2 | 55.9 | 64.5 [ 106. 4 179.8] 52.2 [ 98. 1
Chl-b wg/i] 2.6 ) 4.4 1 8.6 | 14.1111.6] 59| 9.0 |17.6] 63" 80| 41| 52| 17.6] 2.6 | 8.1
Chl-c ng/1127.4110.8]23.1]50.7]8390([17.0] 9.2 117.0] 9.8 | 13.9|10.6(19.8]50.7] 9.2 | 20.3
JaxAd74F v | pug/ 1] L6655 8020418822015 1[18.4[1L2] 9.5 [ 58 [150]29.4] 1.6 129
e R | mg/1 [0.080.02]0.0410.03]0.01]0.01]0.00]002[002]001[001[002]0.04]0.00]0.02
S KENOIE B iAo I & DR, - 8. P-ON=(ON)Y=(D-0ON) 6.P—TP=(TP>—<D—'I‘P)
1LP-COD=(COD)-(D-COD) 4. D-TN=(IN)+(D-0ON) T.TC=(1CY+(TOC)
2. I N=(NH4-N)+(NO2-N)+(NO3J-N) 5 TN=(IN)+(ON)

8. P-0C=(T0CY—(D-0C)



- IKEFR (2D 2)

Blps | R pEE FUARJI] IS A1 14E(109048)

H B | e | 1/5 | 2/2 | a/2 | 4/18 | 5/10 | 6/8 | 7/6 | 8/3 | 9/T [ 10/6 | 11/9 | 12/1 |JRAf (F/IMiE| Pty
2-MI1B  |ng/1]0.011]0.012]/0. 018]0.084]0.001[0.034)0.082]0.023|0.0620.003)0.004/0. 009{0.084]0.0010.024
VUAAIY  |pe/1]0.023]0.021|0.030)0.084]0.002)0.008)0,0290,005|0.006]0.001|0 001)0.003)0,084]0.001]0. 018

Mrogpvlgpbrr) [ mg/l | — | — | = [ — | = | = | -~ | = [ - | = | - | = = - |1 =

pombphAEREE {mg/l | — | — | = | = | —~ | = | = | = .= ] =] = | = - - -

Toty ponddviER | mg/l | — | — il i -1 =1 = - -1 =1 = - - - -

vregnaEg (gt - | - | - | - | - | -1 -1 -1-1-1T-T1T-1-1T1- —

TotbphERERE | mg/l | - | — | = | = | = | = | = == =] - | - - - -
TN.LE mg/l [2.10( 1,72 [2.14(1.85[ 1.67[0.89 [ L.61 | L77]1,59] 143 1.16[1.98(2 14 [0.99 [1,67 |
TNH/E mg/lf = | = | -] =) =-1=|-= -] —-]=-1]=1~= - - -
TNTE mg/1 [2.56|1.72]1.97]1,65|1.61|1.09|1.67|1.76]1.65|1.46]1.20| 1.93)2,56 |1,09 |1 69
TP LE ng/1 10,112]0.109)0.119/0.190|0, 125]0. 146]0.159)0. 175/0, 17410. 156/0. 128/ 0. 11810, 190 |0, 108 |0. 143
TPHE mg/l| = | - -] = | -] =/=-|-]1=1"1=1]=1 = - - -
TPTE mg/1 |0.118)0.103/0.119|0. 186)0.133|0,183]0.143/0.198(0. 182/ 0. 137]0, 11310, L22]0, 198 |0, 103 |0, 145
COD.LJE | mg/l]651[706[827]972]829(854]833]|10.07/8.62](8.25/0.28]9.33][10.07 [6.51 |8.52
copdg |m/l)| - | - | = | = | =) =] =]~ = ]=1]=1]= - - -
CODTE mg/l | 7.71|6.86|8.56[647]7.95|8.09)802)9.98/798 768972898 ] -— — -

Kl kk | *C -l -1 -]l-l-] -] =] =-]=1]=1=1=

FH °C [ 57|68 ]74)149/20.2/261[24.2]80.2]281)223|163]|11.3
0.5m °C | 5859|738 |149/20.4]25.8/243]|30.2|280/223)162]113
1, fm °C {55 |68]72) 14.8/20.4/25.1]24.880.1)280)222)162)11.2
2.0m °C |55 58] 71)148(20.4({249{24.3)30.027.9122.2{16.2{1L1
3. 0m °C [ 56| 58]69]148/20.4]249[24.8/29.8]27.8|222|16.1]11.1
4,0m C | 56| 58| — - 203 — - 1207 — - [161] -
5. 0m ‘C - - — - — - - — - - — -
6. 0m °C - - = - - | = = - - - - =
B °C | 56|68 | 68]147]/20.2(24.9|24.2)29.7]27.7]22.2)16.1]1L1
*DO  skb|mgl] — | = | -~ = | =] =] ~| =] =1-1=1=
Ei mg/1 [12.4/10.8]11.4|10.7] 7.6 | 6.4 | 7.1 | 7.6 [ 6.7 | 6.8 | 10.8|12.2
0.5m mg/1]112,2/105/11,9]10.5| 7.5 | 6.1 ] 7.0 7.6 | 6.7 | 6.7 |10.8]11.8
1. m ng/1 | 11.7]10.2/12.2]10.4| 74|57 | 70|69 |61]66)10.0|1L5
2. 0m mg/1 ] 11.2]9.9/120]108| 7.1 |51]68]64]|438]|64)107]1L3
3. 0m mg/1 [10.8] 9.7 95 |10.1] 64 ]38]66]|61[40]61]106]I111
4.0m mg/1{97(98| - 1| - 1638| -1 — {654} - | ~ [10.3] =
5, 0m ng/l | — - - - - - - - - - - -
6. 0m mg/l | — | — | - | = == == ===~
T mg/l | 6.2]87[88/[45|83]061]3856/(08]07]|40]72]10.3
JRFREE kb | Lux |25400] 2550060060 | 29400|42300| 97700) 59600 | 66700 | 24600 83500 78200 29600
El Lux_| 2100023100 | 33600 21500 | 85400 92600 | 44200 | 63400 18500| 41700 | 56400 | 19400
0. bm Lux | 4020 | 3590 | 7720 | 2970 | 3370 | 16800| 4130 | 7200 | 3930 | 4270 | 10600| 4440
L 0m Lux | 886 | 1060 | 998 | 838 | 191 [30700| 415 | 1180 | 518 | 1260 | 2460 | 853
2. 0m Lux | 95 | 124 | 84 11 9 207 | 21 47 30 | 215 | 76 70
3. 0m Lux | 27 | 81 9 0 0 | 61 9 | 15 | 11 | 82 | 9 3
4, 0m Lux | 0] 0 - | = 0 9 - 0 - - 0 | -
5, 0m Lux - - — — — — - — — — — -
6. 0m Lux — - — - - — — - —_ - — —
i qia] lux | - - — - - - - - - - - -
JEVEE LORP | mV | 448 | 182 [ 248 | 62 [ 69 [ 231 | 198 | 32 | 204 | 221 | -41 | 63

i
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KEFR (ZD 1)

i EEnh KERE AR A4 Bl ‘ ‘ SRR 1 1 4E(100948)
15 B | B | 1/5 | 2/2 | 3/2 | 4/13 | 5/11 | 6/8 | 7/6 | 8/8 | 9/7 | 10/6 | 11/9 | 12/1 [FeRf|fR/Ml P-4
X &£ | - | B || B |82 & | B B 8| & | £|H|&
HokbgH sy | 9:36 [10:16] 9:36 | 9:33 | 9:50 | 9:57 [10:05]10:20] 9:42 | 9:51 | 10:10 9:57
LIRE m [ 7.00]7.00[700]710]73 69572072 7056746958675
k7K m | 0.50 [ 0,500,560 050080 (050]050([050]650]050]050]4050
& iR °C 29 [658 ) 74162172 24.0|21.3|81.8)28.2(227)19.8| 0.8
K iR °C | 68 (62|78 [142[10.9]24.923.7]28.827.9|22.4(16.4[12.2]29.8( 6.2 | 17.8
Lk RGEY D) — || ReEE R E| ki RE | iRIDE| RIBIR [MiRieE| v Ren| Yo ien| R niking
L N0 )) AR A AN AT I DA AR A AR
BRE cem | 94.5127.0]24.5]18.0.120.0|25.6/18020.032.630.5]25.7]280
B m |0.40]0.55]0.40]0.30]0.80]0.40]0.36]0.35/[0.,50]0.53]0.49]0.40]0.55]/0.30]0.42
=) — 17 16 16 16 16 16 16 16 16 16 16 16
" pH — [836]815/8.88]862]7.96]800[793|813)8.00[841]8.63]809]|863]|793]8.22
DO mg/1 [12.26(12.70]18,47(11.26] 7.86 | 9.36 | 7.44 | 9.14 | 8. 53 | 7.93 | 10.73]11. 98] 13.47| 7.44 | 10.22
BOD ng/1 401 3.11 (890416 4.59]5.28 479 4.80]3.58[3.52(2.38]2.28/[5928]228]35.87

ATU-BOD | mg/l — — — — - _ ‘ ‘
CODOMm) | mg/1 |17 38 6.44 | 7.52 [ 8,00 [ 7.00]7.95 8. 07 7.68 | 7.44 [ 8,42 | 8,87 | 8.47] 867 6.44 | 7.75

D CODn)| mg/l — — — — — — — _ — — — - — — —
*P.CODMn)| mg/l | — - — — - [ = — _ — — -
COD(Cr) ng/l — - — —~ — — | = — — — _ — — — —
D:COD(r) | mg/l — — — — — — — — _ —_ — _ — — 1 _

S8 mg/l [18.3] 88 [10.5/21.8(28.0]12.6(24.8[22.0/135)19.3119.0 9.8 | 24.83| 8.3 | 16.4
RIBBE R |vewioom| 4, 9B+2| 7. 9E41 |1, 3E42] 2, BE+3| 3. 35+3(3, BE+3|4. 9B+3[ L. TE+4| L. TE44| L 3E+3|3, 3E+3| 7. 8B+2) 1, TE+4 | 7. 9E+1 | 4, 5E+3
TN mg/1 [ 1.45]1.43)1.26(1.32 /0,78 1.03[1.26(1.08]1.23(0.92(1,22]0.84]1.45]0.78] 115
TP mg/1 0.100]0,083/0,088/0.124(0,096/0.140/0.153]0.12810,112]0.112(0, 089) 0. 096] 0. 153 ] 0. 083 | 0, 110

NH,—-N mg/11002]002]0.02]002]001]0.010.10/0.08]009/0.010.01]0.00(0.10]0.00] 003
NO;—N ng/1 |0.013]0.011]0.011]0.002|0.001|0. 0000, 022|0.006|0,062(0.005]0,008]0.002{0.062]0. 00010, 012
NO,—N mg/l | 0,80|0.66]0,98(0,07(005]0020.22]0.360.41]0.13/0.19]0.08]0.98]10.02]0.31
1IN mg/l 1.0.63[0.690] 1.01]0.09]0.06]0.03[0.34]0.8]0.56|0.15]0.21]0.08]101]003]80.835
ON - |mg/t]0.77[0.68]0.58[114({073]0880.83]0.69057]079/[091/0.76]1.14]0.57][0.78
D:ON ng/l | - — - - - - - - - - - - - - - -
P+ ON mg/l | — = - - — - - - -1 - - -
*D+TN mg/1 - — — - - - - - - | = - - - T —
N mg/} | 1,40 1.87[1,59( 14,280,790, 911,17 |1.08|1.1810.94]1.12]0,84)1.59]0.79 | 113
D-PO4—P | mg/l |0.002)0.000)0.030]0. 002|0.000]0.005]0.030]0.020|0.023]0.011/0.006|0 .
D-TP mg/l | — - - | - - - - - - = -

‘p.rTp [ mg/l| — — - | = - — — | = — |0.096 -
[C mg/l [ 18.5 | 18.1 | 14.1|14.6 | 12.9] 12.7[12.5[18.1[12. 9| (4.6 12.8] 13.5[ 14.6 | 12.5 [ 13.4
TOC mg/1 | 6.6 | 5.8 7.6 |10.2] 6.9 | 7.0 | 7.6 | 82 | 6.4 | 86 | 8.1 [ 88 [10.2] 5.8 | 7.7
'TC mg/l [ 20. 1118821, 7 248 18,8 18. 7] 20. 1] 2.3 10.8]23.2]20.8]22.3] 24.8]18.9[2L0
D:-0C ng/l | — | — — [ = = — [ = 1 = =T = — — —

‘P.0OC mg/L| = | = | = =) =)= =] =-]=-]-]=-1=/1=1=1=

D:Fe mg/l | — | — - | - = | = - | - - - | - - - - =

D-Mn ng/l | — ~ | = | = — T =71 = — — | = | = — — —
Fe n/l| - | = = - — | = = — | = _ Z z Z
Mn ng/1 i - - - — - | - — — — - — - -~
A B | 1Lo]10.2]10.6]17.3]18.3]13.0( 8.1 20.7 [ 14,5 [ 17.0]18.8]14.8] 20.7[10.2] 150

SEER(20°C) |ws/on| 256 | 270 | 296 | 276 | 247 | 285 | 262 | 273 [ 310 | 820 | 287 | 315 | 320 | 247 | 283
Ca mg/l | — - - - — - — - - = - - - — —
Mg mg/l | — -1 - - - - - - -

pH4. 877 Y| mg/1 | 51.2 | 53.6 | 50.4 | 49.3 | 49.6 | 44.9 | 53.8 | 52.4 | 55.7 | 49.8 | 57.3 | 53,1 | 57.3 | 44.9 | 51.8
pHO OB  J&| mg/1 | 6.07 |19.25]20.47]22.89| 56.7 |13.38]12.30] 6.97 | 11.28] 7.38 | 3.87 | 3.13 | 56.70] 3. 13 | 15.31
pHOOT AV mg/L | — | - | - | - | - [ - | - - [ - - -1 -[~-[-1-+

S04%" | mg/l] — — - — - - - — — - — - -
ct- mg/1 [83.2(39.2(37.4(31.8|357[87.2|393|359|42.4[33.4[34.5)37.8|42.4|31.8]36.5
Na g/l ] — | — - | - — — —= — - — - = - — —

K i N S e e I P e e e

£ P 77 N I I e N B
Ev Y ng/1 _ — - - . P

Chl-a  |wg/1|99.1]64.477.9|183.9] 70.6 | 76.8 | 41.8 | 90.9 [ 48.4 | 52,7 89,3 | 91.6 [ 133.9] 4.8 | 78,1
Chi-b |pug/I| 52| 48|98 |(64|11.8]59[82][103]52]| 284846164 28][74
Chi-c  |wug/1|17.6] 7.8 |21 8409|240 15.5| 8.8 | 4.8 | 9.4 | 10.1[15.6] 15.8] 41..9] 4.8 [ 16.1
ZxA 747 lug/1] 2.0 [ 21 [16.5 /20 1118 7] 64 55]156]104]83[58]01[201[01/84
B o> RUTEVER | g/ S e R e I N N N
iz *Eﬂ@lﬁﬁiiyﬂ’%@d’ﬁkibfibke‘ 3.P—ON=(ON)—(D—ON) .P-TP=(TP)-(D-TP)
LP-COD=(COD)—(D-COD) 4, D-TN=C(IN)+(D-ON) 7.TC=(IC)Y+(TOC)

2 IN=(NHA-NI+F(NO2-NI+(NO3-N) 5 TN=CIN)+CON) 8§ P-0C=(TOC)-(D-0C)




KEER (20 2)

SPpk 11 4E(109948)

BN Fi&h KA FliR)!| I 45 Bl

s H AL [ 1/5 | 2/2 | 3/2 | 4/13 | 6/11 | 6/8 | 7/6 | 8/8 | 9/7 | 10/6 | 11/9 | 12/1 [ RAE |5/ IME | 48
2-MIB 28/ 110.006[0.006[0.016[0.181(0,001/0.021]0.049[0,015]0,048(0.001|0.0602]0.008]0.131/0.0010.025
VARAI YV 28/ 110.0430.024[0.027]0.071/0.002]0.035/0.071]0,005[0.012]0.001]0.001]0.003]0,071]0.001]0.-025
Moy pRakCINFP) | mg/1 | 0. 072/ 0. 063{0.068]0.058]0.092(0.076]0. 103[0,116]0, 1170, 106/0.061]0.063[0.117]0.058]0. 083
kb pbEE | g/l ] - - — 10,033]0.054[0,049[0.058[0.071[0,071/0.051]0.025/[0.027[0.071[0.025]0. 049
Tory jonipvaR | mg/l ] — — |~ [0.018/0.027(0.026]0.032]0.032!0.033]0.036[0.022|0.028]0.035]0.018]0. 028
v 7ot | mg/l - - — [0.007]0.010]0.001]0.012(0.012{0.012]0.017]6.012{0.012]0.017]0.001]0.011
7 e RREE | mg/l | — — — 10.000/0.001/0.001{0,001]0.001]0,001/0.002]0.002{0,001]0.002]0.000]0.001
TNEE mg/l | 1451 1,43 1.2611.82/0.78]1.03 1,26 1.08]1.23]0.62]1.22]0.84]1.456 [0.78 |1.15
TNH/E mg/l | 1.45)1.480.89 (1,31 /0,78]0.93 1,21 [0.991.240.80|1,14[0.83]1.45 [0.78 [1.08
- TNTFE mg/l [ 1.87]1.40]10,90)1.26/0.87]0.97]1.27[1.09]1.39([0.80([1.19]0.85]1.40 ]0.85 [1.12
TP LB mg/1 ]0,1000.083[0.088]0.124/0.006|0.140(0. 153]0.128]0. 1120, 112[0.089]0. 0960, 153 |0, 083 0. 110
TPHE ng/1 |0.099]0.079/0.088[0.118/0.1120,129(0, 151]0,118]0.1140.104(0,089]0. 0940, 1561 (0. 079 ]0. 108
TPFHE mg/1 [0.101/0,077]0.095]0,123/0.148]0.168]0.158[0.120]0.136{0.119{0.087|0.090]0. 168 |0.077 |0. 118
. COD LB ng/l | 7.88 16,44 7.52/800]7.00]|7.95/([8.07]7.68]|7.44[8.42]8.67[8.47/8.67 [6.44 |7.75
CODH/E ng/l | 7,22 1640 7.38]7.92|7.05|6.27|7.72|7.09|7.26]7.74|7.37)8385]8.85 [6.27 |7.81
CODTE mg/l | 6.79 6841752780 9.40]6.23|7.89|7.74]7.40(8.03[8.17]8.67]9.40 |6.23 |7.67

ki Kk °C - — - - - - - — - - - -

. R °C — — — — — |- — — — — — —~

0. 5m C | - -1 - - =-1T=-T-1T=-T=-1T-T-1T-+=

1, 0m °C — — — | = — — — — — — - —

2. 0m Tl - -1 =-1T=-1T-1T=-T=-1T=-T=-1T-=-1T=-1T-=

3. 0m °C — — - — — - | = - = - — —~

4. 0m C | - | == =1T-1T-"T-T-1T-=-T=-1T=71-=

b0m | C | - | - | = [ = - =] =1T=-—1-T1T=17T=—71T-

6. 0m C | - I T =T=-T-"1T-"1T=-T=-T-"T1T-1T=-1T=

JBE °C — — — — — - — — - - — —

* DO Jk_E | mg/l — — — | = — — — — — — — —

Eod1d] g/l | — - — = - — — — — — - -

0.5m ng/1 — — — - | = - - - - — — -

1. 0m mg/1 -~ - — — - - = - - - = =

2, 0m mg/l ] — = - - - - - - - - - -

3. 0m i I N N S I I S I I

4.0m g | - | = [ = [ - - = =1T=T=1T-=1"=71T+=

5, 0m ng/1 — -, — — = - — — — — — —

6. 0m mg/1 — — — — - - - — - - - -

il mg/1 ] — — — — — - - — = — - —

K E skk| Lux - | = - - i - - - — - —

) %@‘ Lux — — - - - - — - — — — -

0.5m wx | — | = | = [ =T -1 -T1T-T-T-T=-1T=71+-

1, 0m Lux — — — — — — — — — - — -

2.0m ux | - [ - | =1 =T -T-1T-T-1T=-"T=7T=1-=

_3.0m ix | — | - | = | - [ =T =T =—T-T=-1T+=71T+-=7T+-

4, dm Lux — - — — — — — — — — - —

5, Om Lux - | - — — — — — - — - - —

6. 0m Lux - | - — — — — — — - - - -

JETH Lux - - | = - | - — — — — — — -

BiEHEORP rn'Vv -l -1 -1T=-T-=-1T=

I E ¥ DORDOHKLAHEER




(6YKHEEHR (201D 1)

LP-COD=(COD)—-(D-COD)
2, IN=(NH4-NI+(NO2-NY+(NO3-N) 5 TN=C(IN)+(ON)

4, D-TN=C(IN)-+(D-0ON)

.TC=(I1C)+(TOC)
8 P-0C=(TOCY-(D-0C)

BilEr4 Wi RRE FUARJI #)1iZ Erif B 1 14E(109048)
I B Ber | 1/5 | 1719 | 2/2 | 2/16 | 3/2 | 3/9 | 4/13 | 4/20 | 5/11 | 5/18 | 6/8 | 6/15 | 7/6 | 7/21 | 8/3
X & - B8 | & BB MR & | 8| 8 2 g 2 g | 8 i1
kel By | 7:85 | 9:00 | 8:03 | 8:51 | 7:40 | 9:13 [ 7:38 | 9:06 | 7:44-| 9:07 | 7:48 | 9:13 | 7:45 | 9:35 | 8:00
2IKE m 6,27 1630 |622]6.30|6230|635[630]62(6.506233[630|620)6282]640]6.15
kK B m |0,50]050/[050] 050 050(050]050]050]|050|050]050]08506]050]050]050
& B C 24138 | 4150|5468 152180168 (19.224,0 2601 19.5]285]28.0
KB °C 6.0 )] 50 ) 58|52 ) 68| 79132152 18.8]19.6]22.7)24.9]22.8]26.7]28.8
4 B () R P il A e e e e P e e e e E s e e
B & (B — [dmn | den [ dee | 68 | dus | des | del | dRR | dER | JER | R | el | ER | R | ER
BHE em | 80,0]31.0]32.0]24,65]17.5(23.0]23.0/[20.5[30.5]252|24.021.5)16,5]26.0]18.5
B m 0.50|0.55]0.50] 0.8 0,30 | 0.40]0.40]0.40]0.40 | 0,40 0.40[ 0.40 | 0.30 | 0.85] 0. 35
K — 16 16 16 16 16 16 16 16 16 16 16 16 16 16 16
pH - 7,81 7. 80 7. 87 8. 33 7,97 7.82 7. 98 8 26
DO mg/l |11.11 11. 76 13. 92 10. 86 8, 51 6. 78 7.80 8.42
BOD ng/l [ 3,24 2.1 3. 70 3. 87 3. 80 2. 66 3. 21 3. 66
ATU-BOD | mg/1 2.93 3,72 2.45 2. 59 3. 22
C OD(Mn) mg/l | 6.67]7.20(6.86]785[736721]67]|848[6.69)6.69|6.85|6.23|6.55]844]|768
D-CODCn)| mg/1 | 4.28 4,21 4. 56 3. 04 4. 82 4,83 4, 77 5,43
*P.CODOMI] mg/l | 2.41 2. 65 2. 80 2. 82 1. 87 2.02 L 78 2.25
COD(Cr) mg/1 [11.81 15,19 17. 88 13, 85 14, 17 15, 85 18. 81 17.43
D:COD(Cr) | mg/l | 517 5. 17 8. 20 7,01 7,85 5. 85 | 1.87 12,22
88 mg/l | 11.3 1.8 19.0 16. 6 14.5 16. 6 18. 6 23.3
KIEREERL  wew/oom|3, 3042 7, 9E+1 2. 842 3. 3F+1 1, TE42 4. 9842 . [2.8E44 7, 9E+3
TN mg/1 | 119 1,20 1,09 1.09 | 1.92] .08 L. 10/ 0.80 ] 0.67 [ 0.69[0.90]0.88(0.92]0.96] 1.00
TP mg/1 {0.0800.064{0.070[0.083(0,112(0.096({0.086/0.100/0.0670.07910.049/0.055]0.131]0.081]0.118
NH,4;—N mg/l | 0.02 0. 01 0. 03 0.02 0. 01 0.01 0. 06 0. 01
NO,—N mg/1 |0, 008 0. 009 0. 007 0. 001 0. 0600 0. 001 0. 026 0. 002
NO,—N mg/1 [ 0.5] 0. 50 1.15 0.0l 0. 03 0. 02 0. 17 0. 30
 M'IN mg/1 | 0.54 0. 52 1.19 0. 03 0. 04 0, 03 0.26 0. 31
. ON ng/1 | 0. 83 0, 59 0, 69 0. 97 0, 58 0.76 0. 66 0. 69
D+:ON mg/1 | 0,89 0. 33 0. 42 0.49 0. 30 0. 39 0. 39 0.41
*P-ON mg/1 | 0.24 0. 26 0. 27 0. 48 0. 28 0.37 0. 27 0. 28
*D.TN ng/1 | 0. 98 0.85 1. 61 0. 52 0.34 0.42 0. 65 1072
TN mg/1 ]| 1.17 1.11 1.88 1. 00 0,62 0.79 0. 92 1. 00
D:PO4—P | mg/1 |0.003 0. 000 0. 025 0. 002 0. 002 0. 002 0. 030 0. 030
D:-TP ~mg/1 | 0. 028 0. 026 0. 039 0. 013 0. 003 0.011 0. 038 0. 049
*P.TP ng/1 [0, 062 0. 044 0.073 0. 073 0. 064 0. 038 0. 093 0. 069
I1C mg/1 ] 13.3 12.9 12. 3 11.4 12. 4 12.0 12. 9 13. 2
TOC mg/1] 5.9 6.4 | 6.0 7.0 5.4 5.6 7.2 8.3
*TC mg/1 [ 19.2 19.8 18. 3 18.4 17. 8 17. 6 20. 1 21.5
D:0C mg/l | 87 4.0 3.0 3.7 3.0 3.0 3.6 4,4
*P.OC mg/L | 2.2 2.4 3.0 3.3 2.4 2.6 3.6 3.9
D:Fe mg/1 | 0.28 0. 00 0. 05 0.4 0. 02 0. 05 0. 05 0. 03
-D+*Mn ng/1 | 0.00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00
Fe mg/1 | 0.34 0. 01 0. 36 0.27 0.19 0.54 0. 53 0. 35
Mn mg/1 | 0.02 0. 08 0.04 0. 07 0. 03 0. 05 0. 06 0. 05
ol Jid 9.5 8.9 16.0 11,2 8.2 11.8 18,2 13,2
BBERO0C) | ps/cm| 258 274 301 286 262 295 298 310
Ca ng/l | 16,9 18. 8 19.3 17.3 1 15. 0 15.7 19, 8 18.1
Mg mg/1 | 8.09 8. 36 8. 46 1.5 16.4 15.1 8.5 7.2
pH4.87/AH VIE| mg/l | 49.3 53. 6 51. 4 50.8 54, 4 44.5 52,0 50: 5
p HY, 0% ] mg/1 ] 9.02 17. 88 15. 96 34. 69 53, 1 17. 55 9, 84 7.38
pHSLO7 VAV ng/1 | — — - — — — — -
50,%° ng/1 | 81,0 32.8 30. 7 30. 9 37. 3 34. 6 36. 0 31.0
C1l_ mg/l | 88,0 42,0 41, 6 36. 3 43.1 39.3 35,5 37. 3
Na ng/1 | 92.9 82. 8 94. 2 82,2 33.1 30.8 35, 9 29.0
K mg/1 | 5. 14 5. 00 5. 57 4,79 4,90 10. 57 10. 83 10. 71
T +§i0, mg/l | 25.5 16. 9 20,7 24.2 12. 6 23.9 33. 8 20. 1
e ys | omg/l | 13,28 10. 80 11.90 6. 05 6. 12 11. 49 13. 99 15. 57
Chl-a ug/ 1] 6L2 55, 8 52. 3 64.2 33.8 39.8 28. 8 76. 1
Chl-b ng/ 1] 8.0 4.1 10.2 125 6.0 3.0 8.4 7.5
Chl-¢ ug/ 1] 10,1 8.0 14. 8 29,9 8.7 6. 7 L2 8.6
DA 24F v ug/i| L6 4.0 43.5 20, 3 7.1 7.8 39. 2 4.5
WA A v REEEH | ng/l [ 0. 01 0. 00 0. 01 0. 02 ~ 1.0, 00 0. 00 0. 00 0. 00
i *ENDIE B LR DEH I X bR, .3, P-ON=(ON)—(D-0ON) 8. P-TP=(TP)—(D-TP)




KEFER (20D

1D2)

L P-COD=(COD)-(D-COD) .
2, IN=(NH4-N)+(NO2-N)+(NO3-

4. D-TN=(IN)+(D-ON)

8, P-0C=(TOC)~-(D-0C)

[ERbied WheLs KB FAR)I [IES =R SEak 1 14E(199948)
H B | Bz | 8/17| 8/7 | 9/21 | 10/6 | 10/19| 11/9 | 11/24| 12/1 | 12/7 |5 ARAH| R Ml S 1 i
& - w2 | 8 | 8 | B BE | TR | M H
Ak REZ Besy | 9:07 [ 7:41 9:11 ] 7:54 | 8:46 | 7:55 9:00 | 7:50 | 8:02
L7k m | 65506350658 (6.25(6.801(6.25(6.30(6.30/6.30( -
Hakok m | 0.50]0.50]050[050]050]050]050]0.50]0.50][
& B °C [20.6(25.8(23.7/20,8/17.0[16.2]12.0[10.1] 98
KA °C [29.9]27.0[26.0]22.0]19.2]158|13.5]11.6] 9.1 ]29.8] 50 |16.8
B () T e e e T
L G ) - R R R R | R R | R ER | #R
B ‘em | 28.0]27.5(26.5(80.0]32.0]328]34.5]30.7]230
BRE m | 0.85]0.47[0.45]0.80(0.50[0.50]0.55]0.55]0.40] 0.60] 0.30 | 0.43
K & — 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 16
pH - 8, 14 8.78 8. 24 7. 90 8.7317.81 | 808
DO ng/1 8. 62 8. 77 10. 33 11. 26 13.92] 6.78 | 8. 85
BOD ng/1 3,48 NG 2. 92 2,08 3.80 ] 2,08 817
ATU-BOD | ag/l 2. 26 3, 95 1,18 2,01
CODn) mg/l | 711697721188 |792]755|741]7.72]768]881]6.23]7.33]
D+ COD®Mn) | mg/l 5. 48 5. 91 5. 30 5, 10 5,81 13,94 | 4.88
PCODU)| mg/l 1. 49 2. 90 2. 28 2. 62 2.90 | .49 ( 2.32
COD(Cr) ng/1 14. 30 13.42 18.82 15, 81 17.88] 11. 31 14. 71
D:COD(] mg/l 10.72 7,51 9, 92 8. 90 12.22] 5.17 [ 8. 08
S$S ng/1 12.5 17.0 12. 6 6.0 23.8] 6.0 | 14.6°
KIEBBES | wP/100m 2. 3843 3. 3643 7. 8E+2 4, 8E+2 2. 3E+4]8. 3E+1|3. 3E+3
TN mg/1 ] 1,00]1,09(087]092[096[0.78/066]0.70]0.77[1.92]0.66]0.97
TP mg/1 [0.118(0. 102]0. 106]0. 0960, 088[0. 069]0. 053] 0. 066]0. 0670, 131 (0. 049] 0. 085
NH,—N ng/1 1 0.06 0. 00 0. 01 0.01 0.06 0,000 02
NO,—N ng/1 0.016 0. 001 0. 005 0. 001 0.026]0.000]0.008
NO;—N ng/1 0. 39 0. 14 0,08 0. 06 1,15 0.01 | 0.28
IN ng/1 0,47 0,14 0,10 0. 07 1,191 0,08 | 0.81
ON ng/1 0.60 . [o0.74 0, 86 0. 66 0.97 ] 0.58 | 0.69
D:-ON ng/l 0. 31 0.37 0. 35 0.37 ] 0.49]0.30]0.38
*P.ON mg/1 0,29 0.37 0.31 0.29 0.48 [ 0.24 | 0.8l
*D.TN ng/1 0. 78 0,51 0. 45 0. 44 1.61[0.94 | 0.68
TN ng/1 o7 ] 0. 88 0.76 0.73 1.88 1 0.6210.99
D:-PO4~P | mg/l 0. 028 0,010 0. 009 0. 000 0.030]0.000]0.012
D-TP ng/1 0, 044 0,019 0,010 0,011 0,049]0,008]0. 024
‘PLTP ng/1 0. 058 0.077 0. 059 0. 055 0.093]0.038]0. 084
1C mg/1 13.1. 14,2 12. 4 12.7 14,2 11.4 | 12.7
TOC ng/1 6. 2 8.8 7.0 7.7 8.6 5.4 | 6.8
TC ng/1 19.3 22. 8 19.4 20. 4 22.8 | 17.8] 19,5
D:0C ng/1 3.5 4.5 3.7 9.8 4.5 80 87
*P.OC ng/1 2.7 4,1 3.8 39 41122 381
D:Fe ng/1 0. 03 0,00 0.16 0,04 0,23 (0,00 | 0.08
D Mn ng/1 0, 00 0. 00 0. 00 0. 00 0.00 | 0.00 0.00
Fe ng/1 0.12 0. 48 0. 61 0. 07 0.61(0.01]0.82
Mn ng/1 0. 06 0. 03 0,06 0. 20 0.2010.02 ] 0.06
O )i 13.3 13.2 11. 3 7.8 16.21 7.8 | 11.7
MEBW20°C) |us/en 318 320 310 316 320 | 258 | 296
< Ca mg/1 17. 8 19.5 17.0 17.3 19.8 | 15.0 [ 17.7
Mg mg/1 0.6 9.8 7.5 7,47 16.40] 7.20 | 9.50
p HA. 87 VA VE| ng/l 58. 1 59,2 59,0 59. 4 59.9 | 44.5 [ 52,9
p H8, 0fi# #| ng/l 8. 00 5.7 1. 93 2. 54 53.10] 1.93 [ 15. 80
p HO. 07 b4 ) | mg/l — — — | - — -~ —
S04% ng/1 32.8 25. 3 30,7 31,8 97.8 1953 32.1
cl- mg/1 45.9 40,9 40.5 41, 6 45,91 95.5 | 40.2
Na ng/1 28. 4 33.2 33.0 31,5 35,9 | 28.4 | 32.2
K ng/1 5,81 5, 14 5,15 5,05 10.83] 4.79 | 6. 56
T -+ 8i0, ng/1 20,7 7.2 6.9 12.8 33.8] 6.9 ] 19,5
PR mg/1 9,31 3. 08 0.15 0.12 15.57] 0.12 | 8.48
Chl-a ug/l 98. 4 58, 1 43.4 39,8 76.1128.8 ] 48. 9
Chl-b ng/ 2.7 [ 6.7 3.1 2.6 12.5| 2.6 | 5.8
; Chl-c ug/ | 4,0 13.4 6.5 7.8 29.9 1 1.2 ] 10.1
TxA04F v |ug/l 4,8 8.9 9.4 4,0 43,5 1.5 | 12.8
B A v RmEs | ng/l 0,01 0. 01 0. 00 0. 00 0.02 1 0.00 1 001
e IO BIRRAD IS & b kodTe, 3 P-ON=(ON)—(D-ON £ P-TP=(TP)—(D-TP)

TL.TG=(1C)+(TOC)

5 TN=(IN)+(ON)



KEgEE (202D1) .

BRPRA | WG P FAR) % B g1 1 AEC19994E)

H B | B | 1/5 | 1/19] 2/2 | 2/16 | 3/2 | 3/9 | 4/18 | 4/20 | 5/11 | 5/18 | 6/8 | 6/15 | 7/8 | 7/21 | 8/3
2-MIB |ug/1|0.004] — ]0.005 — [0.0011] — ]0.102] — ]0.002) — |0.018] — ]0.035] — |0.022
VARV |pg/1]0.038] — 10.026] — 0.017] — |0.057) — |0.002] — [0.018] — 10.085( — |0.007

Hnmr byt CTeR) | mg/1 | — - — - - - - - — = - — - = -

JonkbAE pRRE | we/l | — - - - - - - = - - - - - - -

P oey yoodveg | mg/l | - - — — - —~ — — - - - - — - —

vyt (wg/l| - | - | -] - -1 - -1 -1=1-=-1-=-1=-1T-1-1-=
7 nEtvAE BRAE | mg/l - — — — - |- — —. — — - - — — —
TN.LE mg/l 1 1,19)1.20[1.09/1.09)1,92]1.03)1.10)0.80)0.67]0.69[0.90]0.83]0,92[0.96]100
TNPE | mg/t 1,08 — | 1,06 — |1.09] — J1,18] — [0.68] — 0.8 — [0.95| — |09
TNTHE mg/1)1.18).— [1.14| ~ | L8| . — |L16| — |0.70) — 10.89) — 1092 — |1.12
TP LB mg/1 [0.090/0.064[0.0700.083]0.112(0.096|0. 0860, 100 0. 067)0.079]0. 048]0, 055]0.131{0.081]0.118
TP HE mg/1 ]0.079] — ]0.071] —. |0.108] — |0.086  — [0.078] — |0.085 — |0.117] — ]0.113
TPT/E mg/} [0.102] — [0.075] — |0.112] — |0.094] — 0.069] — [0.089] — |0.171] — |0. 146
CODEfE | mwg/1}6.67(7.20]686|785|736}721|6.76|848]6.69)06.69)6.85)6.23)06.55|844]7 68
CODHE mg/l [ 6.65| — [614| — |7.19] — |7.89] — |6.78] — |62 | —~ [7.22] — |71l
CODFE |mg/l|7.46] — |6.9| — [800 — '|7.18| — [6.986 —~ 1803 — [658] —~ |784
ki ZkE c - - - - - - - -1 - - - - - - -
E3i] °C [62]48|55|562]|56|765|128[162]19.1/19.4]23.1)24.8]229]268]29.2
0.5m °C | 6248|5551 |60 76]128)16.1]19.1({19.4]22.9|24.7/22.9[267]29.1
1. 0m °C 168|481/ 56](51 6076 127[16.0|19.1/19.4]22.9|24.5/22.8)26.2]291
2,0m C | 683[48 |56 |61 |61]76]127)159]19.1]10.83|22.8]24.4]22.9]26.0)29.0
3. 0m C [6.3|48|56)51)861|76)127]159/19.2|19.3[228)24.3|23.0]259]289
4. 0m °C 163481665161 |76]|127]|14.8]19.2(19,.2)22.8|24.3|23.0]258]289
5, 0m C [ 6348|5661 |61|76][126]14.8|19.2)10,.2)22.8|24.8/22.9]258]289
6. 0m °C 16348565161 |76]125]14.7]19.2[19.2)|22.8|24.322.9)25.8]28.9
JE T °C |63 |48/]6561651(61]|76]|125|14.7|18.2]19.2]22.8(24,2]22.9[257]289

*D O 7J<J: mg/1 — — — - — - — - - - - - - — —
Fi mg/l1 | 10.3|10.1)10.2|10. 611, 7/11.2}10.1| 9.1 85| 74)61]67]80]72]63
0.5m ng/1 [ 10,83 10.0 /10,1106 10.8)11.83)160.1| 9.0} 86 | 7.3 | 60| 66| 79| 70]|63
1.0m mg/1110.2] 9.8 | 97[98 |11.8]11,65[10.,1[ 87 |89 ]| 70]|58)654]|79]68]60
2, 0m mg/1 110.2| 981965 9.4 [11.9|11.5/10.0] 85 | 8969 |5658(51|79]|G64]60
3. 0m mg/1110.2) 9.8 ) 92(89 120|1L5]10.1} 7.4 |89 |67|56) 40|79 61]|S55
4. 0m mg/l [10.0] 9.8 | 84 (821201159971 [89)862]|55)| 46| 77| 57|53
5, 0m mg/1] 987167 |81]80|120(11.1/9.8 )42 )88 |58 ]|54|41]76]50]51
6. Om mg/11 9.5 95)|78(761122/10.9(9.3385 )88 5641|4536 76|48 46
B mg/1]9.4]69[44]21/(121|105| 78103 |84 |41[24]03/48|10¢4]209

JRPIEE kb | Lux | 4300 | 8350 | 7040 [41700]15900| 8310 | 5790 | 44600) 16200| 48300 32900 | 44000 15800 | 98700 | 94400
Ei) Lux | 8260 [ 7540 | 6810 | 3850011800 7680 | 4630 |40300]11900]21500|27600| 39600 | 12400 | 92400 | 53700
0. 5m Lux | 1250 | 1820 | 2120 | 9470 | 3200 | 1140 | 1590 | 4370 | 3260 [11400| 6640 | 4730 | 3610 | 2130012900
1.0m Lux | 306 | 767 | 628 | 4100 | 539 | 391 | 439 | 1690 | 63 | 3420 | 1100 | 1810 | 234 | 3430 | 1430
2. 0m Lux | 69 | 249 | 147 [ 816 | 32 | 48 | 94 | 263 | 34 | 505 | 2056 | 222 | 12 | 218 | 117
3 0m Lux | 4 63 | 44 | 253 | 0 0 9 66 0 65 | 30 | 61 2 .81 | 24
4. 0m Lux | 0 0 0 94 0 0 0 8 0 21 8 2 | 0 9 15
5 Om Lux 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0
6. 0m Lux | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Eim Lux - - - - - - — - - - - — — - -

EVRE.EORP | mV | 577 | 202 | 199 | 121 9 [ 102 | 547 | 137 | 140 240 | 154 | 267 | 242 | 157
Tk * DOIDORHT &L Ak B




. REER (ZD202)

Byl

SEE L 1 E(19994F)

s ML T FHIiB ] )14
H B | B4z | 8/17 | 9/7 | 9721 | 10/6°110/19| 11/9 | 11/24| 12/1 | 12/7 |[FEARAE [T/ IME | 3 H
2-MIB pg/1| — |0.018] — [0.00L] — ]0.000] — ]0.003 ~ [0.102)0.000]|0,018
VARV wg/ 1] — [0.004] — |0.00/[ — [0.000] — [0.004] ~— ]0.057)0.001]0.017
Maup v RAECTINED) | mg/1 |- — — — - | = — — — — — — —
oA RREE | mg/l ] — - — — — - -~ - - - - -
7 ey dondvik g | mg/l | — — — - — — — — — — — —
7 e E R | ng/l - — — — — — — — — — — —
7 ukhvad e | mg/1 | — — ~ — — — — — — — — —
TN EE mg/l ] 1.00]1.09]0.87)0.92]0.96]0.78/0.66]0.701(0.77]1,92 [0.66 |0.97
TNHE mg/l) — |106) — |08 — [0.72] — 067 — |1.18 |0.67 [0.84
TNFE - mg/L| — [LO7] —~ 078 — |0.74] — [074] — |1.85 [0.70 [0.99
TPEE . | mg/l |0.118]0.102]0.106]0.096(0.088]|0.069]0.053|0.066]0.067]0.131 0. 049 [0. 090
T P8 mg/L | — [0.100f — ]0.092] — ]0.067) — [0.078] — ]0.117 [0.067 |0. 090
TPTE ng/1 — [0.132) — ]0.104] — ]0.063] — [0.066) — ]0.171 |0.063 |0.100
COD LB mg/l | 7.11[6.97 721881792755 17.41|7.72|7.6818.81 [6.23 |17.83
CODH/E mg/l| — |6.81] — |80l — |7.14] — |7.08] — 1801 |6.14 |6.99
CODT/E mg/l | — 6.8 — 1788 — |7.6L| — 800 ~ 1803 658 |7.44
KB AE [ C | — | - -1 - [ — 1~ T -T-T-
i °C 120.4]27.4]26:2(22.2(19.2|157[18.2] 1L6] 9.4
0.5m °C 129.4]27.4]26.3(22.2]19.21159113.3|11.7] 9.5
1. 0m °C 129.4(27.4(26.2)22.819.83]150|183[1L7] 9.5
2. 0m C 129.4.127.4[26.2(22.8/19.3]15.9[138.3[11.7] 8.5
3. 0m °C 129.4(27.4|26.2(22.819.83]15.9[18.4[11.7] 8.5
4, 0m C 129.4]127.4126.2(22,8)19.8)159(13.4|1L7] 9.5
5. 0m C [.29.8127.4126.2]22.3[19.83]15.9]|13.4[11.7] 9.5
6. 0m °C 129.3]27.4(26.2(22.83[19.83]15.9]18.4[11.7] 9.4
R °C [29.3]27.4/262222]19.3][158]138.4]11.7] 9.5
*DO kb | mg/l] — — - - — — — — —
i mg/L | 5.4 (65 7.8 88/ 86| 96([10.4]11.4]1(1.9
0. 6m mg/l | 6,362 ] 7688186195 10.2]11.4]11.9
1. 0m mg/l | 5.8 | 6.2 | 7.4 | 87 | 85 (9.6 10.0]11.4[11.9
2. 0m mg/l | 5.1 | 6.3 | 7.4 | 87 | 85| 95| 9.8 [11.6[11.¢
3. 0m mg/l [ 4.6 | 62| 74|86 ]85 [.95][ 96 |1L7][1L9
4, 0m mg/l| 4.5 | 6.1 (71861 84 ([90)] 93 11.8]1L9
5. 0m mg/l | 45|58 |70 86|82 87|87 1L7]1L9
6. 0m mg/l | 4.6 | 52 69|85 | 80| 7.8 85 |11.7[11.9
JEH mg/l1 | 2.8 [ 3425|4141 ]51]09|11.65]11.8
KeEE kb | Lux [98500)17200) 8940 | 28100 (67800 10800| 8470 | 1380020900
Bl Lux | 8310013500 7990 | 2300056400 8260 | 2910 [ 12200] 10500
0.5m Lux |32700| 4180 | 1820 | 3880 | 21300 4480 | 653 | 2840 | 3440
1.0m Lux | 5660 | 891 | 128 | 1410 | 4170 | 1880 | 198 | 894 [ 1200
2.0m Lux | 1080 | 111 | 43 | 228 | 1080 ] 271 | 30 186 | 361
3. 0m Lux 83 23 12 | 157 | 215 | 52 4 26 | 102
4,0m Lux 21 8 0 16 96 9 0 0 11
5 0m Lux ] 0 0 7 7 0 0 0 -0
"6.0m Lux 0 0 0 0 0 0 0 0 0
B Lux | — — — — — — — — —
BRELORP | ¥ 222 | 156 | 214 | 214 | 98 | 241 | -84 | 219 | 258

fii%&




- KEFR (F0 1)

EN T2 PEDH M KHRB FiAR ) )% Byl SRk 11 £2(199048)
H B | B4 | t/5 | 2/2 | 8/2 | 4/18 | 5/11| 6/8 | 7/6 | 8/3 | 9/7 | 10/6 | 11/9 | 12/1 |[FKAs| /M| 418
xR - B2 | B | M| 2 | K| B8 | || M) H | B
Rk e By 1 7:28 | 7:48 | 7:29 [ 7:27 [ 7:92 [ 7:80 | 7:32 | 7:45 | 7:20 | 7:42 | 7:40 | 7:36
Eovi 8 m 5850580 [585(6,10]6,15]6.10(6,20]585]5.90](590]582]5.90
koK m [ 0.50]050]050/050]050]050]0.50]0.50/0.50]050]050]020.50
& °C 1.8 140 40 [156]16,3([280]19.3(29.1]256]20.0155] 8.8
K & °C 5.9 | 58] 6.7 138[19.0[22.8]22828.9|26.9|220[15911.9]28.9| 58 [16.9
o (D — | BSRINE| AR | RIBIR| HURIBT | RIBE| B | BURIEE | RIEE RS0 | HURINT| Y8R | B
B & QR MEECAETAE TR TR AR 2N AR AR AR A A ) ,
BHRE cm | 26.0]34.5]20.0(22.5|23.0([34.5]19.0|24.7]29.5/[28.5]3820]82.0 ‘ J
BIE m [0.40]0,50]03300,4010.38]0.52]0.251010.4010.48]0.5010.50]0.62]0.62)0.25(0.44
Kt — 16 16 16 16 16 16 16 16 18 16 18 16
p H — 7.85|7.8917.82(8.35]|7.85] 7.81|8.008.02|837|851]|823|[808(8,51]781]3807

DO mg/1 |11.56/12,06|11.55(10.82( 8.08 | 7. 17 | 7.67 | 7.54|9.21 | 6.12 | 6.38 | 10.47) 12. 06| 6,12 | 9. 30
BOD mg/l ] 8.83 | 226 2.04 1 2.77)1.91)8.06|3.06|308|245|2.82|1.62)3874)1.62) 264
ATU-BOD |mg/1] — | - | -1 -1 -] -1 -1 -1 -1 -1T-1~1-1-=71-+-
CODMn). | mg/1[6.91)6.48]7.52|7.00]|6.76)6.02)739]|750]|708)|778|745)7.04]778]8602]|707
D.CODW | mg/1| — | - | — | — | - [ - = =T - =1T=T=1T-"1T+-71T+=
‘p.cop(mn | - -~ - - - - T -T-[T-T-[-T-T-17T-1T+-
copr) |mg/1| — | — | - | - - [ - - - - [ =~ =1=1T-=-1-+
D:-CODr)| mg/1 | — = -~ - = -~ -~ - - - - - - - -

_CJJ
-3
—~

SS ng/l | 11,6 6,0 [19.5) 14.8|18.5]10.6)25,3|19.8)185)21.6|15.6| 6.6 | 25.8 6.0 | 15.2
KIGEBES  [wewoom| 2, B042|3. BE+1| 2, BE+1(4. 9B+ |4, 9E42| 7. OB42| 2, 3E+3| 2. 3B+4 |3, BE+3| 1. TE+3|3. 3E+43| 7. 9E43| 2. 3B+4 | 2. BE+1 | B, 6E43
TN ng/1 | 1,19 | 1.27/1.26)1.81]0.74]0.85)0.97|0.96]123]|079[070]0.73]1311]070]100
TP mg/1 10.08710.064)0.088!0.08110.068]0.046)0.11110.11310.122)0.098/0.073,0.056}0.1220.040)0.083

NH,—N | ng/1]0.02]0.01]002][003]0.0&]0.0L]007]0.05]0.06]0.00[0.0%]0.00]0.07]000]0.02
NO,—N | mg/1|0.008]0.008]0.006]0.001]0.001]0.000]0.026]0.001]0.011]0.0010.001]0.002]0.0260.000]0.006
NO,—N | mg/1|0.45]0.52]0.78]0.02]0.04]0.02]0.18]0.27]0.08]0.07[0.07]0.11]0.78]0.02 | 0.21
"IN mg/1 | 0.48 | 0.54 | 0.76 | 0.05 | 0.05] 0.03 ] 0.28 | 0.28 [ 0.15 | 0.07 | 0.08 [ 0.11] 0.76 | 0.03 | 0.24
ON ng/L | 0.6870.67]0.4911.16 | 0.62[0.70 0.70 1 0.6810.58 [ 0.71] 0.60 1 0.81] 1. 16 [ 0.48 | 0.7I
D-ON |mgyl| - - -1 =-T-1T-T-T=-1T=-1T=-T-1T= -
Y 77 N I = O

DTN |m/l| — | = | = | =~ | = [ = | =1 = =1 =] =1-= ——
TN mg/1 [ 116 1.21 [ 1.25] .20 [ 0.670.73]0.98 7 0.96[ .08 0.78]0.68 | 0.72] 1.25] 0.67]0.95

D-PO4-P | mg/1]0.008]0.002]0.021]0.002]0.002]0.007]0.031]0.025]0.03L]0.010]0.009]0.000]0.081]0,000]0.012
D-TP |mg/l| = | - | = | - =T -] =T=T-T-T-= - = 1=
‘p.Tp [mgh]| - [ — ] - [~ ‘ — =

IC mg/1 | 11,9 112.1[12.6|12.8| 1L

I
|

5| 11,9111 .5]13.8]13.8 5
TOC mg/l | 57155160059 (67|57/65|72(68§872]|71)65] 72!556]64
*TC mg/1 | 17.6|17.6|18.6 188 |18.2 | 17.6( 17.8 | 19.7/20.3)21.0|19.6 18.9) 21,0 | 17.6 | 18.8
D.0C w1 - | - | - | - [ - =1~ T -1-1-1+= =
*P.0OC we/1| — | - -1 —1-1- — - | - - 1= - - = -
D:.Fe /1| — | - | - | - | -1 - -1 - | - | - | [ =1 -1 =1-=
D Mn /i - | - | — | - | - | = | - | =~ =1 -1 T -1 =-"—71-=
Fe . ng/l | — - - - - - - - - - - - — - -
Mn mg/l [ — - - - - - - - - - - ~ - - -
K % 19786 |136|10.5|14.0 83 [14,8|11.2|13.5|16,0]13.1| 7.8 [16.0[ 7.8 | 11.8
FEI(20°C) |ws/cm| 280 | 253 | 825 | 266 | 204 | 312 | 267 | 278 | 328 | 334 | 308 | 382 | 382 | 253 | 302
Ca mg/l | — - -~ — - — = - — - — - — - —
Mg mg/l | - - - IE

p H4.87 V7 VIE| mg/1 | 51,4 | 54,0 ] 50.8 | 51.6 | 53. 1| 45.9 | 54.9 | 53.1[ 59.5 | 65.8 | 59.2 | 54. 6| 65.9 | 45.9 | 54.5
pHO. 08  F| mg/1 | 9.87 |18.21(25.49]85.21]46.00]19.75] 8. 61 [ 6.77 | 8.00 | 5.94 | 6. 19 | 4.89 | 46.00] 4.89 | 16. 20
pPHIOFWMAYE g/l | — | — | — | - | - | - [ - [ - T -T-T-T-=-1T-T=79"+->

S0,%" g/l - [~ | =T =1 -1 =1T-"1T-=-"1T-1T-1-1T-1-1-=
Cl- mg/1 | 38.4|41,3|41.4138.8[839.7|44.2 44,6 |42.7(49.5]29.5/44,2|42.8[49.5]20.5|41.4
Na mg/l| — - - - — - — — — — - — - - -
K wmh| - -1 -1 -1 -"1T=-T=1T-1T-1T-1T-=-1T-=1-= — | =

RSO N7 WS I N A A N S A A = I A

|
I

En =N mg/l | — -~ — - —
5

Cbl-a _ |pe/L| 545 58.8 | 74.0 | 47.8|85.2| 35.5 | 82.1]65.0] 61.8 | 60.6|40.9| 45.2 | 74.0 | 82.1 | 50.9
Chib  |ug/U| 31|46 | 14.1]10.2]837 |53 56| 70]652]|33][28]|42]|14d1] 28] 58
Chi-c  |wg/1] 9.8 | 84 [36.8|21.6] 69 |106] 61808312886 |(1.2]|0368] 61124
7xAoaF [pg/ 1181107158 1102] 06 61107 17]1L2[02]71]86]102] 0757
B ot v REEH]| ng/1 S I A I N S I I I I A
[FES xED@lﬁEli&’Q@ﬁﬁL&@*&bto . 3. P-ON=(ON)—(D-ON) 6. P-TP=(TP)-(D-TP)
I.P-COD=(COD)-(D-COD) 4. D-TN=C(IN)+(D-ON)> 7.TC=(ICY+(TOC)

2. IN=(NHA-N)+(NO2-N)--(NO3-N) 5 TN=(INY+(ON) 8.P~OC=(’I‘QC)—(D-OC)




KEEEE (2D 2)

Bl PO pEYa R W 2Ly I Sk 1 148 (19994F)
" B | B | 1/5 | 2/2 | 8/2 [4/18 | 5/11 | 6/8 | 7/6 | 8/8 | 9/7 | 10/6 | 11/9 | 12/1 [TRAMK [Joe/IME|F-# 1
2-MIB_ Jug/I| -1 -1 -T-T1T-T-T-T1T-T-1-T-1T-1T- - —
VARI Y |pg/l] = - - - | = - - - | - - - - - - -
o2l | mg/1 | — - — - | -1 - - -1 = - - - - - —
pumbphEREE | me/l | — - - - -1 - - - - - - |- - - -
7oy yuoshvasR | mg/l | — - — - | - - - - - - - - - - =
vreonsguEg (mg/1| - [ - | - | - | -] -] =] -1 -1 —-1-1 - - | - -
7 nthvad peEE | mg/l | — - - - - - - - - = - - - - -
TN.LE mg/1{1.19]1.27]1.26]1.810.74]0.85)0.97]0.961.23]0.79]070]073]1.381 [0,70 |1
T N8 g/t - [ -] -1 -1-1-1-]T-1T=-]T=7T=-1-1T-1T-1=
TNTE mg/t [ 1,22 1.26)1.06]1,87)0.77]0.89]0,85]0.98]1.381/094[0.77]0.73([1.87 |0.73 |1.02
TP.LE mg/1 [0,087]0.064]0. 088)0.08)|0.068]0.040]0.111/0,118]0.122|0. 0980, 0780, 056]0. 122 0. 040 |0. 083
TPHE ng/l | — - - - - | - -l =1 = - - - | - - -
TPTE mg/1 | 0. 086 0.068]0.0880.097] 0. 077]0.070/0,125/0. 114]0.182]0. 131 (0. 079 0. 0562]0. 132 {0. 052 [0. 093
CODLEE | mg/1]6.91]|648|7.52|700[676[602]739|750)7038|778|745]7.04]7.78 [6.02 |7.07
cop@ [mg/t| -~ | — | -~ | -~ - -] ~[ -] -1 -]—-1]—-1=1]+-1]~-
CODTF/E | mg/l|7.06]666|760|770]7.388)666|700|747]7.03/0.48(7.45|6.79] — - -
ki Ak | C| - | -] -]-|—-]-|-]=1=/=-7=1=
i C | - | - | - - [ == =T=-1]-1T-71T-
0.5m c | -1T-1T-1-1T-1T-T-1T-T-=-1T=-1=-71=
L0m c |l -1 -T-1T-7T-7T-T-T=-T=-7T=-1T=-1=
2, 0m c |l -1 -1T-T-T-T-T=-1T=7T=1=-1=171=
3. 0m c | -1 -1T-1T=-1T-1T-1T-T-T-1-1-=-7T=
4,0m c |l -T1T-T-1T-1T-1T-T=-T=-1T=-71=-7T-1=
5. 0m cl|l-1T-7T-1T-T-1T-1T=-1T-1=-1=-1=-1-
6. Om c - -l =] =-1=-1=-1= - - - - -
i °C - e - -1 - - - = - - -
*DO  kklmn| - [ - [ - T -1 -1 -1 -T1T-T1T-1-1-1-
R mg/l | — - -l =1 = - - = - - 1 - -
0.6m mg/l | — - | = -1 - - - | - | = - | - -
L.0m mg/l | — il e e R -1 - - | = | = -
A 72 Y S N N R N N I I I I
3. 0m g/t — [ - -1 -1T-T-1T-1T-T-1=-"1T=1T=
4. 0m ng/l | — -~ - | =] =] = - =1 = - | - -
5 0m ng/l | — il - | - - -] - - - - -
6. 0m g/t - 1T -1 -T-T-T-T-T=-1T-1T-T-1T-=
JET mg/l )] — | = | =] =] = - - | - - - | = -
KARE AKE| Lux | — -l -1 =-1= - - - | - - | - -
i Lux | — -1 = -1 = - - =1 = - - -
0, 5m Lux - - - — — - — — — — - — _
1, 0m wx | - | - [ =1 -T-=-1T-T-1T-1T-=-1-1-1-=
2. 0m x | - [ - [ —T-T-T-T-T-T-1-1+- -
3, 0m wx | - [ - -1 -1T-1T-1T-1T-1-1-1-1=
4,0m Lux - - - - — -~ - - - - - -
50m | | lwx | - | -] -] -] -1 -]T-1T-1T-1-1=71-
6. 0m Lux — - — = - - - - - - - -
B E Lux | — - - - | - - - - - - - -
ERE EORP | nV i e o = - - = el -

ey % DOIXD OfHI L 2 e 2




REFEE (ZD1)

R P i ey FHE)I )l & & i il SERR 1 148(109948)
H g | B4 | 1/5 | 272 | 8/2 [ 4713 | 5/11 | 6/8 | 7/6 | 8/3 | 9/7 | 10/6 | 11/9 | 12/1 |t |9/ M| 448
X | -1 B |28 | £ | 2 B | 2 | & 2| &£ | 8| &
Rk Bsr | 7:07 | 7:28 | 7213 [ 7:10 | 7:14 1 7:09 | 7:09 | 7:20 | 7:04 | 7:20 | 7:20 | 7:18
LR m | L7 [1.80 | 165170 170 | 170! 1.80|1,60] 170172185180
Bk m [ 0.50[0.50]050] 050|050 [080]050]050]050]050]050]0 50
& " C 1023236 |156[162 225188280 25.2]188]14.2] 6.0
Kk B °C 16115868 |143119,2192.41922.2]198.11926.7121.2]115.0111.8728.1] 51 |16.6
A R D) N e e b s e e e e P e P e e
B KOs — MR R R [ R R | BR | HE | R | ER | RR | KR | ER
BEE em | 26.0[92.5/18.7/19.0[21,0[255]16.2]20.4[225/[26.0]225] 8324
, BYE m | 0.40[0.50]0.28(0.80]0.87]040]0.24[0.80]0.80[0.50]0.28[0.50]050]0.24]0,836
K _fa — 16 | 16 | 16 [ 18 [ 16 | 18 | 18 [ 16 [ 16 | 16 | 16 | 18
pH — |815[8.27|804]841]794]7.76/809]7.91([8.36]8.33|797(810]84L]77]8.1l
DO mg/1 [12.28]12.91]12.16]11,09] 7.82|6.93 | 8,09 7.93]8.06 [ 7.86 [11,27|11,65}12.91] 6.93 | 9. 83
BOD mg/1 | 8.71|247(3.88]821|4.84)|238)|343)3.37|280)272|202|1.81]4.84]1.81]3.06

ATU-BOD |mg/i| — | - | - [ - | - [ - [ =1 =1+

COD) mg/l [ 7,54 |6.58|7.86|7.72|7.44|6.27|7.88|6.74[7.28]7.89/9.72|6.71]19.72(6.27]739
D-COD0n)| ng/1 | — — — — — _ _ - — — — — - - —
‘p.coDp@m|mg/l | - [ - | - [ = [ =1 =1 =1 - =1 =1 = - = -
COD(Cr) ng/l | — — — — — — - | - — — — — — — _
D:COD(r) | mg/l | — - — — ~ | = — — = = — _ — — —

SS mg/l | 12,6 6.6 |23.0(17.8/17.5| 150 8L.6]14.3]20.5|28.3]|17.8| 5.8 [31.6] 6.8 [I7.1
KIBEEES  [ewiom]| 1. 3042|3, 8E+1] 3. 3B+1| 3. E+3| 1. 3E+4 3. 30+3]4. 0E+3| 1, TE+4[7. 9C+3] 1. 3E+3] L 3B+3| 7. 0E+2| 1. TE44 | 3. 9B+1[ 4. 4E+3
TN mg/1 | 1,14 | 1,05 | 1,091 1.16(0.930.830.91]0.80(0.83]0.80 | 1L.14]0.70] L.16]0.70] 0,95
TP mg/1 10,083]0,064]0.092(0.093[0.113]0.057]0.099]0.089]0.106]0.09610.073]0.052[ 0. 113]0. 052] 0. 085

NH;—-N mg/1 | €.02[0.01({0.02]002)004)002]002]0.01/004)0.01)002/001[00D047]001]0.02
NOy—N mg/1 |0, 008)0.013]0.007(0.001)0.008)0.001{0.008[0.001/0.001)0.000)0.010{0.001f0.018]0.001)0,005

NO3;—N mg/1{0.34]051)082)0.03[005]0.02)0.16]0.18(0.05/0.10/0.42)0.10]10.8210.02] 023
*IN mg/1 ] 0.87(0.53|0.85)0.05)010({0.04]019]0.19]0.09]0.11/[0.45[0.11]0:8510.04]0.26
ON ng/1 10,73 (0540 46 1Lo1] 0 71 0.7910.72)0.61 /0. 70]0.66)0.78]059]1.01]0.46]0 69

D+ON mg/1
*P.ON ng/l | — — - — — - - - = - - — - | - —
‘DTN [mgd | ~ | = [ - | - | = | - -] =] -1 -1 - -

TN mg/1 11,10 1,07 1,81 ]1.06]0.81]0.83[0.91)0.80]0.79]0.77]1.23|0.70] 1£.31]0.70]0,95

D+«PO4—P | mg/1 [0.002)|0,003]0.020)0.002|0.002)0.000]0.013]0.015]0.016[0.008)0.009]0.000]0.020!0.000]0.008
D-TP [mg/1]| - | - | = -1 -1 -—T-1T-=-1T-—"1-=1T+= -1 -1 -

*P.TP ng/1 — — — — — — — — — = | = 10.062] — — —
IC I mg/1 [18.8]12.4(12.2 181 11.4[10.9[10.0 (10,01 7]10.5(42.2(12.1[13.8[10.0[11.8]
TOC mg/l| 66|67 70)65)|65]61|67|62]60)¢76]88]|73]|88]| 60|68
TC mg/l | 20,4(19.1(19.2|18.6|17.9 /170|167 17.2(17.7]181]21.0|19.4)21.0[ 16.7] 186
D-0C /1| - | - | -] - -1-1=-1T-]=1=-1=-71-=-1-1-=-1=
*‘peoc fmgt | - | = | = | = | = | =] =] =] -|=-1]=1]=1]=17]1=1=
D:Fe mg/1| — | = | = | -] -t -] =1 =-]=]=1=-1=-1=1=1-
D:Mn mg/1} - [ - - -] -] -T-1T-T=-1T=-1T-1-=-1-T-7T=
Fe e sl I N R N I e O I N O e e
Mn mg/l | — | - | -] - - =-]-1T=-1=]=-1=1=1=-1=-171-=
W E # | 9801 [185[ 13014101178 10120 4] 164142 8.2 |2l.4] 8.2 | 131
BER0°C) [ws/on| 317 | 825 | 382 | 270 | 443 | 970 | 829 [ 844 | 356 | 349 | 412 | 378 | 443 | 279 | 357
Ca mg/l| - | - | =] - - =] =] =-1=]=]l=1=1-1=1-=
Mg mg/l | —

p H4.87 ) Y| mg/1 | 55,8 | 57,4 | 56.1[ 51,0625 48.8 | 553 60.6] 61,5 56.8 [ 64.7 | 50.7 | 64.7 | 48.3 | 56.7
pHO. 0% [ mg/1 | 8.50[20.47(13.18]32. 95| 66.5 |25.67] 7. (8 | 7.59 | 9.43 | 5.94 | 4.83 | 5.09 | 66.50] 4.83 [ 17. 28
PHIOFNAVE[ mg/1 | — [ = | - | - [ =T -1 - 1T -1 -1 -] =-—T—-1T=—17-=7T-=

S0,%° /1 - [ - T -1 -1 -1T-1T-1T-T-=-1T-T=T-1=-1T+=
Ci1- mg/1 | 44.7 | 49.7 ' 52.0 | 40.7 | 54,1 | 58.4 | 51.2 | 52.8 | 52.5 | 28.5 | 70.8 | 59.6 | 70.8 | 28.5 | 5.2
N a /| - | - [ - [ -1 = [ - [ -1 - -1 =T -1 -—1T=71T-
K g/l - | - | - | - [~ -~ |~ [ =1 =T -1 -1 -"1T="1“="1=

ECEE PR 770 N I N I B S S I A I N e =
A=Y ng/1

I
!
I
|
(
[
I
I
|

Chl-a g/ 1169714750702 142.2157.5(88.1]32.9(85244.4[87.5]57.6/40.1]70.2]329]47.3
Chl-b pg/1l 16140 901]79/83 (28] 1784536 383]|45] 324l 16 5,1
Chl-c pg/ 1] 10,2 6.6 [17.8[10.5[15.01 41|54 128766562 72[172.8] 1279
T xA74F v (ug/1] 1.9 18 29.6 | 7.5 [13.2] 52|68 | 1.0 31]65]|11.8| 4.6 [29.6] 1.0 | 7.8
et AV REREH | ng/1 — — — — — — — = — — — —
i *Enorﬁa(mﬁoﬂﬁa_wsmm 3, P-ON=(ON)—(D-ON) 6. P-TP=(TP)— (D TP)
1.P-COD=(COD)—(D-COD) 4 D-TN=CIN)+(D-ON) L. TC=(1C)+(TOC)
2 IN=(NH4-N)+(NOQNY+H(NOS-N) . 5. TN=CINJ+C(ON) 8.P-0C=(TOC)—(D-0C)




_ KEER (20 2)

[ ziea JEE A I KR4 FUARJI Jl[4 Sk 1 1 4E(19094FE)

H H BMir [ 1/5 | 2/2 | 8/2° | 4/13 | 5/11 | 6/8 | 7/6 | 8/8 | 9/7 | 10/6 | 11/9 | 12/1 | K4l |JR/ Ml | F-44E
2—-MIB 8/ 110.007/0,006]0,015]0,086)0.001]0,008]0.043[0.011}0.042)0.000/0.001]0.002/0.086]0.000]0.019
VARI YV 28/ 1[0.080]0.017/0.018]0.080(0.003]0.014/[0.028/0.004).0.012/0.001}0,001]0.002]0,080/0,001/0.018

Vno 2y e iRAECTINRPY | mg/1 | 0. 08310, 068(0.075/0.061]0.132)0.074]0.104]0.108[0.109]0.097/0.074(0.070(0.132]0. 061 0. 088

JookvhE kAR | ng/l — — — [0,027[0.046(0.022]0.046)0.052]0.052|0, 039]0.022]0.021]0.052|0,021]0,0386

7 ovy gty | mg/l | — = — 10.022(0.046]0.026]0.036(0.036]0.036/0.0385/0,027)0.026/0.046]0, 022 0. 032

V7 o | mg/l | — — = [0.011[0.084]0.022(0.020]0.018/0.018(0.020{0,0210.020(0.0384]0,011]0,020

7 kA REE | mg/l | — — — [0.000]0.006)0.004]0.002]0.002]0.002]0.008]0.004(0.003]0.006/0.000]0,003
TN_EE mg/l | 114 | 105109116 0.93.(0.83[0.81]0.80]0.83|0.80 114|070 1.16]0.70]0.95
T NHE mg/l [ 1.10]1,06]0.92]1.28)1.09[081[0.84[0.86]0.820.79[110]0.71]1.28]0.71]0,95
TNFE mg/l | 1,15 113 1.4911.15)1.18]0.83]0.84|0.81)0.83|0.84|108]|0.81| 1.49] 0.81| 1.01
TP LB mg/1 [0.0830.064/0.092)0.098/0.113]0.057]0.099{0.089/0.106(0.096]0.073/0.052[0.113]0. 052/ 0. 085
TPHE mg/1 10,127]0.061/0.089/0.091]0.127{0.059]0.101]0.097/0.114]0.090/0.073/0.056]0.127]0.056]0,080
TPTFE ng/1 | 0.086]0.065]|0,133]0.098]0.132]0.064(0.103[0.091]0.118]|0.085[0.075/0.060]0.138]0.060]0.093
CODLtE mg/l | 7.54 | 6.58|7.86 772|744 |6.27|17.88|6.74]7.28|7.88]9.72|6.71]9.72]86.27[7.38
CODHE mg/1 ] 6.98 | 6.48 | 7.44 | 7.85|8.26|6.08)7.08]7.56)6.78]7.45]9.12]695]9.12]86.08]73D
CODTFE mg/l | 7.80|6.08)800(7.47(8.19(6.23|710)6.72|7.26]7.84(8.97/6.95]|8.97 | 86.23]| 7.42

ki - akE °C - - — — — — — - — - —. -

Egil] °C - - - — - - — - - - - -
0.5m C - — — - - — — — - — — -
1.0m °C — — — - — - — - — — - -
2.0m °C - — — — - — — - — — - -
3.0m C — — — — - — — — — — - —
4, 0m °C — —~ — — — ~ - — — — — —
5 0m °C —~ — — — - — — — - — - -
6. 0m C — — — - — — — - - - — —
EH c | - [ - | -1 -1 -"1T-=-"T-=-"1T-T-T-T-=1-=
% DO 7kt | mg/l — — — - - — — — — - - -
Eed1i] mg/l | — — — -~ - - - - - - - -
0, 5m mg/l | — - — — - — — — - - - -
1.0m mg/1 — - — — - — - — - — - —
2.0m mg/1 — - — = - — - ~ - — - -
3. 0m ng/l | — = - - - - - - - - - -
4. 0m mg/l | — — ~ - — — — — — - - —
5. 0m mg/l| - | - | - [ - -1 -T-=7T-T=—T=T=1T-=
6. 0m mg/1 — - — - — - - — - - - -
JEH mg/l‘ — — - - - — - - - - - -
PRE kE| Lux — — - - — — — - - - - -
FEE Lux — — — — — — — — — — - —
0.5m Lux — - — — — — — — — — — —
1. 0m Lux — — — ~ — — - - — - - —
2. 0m Lux — — — — - — — - -~ - - -
3. 0m Lux — — — — —= — - — — - - -
4, 0m Lux — —~ - = - — — - = - — -
5.0m wx | - | - [ - [ - =T =1T=-T-T-1T-=-T1T-71T+-=
6. Om Lux — - - — - - — — — — - —
B Lux — - - — - — — — = - - -
JERBH . EORP | nV — — — — — — — — — —~ - —

%

¥ DOID Oz L Aolleii R




KEFHE (2D 1) ‘
wllrd (S k%A RAR L 4 At : SERK L 14EC19994F)

H H | Bar | 1/6 | 2/2 | '3/2 | 4/14 | 5/11 | 6/8 | 7/6 | 8/8 | 9/7 [ 10/6 | 11/9 | 12/1 [FRAE|R/ME[ 2 (E
X #® - B | K& B B[ B8 8% F |2
B EZ B4y 115:50] 15:45]16:01] 8:12 |15:12]15:21]15:27]16:30|14:51|15:14|15:28[14:41
Lk m 7451 7.40 | 7.50 | 7.85 1 7.53 | 7.80 | 7.94 ] 7.85| 7.50 | 7.75 | 7.75 | 7.65
Hakkg m 0.50 0,50 0.607]0.50]0.50]0.50/[050]0,50[0.50]0.50]0,50]0.50
R °C 8.9 1102 18.2|19.4]15.7|24.8|21.5|32.4]29.5|22.4|17.5[18.2].
KR °C 7.8 | 7.0 | 85 [150(19.1[23.8[23.5]29.3]|27.8|22.8/[16.6]12.8)28.3| 7.0 | 17.8
N (D —  |RnE BgiER| BB HRILE| BHRIRR | YRISE| RIBE RIS | RIIBE| MRIER| BRI | BRBE
2 K G5k - R R R | MR | R | R | R R | R | R | R | KR
HERE ~cm | 4L5(40.0]286]20.4)27.5/.86.2]26.5(25.7/82.0)34.0/33.0]3L8
FEIAE m- | 0.65]0.68]055]0.400.40({0.75]0.55]0.40]0.45]0.50]0.55]0.50] 0.75] 0.40 [ 0,58
KB — 15 16 16 16 16 16 16 15 16 15 15 15 .-
pH — 8.21 1823 /862|9.13/8.72]854]842/894[8.06[8.24]8.21]870]09183]8.06] 8.50
DO mg/1 |12.50]12.95[14.42(12.39] 8.86 | 9.54 [ 9.39 ] 9.93 | 8.20 ] 9.33 [10.61(10.21[14.42] 8,20 | 10. 69
BOD mg/l [ 3.01)3.34(364]490] 8. 65 3.95]8.79(4.29]3.93][4. 06 2,491 8.60-] 4,90 ] 2.491 3. 72

ATU-BOD [ nmg/1| - | = — -
CODOn) [ mg/1 [ 7.53]7,19]7.26] 758 7.94 5,65 8.26 | 8.45 | 8.85 8.70 8.51 (869885565788
D:CODG)| mg/l | — — — - z — Z Z = . _ _ — - —
*P.CODQ)| mg/1 | — PR - - — _ - — — v
COD(Cr) mg/1 — = — — — — — _ _ — _ — — — —
D-COD(r)| mg/l | — — N - | = — — _ _ = _ _ - _

S8 mg/1 ) 8,7 | 87 {11.5(185|17.2| 84 |16.4[12.7[12.7]|11.2|11,5]|11.7) 185 8.4 | 12.4
RIEER S [wi/10om| 4, 5B40) 2, 26+1 |2, 3E+1|4, 9B+1)2, BE+L| 1. TE41|7, 9E+1 |4, 0B+0| 2, BE+4|7. 9E+2|3, 8E+1| 4, GE+0] 2. 3E+4 | 4, 0B+0| 2. 0E43
TN | mg/1 [0,97)1.07([1.08(1.27)0.84]0.81)1.08]1.12|1,21)1.09]1.03)1.22([127]0.81]1.06
TP mg/1 | 0.064/0.070{0,087(0,090(0.089]|0.074|0.124)0.164/0.289]0.165/0.094|0.088]0.289|0.0640,117

NHy—N.- | mg/1 [0,00]0.08]008]012[001]002]0,06]012]0.02]0,02]0.08]0.05/0.1210.01]0.05
‘NO,—-N mg/1 |0,008]0.006]|0.012{0.016/0.001]0.002]0.004/0.001({0.109[0.082]0.011]0.015]0.109]0.001[0.018].
NO;—N mg/l [ 0.1810.4410.43)0.200.01]0.02]0.05[004[0.05[0.15]0.280,20]0.44]°0.01]0.17
*IN mg/1 | 0.15]0.48|0.52 | 0.84[0.02110.04]0.11[{0.16]0.18(0.20]0.32]0.26]0.52]0.02]0.28
ON mg/1]0.811067]0.62]095]/085]078]097[1.00]1.06]095]079]1.00] 1.06]0.62]0.87
D:ON mg/t | — | - | - | - -~ =T -1-1T-1T-=-1T-1=- — - | =
*P.ON ng/1 - — — — — — — — — — — — — —
*DTN | mg/l| — - - — - il i - - - — — - -
*TN mg/1 10.96] 1,15 1.14 | 1.20[0.871]0.82 | 1.08 [ L.16 [ 1.24 | 1. 15) 1. 11 1.26] 1.29] 0.82 | 1. 10
D«PO4—-P | mg/1 |0,008]0,002]0.,002[0.002]0.004[0.005]0.021]0.068[0.187/0.080]0.019]0,002]0.187]0.002]0.083
D:TP g/ | - [ - - [T -T-1T-T-T-T-T-T= -1 -1 -

i S S Y72 I I I I T T - -
I1C - |mg/ | 1L,4]10.6]10.6)13.4]14.2|14,3)16.5(13.83]13.9|14.6]14.0|14.2]16.5] 10.6 ] 13.4
TOC mg/l| 6.1 )63)]|70[73]69]581)70)|83]|83]72]66]| 80|83 51 7.0
*TC mg/L [ 17.5] 1691 17.6120.7 21.1)19.4]28.5[21.6|22.2|21.8)|20.6|22.2] 235 16,9 20.4
D:-0OC ng/l ] — - | - - - - ~ - - -

‘p.oc Jwmn| - | -] -] -] -1T-/-]-7T-]T=-]T=-7-1T=-71=-17T=
D-Fs¢ mg/l| — [ = | - | -—T-T-T=1T-T-T-=-=T-=-1T-"T-T-=-71T+=
D:Mn g/l - | - | - | -1 - [ = -/ =1 =-T-1T-1T=""1T-="1T-=1-
Fe ng/l | — - - - —- - - = - - - - — - -

Mn  |mgl| - [~ = =T -—T -] -T=-=T-T1T<-1T-T"-1T-17-1+=
W JE | 11.8|10.013.0]26.0 25.2 | 11.4]20.219.8]17.2] 18.8] 18.5] 16.8] 26.0 | 10.9 | 17.4
BER(20°C) |us/cm| 269 | 267 | 288 | 262 | 273 | 289 | 204 | 275 | 300 | 284 | 271 | 288 | 300 | 262 | 280
C a mg/l — — L ] b — — . — — — — — — — —

Mg ng/l | — -] = - - | = - - - - — - - - -
pH4.87 /b4 K| mg/l [ 59,159,662 |631[621|641|661|67.1)751)682]761|76.0]761]59.1] 666
p HY. 0% B mg/1 | 81450881 — |852|504|504[302]|6.54]8.52|883]|503]8.10].3.02]|4.72
pHO. 07 VA VEE mg/l | — - = L0l - — - — i - = - — -
$0,°° |mg/i| = | = | = | = | = = [ = [ = [ =1 = [ =T =1T=17=71=
Ci- mg/l | 34.4 854 [°38.9|36.9|37.987.0(38.9]38.4|41.9]41.8]39.8|41.8 41,9 84.4| 38.8

N a ng/1 — = C— L — - — — — — = — — - — —

K mg/l | - - | = - - = - - i - - - - -

T + 810, g/l ] — - 'I."f— - | =1 = - - - =1 - - - — =
BBy YN | me/l] — | — T =1 =1= e I N
Chl-a g/ 1] 83.7] 658 79 21130.6| 67.7 |-40.8 83 4 92 3[81.8/78.6]61.2|87.4]130.6| 40.8 | 77.7
Chl-b Jpg/t] 141 08102 25]061]251]08]29]38]381]06]18 3.3 0.2 1.8
Chl-c pug/1] 9.2 |188)11.2116.8112.83] 6.7 | 89 [ 81 | 6.6 8650 (11.0]18.3] 50 | 0.2
J2A74F v \ug/ 1] 15.2 24 8 15 5122.7]22.4]14.6] 27.4 30 4128.5]83.4[21.2]222 33.4 14.6 | 23.2
A 4 REER | ng/l — — — — — — — — — —

E3 ‘ *Eﬂdﬂﬁafmﬂ@a‘rﬁkxoﬁ&m 3, P-ON= (ON) (D-ON) 6. P-TP=(TP)—(D-TP)
‘L P-COD=(COD)—(D-COD) 4L D-TN=C(IN)+(D-ON) 72.TC=(1CY+(TOC)
2, I N=(NH4&-N)+(NO2-NI+(NOS-N) - 5 TN=(LNY+(ON) 8, P-0C=(TOC)-(D-0C)




CKEfEE (2D 2)

Ballpig Fivia k%% FUAR TNIES PR  EpE 1 1 4E(199948)

H H Bfr| 16| 2/2 | 8/2 | 4/14 | 5/11 | 6/8 | 7/6 | 8/3 | 9/7 | 10/8 11/9 1271 |JRAAE [/ ME [
2-MIB wg/1[0.006]0.005]0.0060.009/0. 084]0.046(0.007/0.018]0.003/|0.006[0.006]0.008]0.046]0.008]0.013
VARV g/ 1]0,011]0.005(0.004]0.264(0.007[0.036)0.046|0.016/0.008]0.005]0.002]0,003)0.264]0 002] 0,034

Mg o RaECINERY | mg/1 | = — — — - - — ~ - — —. — - - —

povtiAERREE | mg/l | e | - | - | = | =) =~ | =] =]~ | == ] = =] -

7o ot | mg/l | = - - - — - - - — — = = -~ — -

Y 7teeddi iR | ng/l | = — — — - - - — — - = - — — —

7 othph AR | mg/1 ] — — — — — - — - ~ - | =1 = ~ - —
TN_LE mg/1 [ 0.97 | 1,07 .08 | 1.27 | 0.84)0.81]1.08|1.12]1.21|1.09] 108 1.22]1.27 |0.81 [1.08
TNWE  wg/t | - | — [~ | - [ = - - " - - -] =]-1-1-T7T-.
TNTE mg/l [ 106 1.01]1.08[1.82]0.78)0.83]0.98|1.05]1.25| 1.18]0027]1.85]1.85 |0.78 |1 07
TP LEE mg/1 | 0,064]0.070{0.087]0.090]0.089[0.074/0.124[0.164|0.289|0.165{0.004[0.088]0.289 10.064 [0.117
T PHIF ‘mg/1 - - - - — - e - - - - - = -
TPTE mg/1 |0.070)0,068]|0.076(0.094]0.084/0.077]|0.107]0.168|0.808|0.172/0,0983)0.088]0.308 [0.068 [0.117
CODLE mg/1 | 7,653 (7.18]7.26|7.58]7.94|5.65(8.268.45|8.85]8.70|8.51]8.69]8.85 |565 |7 88
COD$)E mg/1 — - — - — — - - - — - - ~ — -~
CODTRE ng/l | = — — — — — - — — — - — ~ — —

ki kb | C | — | - | -] = | =] =-]=]=1=1]=1=1=

T C | o[ T - - =—[-T-T-T-T-T=7-=
0.5m °C — — - — = — — — — — — -

1. 0m °C — — — — — — — — — - = -

2. 0m °C — — — — — - - — — - — —

3. lm °C — — — — - — — — = — - -

4, 0m °C — — — — — — — — ~ — — —

5 0m °C — — - — — — - = — — - —

6. 0m °C - — — — — — — — — — - —
JEiTT c | - - [ = -[-[-t-T=1T-T-T-71T<=

* DO K.E | mg/1 — — — —~ — — — — — — - -
il mg/l | = | - [ — [ — = — e

0. 5m mg/1 —= — - — — — - - — - - -

1. 0m mg/1 - — — — — - — — — - — —

2. 0m mg/1 — — — — —= — — — — — = -

3. 0m mg/1 - — — — — - - — - — - -

4, 0m ng/1 - - - - - — — — - - - -

5, 0m “mg/1 - - — — - — - — - - - -

6. 0m mg/1 — — — — — - — - — - — —
B /L — [ - [ - -1 - [ - - —T-T-T-1T7=
AKABE KE| Lux | = - — - = - - - - - - -
. W Lux — — — — = - - — — — - —
0. 5m Lux | — — - — — — — - - - — =

1, 0m Lux = — — - — — - — - - = -

2. 0m Lux — — — - — — — — — — - —

3. 0m Lux = - - - - - - - - - - -

4, 0m Lux -, — — — - — — — — — - -

5 0m Lux = — — — - — — — — — — -

B, 0mi Lux = — — — — — — — — — — —
JEH Lux — — — - - — ~ — — - — -
BFWBEORP | w | — | — [ — | — [ — T = — [ — [ - - —T—

1%

¥ D 02D OFFIC & 4 EHE




KEER (ZD 1)

P 200 NETA FARJ] - SRIES 4k A% 1 1 £E(199948)

1 B | Bor | /6 | 22 | 8/2 | 4714 [ 5710 | 6/8 | 776 | 879 | 9/7 | 1076 | 11/9 | 12/1 |Bkfl|B/IMEEH4E

& - ITw.l 8K | K| 8 [ /B[ &%/ ®|8B| 8| | &8

Bk R esy [15:92]15:20]15:48] 7:47 | 14:48]15:00]15:05]16:00(14:32]14:52[15:08[14:22[.

£k m [6.46]6.50]6.856.40]6.70[6.53/[6.80]6.80]86.60][6.80[86.70]86.70

Hakk m |0.50]050]0501]050]050]050][0850]050]050][050]050][0 50

& i °C | 9.8 110.0[18.6[10.4]1571924.8[21,3[81.6]29.6]225]19.8]13.5

7k °c | 787088152118 1]2381230]20.8]27.0]22.5][16.6]12.81208] 701177
Y& () R T b T e e b e N T L
R ORGEE | - R ER | R | R R | R | R | R | R | ER | R | kR

B em | 50¢ [42.0]27.5]29.4(8L.0]384.7[26.0[24.7([30.0[34.5]26.0]34.0

BIHE m | 0.75]0.70]0.55/[0.50]050]070]0.40/0.40]0.50]0.50]055/]0.60]075]0.40]0.55

7k — 15 | 16 | 16 | 16 [ 16 | 16 [ 16 | 15 | 16 | 15 | 16 | 18 '

pH = 17.95]7.89)8.46/8.38[8.15/8.05]867(898]8.63|8.46)8.398.61]8.98]789]8.39

DO ng/1 [11,50]12.7214,12/10.83] 9.08 | 8.84 | 10.85[10.54] 7.27 [ 9.52 [11,16]11.30f 14. 12] 7.27 [ 10. 60
_ BOD mg/l [2.70]842[2.05|3.6418120315(374[38.04[84713.7412.802:96/0394]230103.26
ATU-BOD | mg/1| — - — [8.41]309]290]354]346]2.96]3.45]213]2.79] 8,54 | 2.13] 8.08
CODOn) | mg/l |7.81]17.89] 758680 ]758]659]844/[09.48(8.43/8.35)7.58(8.09]9.48[6.59]7.85
D-CODWn)| mg/1 [ 5.44 | 4.66]5.08]4.12]4.89]4.85]3.99(5.28(5.796.50|534]553]6.50][82099]5.08
PL.CODMR) | ng/1 | 2.87]2.78[2.552.77 319 1.74[4.45[4.20[2.64|1.85]2.24|2.58|4.45[ 174277
cOoD(Cr) | mg/1 |15 87]|18.94|14.87]13.85[13,97]12.87/19.80] 21 00[19.70]18.90]17.90]17. 02|21, 00| 12.87]16 52

D-COD(Cry| mg/1|9.01)9.127.89|9.83|773|720/856|06.80|10.90 12,60]10.50)11.73]12.60] 7.20 | 9.49

.83 mg/L | 6.0 | 6.5 120 11.5({125) 86 |17.2]14.5]12.2]10.7|11,.6]10.0] (7.2] 6.0 | 11.1
KIBBEES  [wewao0a1[7, 8E40| 1 TE+1| 1 3E+1[ 1. 8B+2| L 1E+1[7. 8E40( 7. 9B41|2. OE40(3. 3B+3] 2. 2B+3[2. 8B+1[1. 1E+1| 3. 3B+3| 2. OC+0 | 4. BE42
TN mg/1]0.72|0.71)0.69]0.58|0,60]0865)0.97]102[0.97]0.93[0865[0.84)1.02]|053]0.79
TP ng/1 | 0.054|0.053/0.064(0.043/0.063(0.056]0.111/0,150]0,234]0.151]0.090/0,086f0.234|0.049]0.095

=
(=1
(=3
=
<>
g

NH,—N mg/1]0.01[0.02)0.04]0.01]0. 0.02 | 0.02 0.02)0.02)0.02[0.02] 0. 0.00 ] 0.02
NO,—N ng/1 10,006(0.003)0.004|0.000|0,001[0,003)0.002]0.000]0.002|0,0603]0.016)0.008]0.616]0.000]0.004
NO;—-N mg/1 |1 0,1010.07(0.01(0.07]06.0010.01]0.02 0.0010.0110.06{0.04 0.0010.04
*IN mg/1 | 0.12]0.09]0.05|008/00611]0.08]0.04 0.03)0.08|0.1010.06 0.01]0.086
ON mg/1 | 0.69[0.65(067]0.52]0.65]0 66005 0.9910.94 0. 78 0.84 0.52 ) 0.78
D:-ON mg/110.40]0.33)0.26|0.16|0.24]0.32])0.41 0.49 | 0.50 | 0.39 0.38 0.16 | 0.85
*P + ON mg/1]0.29]0.32]0410.36/041]0.34]0.54 0.50 ] 0.44 | 0. 89| 0.46 0.29 | 0.43

~lole|ele|e|e
Do (oo |
Do oo (e |do oo | i

S S e I Y P
S =
OO |7 | QD | s |
oo oo
DlD | |w | |||
o
[a ]
-

DTN | mg/1]052]046]0.81[024]025]0.95]045 0.52]0.53]0.49 [ 0.44 241 0.41
AT N mg/1 | 0.81]0.74[0.72]0.60]0.661] 0.69 | 0,99 1.0210.970.88]0.90 0.60 | 0.83
D PO4—-P | mg/1 |0.008]0.005]0. 004]0.001]0.008]0.006]0.005]0.053]0.132]0.070]0.018]0.003] 0. 0. 001] 0. 025
D-TP mg/1 | 0.028]0, 024]0.032]0.016]0. 016]0. 0240, 0281 0. 074]0. 169]0. 087[0. 027]0. 017]0. 0. 016] 0. 044
*PL.TP ng/1 [0.031]0.029(0.032]0.033]0.047]0.032[0.088]0.076]0. 065]0. 064]0.063] 0. 049] 0. 0. 0291 0. 051
1C mg/1 | 10.2]10.5[12.0]13.413.9[14.1]158[13.2]14.5|14.9[13.8[14. 8| 15.8]10.2 13.4
TOC ng/1 [ 67]61]68 556868778982 7n4[70]78[89]53]710
*TC mg/L | 16.9]16.6]18.8(18.9/20.7]19.423.5(22.1[22.7]22.3]20.8[2L.6/[235]16.6]20.4
D:0C g/l | 411481394187 [40(382]48 544745 42543242
*P.0OC mg/l| 26 L8 20 (L4813 45412827 ]as 3145 L3] a7
D:Fe mg/1 | 0.06] 0.04]0.02]0.06/0.09][0.02[0.061][001[0.00]0.01]005[0.10]0.10]¢0.00]0.04
D - Mn mg/1 [ 0.00]0.00[:0,00]0.00]}000[000]0.00]0.00[000]000]0.00]0.00][2000]0.00]0.00
Fe mg/L | 012013011 0:180.8510,09]0.86[0.21]0.20(0.08]0.40]0.25] 0.40]0.00]0.21
Mn ng/1 [0.010:02]0.02]00370.04[002]008]0.08[0.08]0.04]006]008]0.08]001]0.05
w K B 0.3 9.0 181115 1]188110,5]22.0]20.2]161[18. 1209150} 22.0( 9.9 154
RERR(20°C) [es/em| 279 | 266 | 298 | 312 | 284 | 908 | 810 | 292 | 327 | 322 | 310 | 306 | 327 | 266 |. 301
Ca mg/1 [17.48] 17.0[18.3( 17.8] 18,8 17.0]18.2]18.2|14.9[14.0 158/ 16.8] 18.8] 138.2] 16.7
Mg mg/1 [ 7.6818.4808.05]869]09.1816.88[7.95[781[7.97]17.74/802[7.64]9.18]6.88]38.01
p H4, 87 Y BE| mg/1 | 56.6 | 55. 1| 67.1[62.1]60.1]62.0[72167.6]74.8[7L1[76.1][64.2]76.1]551]650
p HO, 01k | mg/1 | 6.6 [5.50]4.03]453]|4.53]4.03]4.58[ 1.0L[5.53]393]423(553]6.60]1.01][450
pHO 07 A VB ng/l | — — - — — — - [ .- — — — — -] = —
S0,%° mg/l [ 24.41927.8[20.0(20.3)26.0026.2]27.5]21.7[23.8]|18.8[18.0]18.2[29.8]18.2] 24,8
Cl1- mg/l | 37.4180.47]45.9(48.039.9[40.9[42.0]39.4[44.1[46.8|42.8]43.8]46.8] 37.4]42.1
N a mg/1 | 26.3130.2[80.7(364]370]20.4]285|27.4[28.1]28.6]358]32.6]836.4]26.3]30.6
K mg/l | 4771553 (6.32.(6.49[6.86[4.19]5.20]590][5.26]4.90[5.23]450]6.86]419]5 .48
T - 8i0, mg/1 [-9.00] 18,6825 10.2|44.1(13.5(16.6]15.2 ]3804 18.7[20.4[16. 2] 44.1] 9.0 | 20.0
e A | mg/1 | 6.41]8.16(10.86(8.16(8.23[6.20]0.17 ] 7.06[10.04] 9.62 |11.91] 9.22[19.86] 6.20 | 9.50
Chl-a ug/ 1149.2149.6156.2(92.2(42.6[31,2(75.2(853[78.2(81.7/69.7]53.8]853]|3L2]582
Chl-b vg/iloasle8loasltalosloadslot|oo]lasld4s] s3] iyss)ol]eas
Chl-c wg/ 1] 7.8 117.8] 9.4 52 (7906180676709 ]|61|66]17.3]52]80
TJaAT7 45 ug/1] 144168144 8.8 [ 14.0]10.9(23.838.0]25.4]23.1[16.0]19.8]38.0] 8.8 | 18.8
A v REEER] ng/1 10,041 0.08]0.02]0.03]0.00]0.00 0.01[002[002]0.02[001]10601]004]70700]0.02
e XENDIE B ILRADFIZ & b kbl 3. P-ON=(ON)—(D-ON) 6 P-TP=(TP)-(D-TP)

I.P-COD=(COD)-(D-COD) . 4, D-TN=CIN)+(D-ON) 1. TC=(ICYH(TOC)
2. IN=(NH4-NI+H(NO2-N)+(NO3-N) 5 TN=CIN)+(ON) 8. P-0C=(TOC)-(D-0C)




KEEE (20 2)

BUIPTE SR KA FUAR)I| 14 Abidl SRR 1 1 4E(109948)
H ~H Hfir | 1/5] 2/2 | 8/2 | 4/14 5/11 | 6/8 | 7/6 | 8/8 | 9/7 | 10/6 | 11/9 [ 12/1 |FBAAE e/ Mitl[SEL4H
2-MIB 48/ 1]0.007]0,006|0,006)0 011]0,049]0.048]0.010]0.023{0,002]0,008]|0.006]0.005](0 04940, 0020016
o g/ 110.012]0,005[0.008]0 119]0.005]0.066(0,078]0.022]0.002[0.008]|0.002]0.002 0. 119]0.002]0.027
FinopviE BAECTINFP) | mg/1 - — — —_ - —. — — — — — — — — —
pombbgERRE | mg/L | — | - | - | - [ - - - T =T -1-T-1-1T-—1T-1T+-
770y poaddv i | mg/l -~ - - - — — — - — — — — — —~ —
77 0RRMVER | ng/l — — — = — — — — — — - — — — —
7T oekphE el | g/l | = | = = - = - — - — — - - - - -
TN_EE mg/1 1 0.72 10,70 ]0.69(0,53]0.60]0,65]0.97| 1.02[0.97]0.93|0.85]0.84}1,02 |0.58 |0.79
TNHE mg/l 10,79]10,72[0.72]0.55)0.66]0.62]0,.94]1.01]0.96]0.95|0.81]0.83[L01 [0.55 |0.80
TNTEB mg/t | 0.81|0.71)0.68/0.60)0.86|069[095]1.00|098]0.98|0.81|0.80([00 [0.60 |0.81
TP.LE mg/1 |0, 054]0. 053[0,064]0.049)0.063]0.056)0. 111{0,150]0.234]0.151]0,090)0.066[0..234 [0. 049 {0. 095
TPEFIE mg/1 [0.058]0.0540.062|0.054]0.060]0.054]|0.108[0.152]0.237]0.154|0.085/0.067[0.2387 [0. 053 |0. 095
" TPTFE mg/1 [0.060]0,051]0.066]0.057]0.059]0.0565[0.115[0.151]0.248]0,158]|0.085]0. 070]0. 243 [0. 051 [0. 098
CODLEE mg/l | 7.81]7.39]7.58)6.80]|7.58|6.59]844(9.48(8.43(8.35([7.58]8.09[9.48 [6.59 [7.85
CODHE mg/l | 7,28 | 7.18[7.5417.84)7.60)5.85)8.10(8.69(8.20]8.08[827) 752|869 |58 (764
CODTFE mg/l | 7.85 7,28 7.44)7.84.| 7.56 | 6.818.428.93(8.25]8.23|827| 7721893 |6.81 |7.75
7J(inET!1 7J<_t °C - — — — - - — — — — — —
RiH °C 7.7 1 6.4 | 80 | 14.5]18.9)23.8|23.3/20.6[28.2(227]165]12.7
0.5m °C 7.7 16,2 | 80 [ 14.5]19.0)23.8[23.3]29.5|28.1]22.8]|16.5]12.7
1. 0m °C 7.1 159 | 7.9 | 147190237 |23.4|29.5[282]228][165]12.6
2, 0m °C 7.0 1 5.9 | 7.9 [14.6]19.0]22.9]23.4|29.5({281]|228]|16.5] 126
3. 0m - C 7.0 [ 5.8 | 7.2 | 1411180225233 29.5(280]22.8]16.5]12.86
4. 0m °C 6.9 158 | 7.0 [18.9]19.0[225]23.8]|29.5/[28.0]227]|16.5]12.6
5 0m °C 6.9 1 5.8 6.9 [138[18.9(22.5/[23.9[29.5]27.6[22.7]16.5][12.6
6. 0m °C 6.9 | 58| 68 |18.7)189|22.4|23.3]29.5[27.6|22.6]|16.5]12.6
s °C 6.9 | 5,8 | 6.8 [18718.9|224|23.83)|29.4)27.5|226]16,5]12.5-
%D O Kb | mg/l | — - - - - — — ~ — - - -
FETH mg/l 10,4 11,8)125[10.0{ 88| 7.1 197 ] 898189 /([10.2]10.7
0.5m mg/1 | 10,2 1L0]12.4]10.,0] 88 | 6.9 [ 97| 89| 81| 88 |10.2]10.7
1. 0m mg/l | 9.6 |10.6[122]10.1{ 88 | 6.8 9789|860/ 88 |10.5]10.7
2. 0m mg/l | 9.8 |110.0/11.4]10.0] 88 | 6.8 | 9.6 89| 7.8 87 ]10.5]10.7
3. 0m mg/l {1 9.1 )98 110.6) 97187 ) 65| 96)87] 7686 )10.5]10.6
4, 0m mg/l | 82 | 7.1 [10.1] 9.6 | 87| 6.3 9.6/ 86| 7.5][84]10.5]10.6
5 0m mg/l1 182 | 69|97 |96 |86 6195|8268 79 ]10.5]10.5
6. 0m mg/t | 7.8 | 6.5 (98] 9285|5495 | 796477 10.8][10.38
R mg/l | 4.5 | 4.8 (.88 187 |61]|883)|44]01) 4747|761 176
KB skk | Lux | 4630 | 8490 | 16800 | 64800 1370082700 (9290048300 (292001 25600]11500] 11600
=zm Lux | 3580 | 7870 | 1060058300 [11000|81900)|85600]44400[23400(23900]10800] 10400
0. 5m Lux | 1460 | 1800 | 8150 [ 17400 8480 [17000]| 2040012800 7790 | 5690 | 5230 | 2860
1. 0m Lux | 527 | 661 | 1420 4710 885 | 8410 | 8310 | 2230 | 1680 | 2240 | 325 | 651
2. 0m Lux | 191 | 214 | 240 | 1230 | 124 | 1410 | 161 | 127 | 262 | 1010 | 111 69
3. 0m Lux 60 62 68 336 | 18 | 258 [ 39 27 64 124 T 10
4, 0m Lux - 4 29 | 105 | .5 114 7 14 25 18 — —
5. 0m Lux - 0 6 29 0 46 0 = 0 7 — -
6. 0m Lux = — 1] 8 0 0 0 — - 0 - —
BT Lux — —~ — — i — — — — - —
BEREHEORP | ny 338 | 115 | 38 330 | 77 122 | 278 | 202 98 107 | 66 -96
T % DOMD OFFic & A MERER




KHEFEHE (£D1)

HHEA HEAR P FUAR)I] RN |2 lAT:] : Pk 1 1 4E(199948)
5 H | Bfr | /6] 2/2 | 8/2 | 4/14 | 5/11 | 6/8 | /6 | 8/3 | 9/7 | 10/6 | 11/9 | 12/1 |FReIRA|Joe/ il | S Ed
R_1& - | B | WM RO & | B W | W R E | &
PRk Kisy |16:16)15:02(15:30 | 7:29 | 14:31(14:44)14:47)16:45)14:15]14:35 | 14:45| 14:05
ARH m_]287(222|210(210]220]220]220]200|220/2400]2.10) 210
Boksk g m [0.50]|650)050]|050(650(050]050]050]050]050°]050)0 50
% i C_|11.1]10.5]186[188 159|250 (22330,3}288]222]205]135
P C |72 |76 92 [157[189(24.6(237/30.1]27.6|21.8|17.0712.2]30.1| 7.2 | 180
A BCETD) = | PRABE| MRINE| MRI0T| RRISE | IRINE| MDD KNS UIBIN| MRS BRIRE| BRI BURIBE
R OR @R | - MR R RR R R R | R | MR R | R )RR | RR
BB cm | 50¢ | 87.0|26.5(22.0/29.0[250]15.2]|14.628.2)30.0]16.5])30.0 v
B m [0.9]0.60)050/040]0.45]0.50)0.30]0.35]0.50(046|028]0.45/090|0.28 047
K & - 16 |16 18 16 16 16 16 16 16 18 | 18 16
pH — | 7.81]809)823(801]794[790|8.63[8.90|816|843|812[8.05]890]781]|3819
DO ng/1 |10.58|12,21]18,02| .80 | 8,20 | 9.45 |10.26| 9.58 | 8.50 | 10. 09[10.42] 10, 09) 13, 02| 8.20 | 10. 18
BOD mg/1 | 1.46 | 8.72 | 3.47.|4.07]2.46 | 3.76 ] 3.43 | 4. 79 3.1711.9212.41]2.44[4.79|1.46 | 3.09

ATU-BOD [wg/1| - | — | = | = | — :
COD(n) | mg/1|7.18|7.79|8.06]750|788]766]|876 10.06 8.05[819[770]815]|10.06] 7.13 | 8.04
D-CODQ@m)|mg/1 | — | = | — | — | = | = | = | = | =|—=-1]-=1=1~= - -
'P-CODQI) | mg/t | —~ | = | = | = | =} = | = | = | = |- | ~] =
CODr) |mg/1]| — | = | = | = | -~ | -] - | =1=-]1=-1]=1=-1]1=1=7171=
D.-COD(Cr) |mg/1 | - | — | = | = | -] = | = | == —-—1]—=-1]=1=1=71=

S8 mg/l | 4,5 |85 157235165 |17.0]32.4(27.0(21.2]17.7|27.2]16.5[32.4]| 4.5 | 190
KIGEES  [wwvioa |1 1E+2| 1, 3E43| L. 3E+2| 2, 8E42| 1. 1E42| 2. 4B42| 3. 3E42| 3. BE+1| 1. 3E+3| 2, 3E+3|4. Oi+2| L. 1E+2) 2, 8E+3 | 3. 3B+1 | 5. GE+2
TN mg/1 [ 0.65}0.76|0.69|0.69)0.54)073|1,02)1.10/1.01)06.79)0.88)0.88]1.10]0.54] 0.81
TP mg/1 0.046]0.071]0.086|0.089(0.060(0.076]0.095{0.168]|0.129]0.120]0.100]0.072{0.168]0.046 0. 093

NH4—N mg/1 ]0.00]0.05[0.05]002]00f[000]002/001[013/008[005]/0.05/[018]0.01]0.04
NO,—N mg/1 | 0. 007]0.008(0.003]0,002]0.002]0,002]0.001]0.002]0.027]0.002]0.014]0.004[0.027]0.001]0.008
NO;—N mg/1 [ 0.1100.12]0.0310.05]0.00]0.01]0.05]0.05]000]000]008]0.05][01270.00]0.05
*IN mg/1 | 0.18]0.18]0.08[0.07]0.012] 0.02]0,07[0.06]0.25]0.03]0.15[0.10]0.25] 0,01 0.10
ON wg/l ] 0,57 [0.65]0.65[0.68]0.55]0.78]0.97]1,14]0.80]0.806]0.79]0.81[114]0.55]0.77
D-ON Jm/t| - [ -1 =T -1 -T=7T=1T-1=-1-T-T-=-71T-=71=7T+=
*PvON _|mNt| - | = - | =] -] -1 —-—1=-1-—1=1=171 =
‘DTN mg/1| - | ~ | - - - =] -] -] =] == =1 =1 =1 =
TN mg/1 | 0.70 [ 0.89(0.73]0.75[0.562/ 0.80] .04 1.20 ] 1.05]0.83]0.84 | 0.91] 1,201 0,56 0.86
DPO4-P | mg/1|0.008]0,002]0,004]0.004]0.002]0.005]0.003]0.052[0.055]0.028]0.010]0.004[90.055]0.002]0.014
D TP |uog/l| - | = | = =1 =T =1 =1-T1T-=-1T-1+= — | - 1 =
*P. TP mg/l | — | — | =1 - |

14,1166 155 14.6 | 14.8 14.2 | 14.4]16.6 | 11.2 | 14.3

1C mg/l | 18.0(12.3] 11,2150 15.5
TOC mg/1 16370168 6469174174197 (74179./68|71]971|638173
*TC mg/1 19 3/19.3[18.0]21.5 21 0[24.0[22.9|24.3)|22.2|23.4)|21.0|21.5 24 318,01 2L.5

D:0C ng/1 -
‘p.oc |mi| — [ - [ - T T -1T=—T-1T-
DFe |mg/1| — | - | — [ - [ - | - - [ - - -1 =T-1-1-1+=

T e e e e e e e I e I I e e e
Fe /| = [ = = = [~ [ = [ = = [ - [ [ = = [ = ==
Mn v/l - | = | - [~ 1 - [ =1 - -1 -1 [ [ =1 -1-

A )3 6.8 |10.7]17.0)28.3]255[21.3]89.3|43.6)26.2|21,4/39.8|24.2)|43.6] 6.8 | 253
HER(0°C) |us/cm| 388 | 448 | 378 | 393 | 292 | 440 | 352 | 348 | 529 | 470 | 363 | 461 | 529 | 292 | 406
Ca il - [ - | - | -1 -1 [ -1 -1 -1 -1 -1 -1-1-71-+-
Mg mg/l [ — - -

pH4 87 VA Y| mg/l | 6
p H9. 01 Bl ng/1 | T
pHY 07 NA VE| ng/l | —

so, 2 mh| - [ - -1 =-=1T-1T-T-T-"T-T-=-T-1T-"1T-"1T-1T3=-
cl- ng/1 | 62.7 | 81.9]66.8 66.8|42.1| 74.8| 53.8 | 62.1| 93.8 | 80.6 | 57.7 | 79.7 | 93.8 | 42.1 | 67.7
N a g/l - | - | - | = | - | - | = | -1 -1 -T-1T-=-=1T-1=1T-=
K e/l - | - | - | - - - - -1 -1 -1-=-1=1=71-71+=

T-SiOzmg/l———~~-~————————
BV A mg/1 1 - - - -

i
|

Chl-a ug/1]82.8 4 6.9 523 450 21. 6 67 65.2178.7 [ 44.7 (559659 |44.5]73.7]| 21.6 | 48.7
Chl-b g/l L8 8705 L4 L0 22082521 22|28 14[37] 03] L8
Chl-c wg/ 1] 1001471 9.0 | 5.8 4563646665 (87]907] 79147 451380
JaA74Fy lpg/1f 18411121 17.0 115 11,2112.3117.2117.8 1 17.0] 8.5 | 22.6 180 22.6 | 0.5 [ 14.9
BeA A REEWH | mg/l — — — — — — — — — —
e *Eﬂwlﬁﬁli&(‘ﬁoﬁ‘rﬁi’;bs}ibm 3, P-ON=(ON)—(D-ON) . P-TP = (TP) (D-TP)
,1L,P-COD=(COD)—-(D-COD) 4, D-TN=(CIN)+{(D-ON) 7.TC=(IC)+{TOC)
2 I N=(NHA-N)+(NO2-N)+(NO3-N) 5 TN=CI N)+(ON) 8. P-0C=(TOC)—(D-0C)




v OKEEE (20 2)

HWAPA MEAE K FE AR FIIA Akl SPRE 1 1 4E(10994F)
= B | B | 1/5 | 2/2 | 8/2 [4/14 | 5/11 | 6/8 | 7/6 | 8/3 | 9/7 | 10/6 | 11/9 | 12/1 ||/ ME | TFH 1K

2-MIB |ug/1]0,002|0.005/0 015/0.010(6. 035[0.025]0.011]0,0210,000)0.002]0.008]0.003]0.035]0.000]0. 011
VAAIY  |ug/1]0.008)0.004]0,010]0.071]0.0040.031(0,080]0.016[0.001]0.002]0.001]0.008]0.096]0.0081]0.020
Moy RAECTINFP) | mg/1 |0, 092)0. 12810, 0910, 115{0. 083}0.132]0. 178 0. 2090. 148{0. 156 (0. 135{0. 127] 0. 209] 0. 083 0. 133
pendhAde pGEE | mg/1 | — — 10.028]0.025)0.080|0.080|0.108]0.033)0.054{0.081)0.087(0.108]0,026]0.05/
Ty puasdveER | wg/l | — - — |0.040|0.028)0. 046 0,.050|0.062( 0,05 0. 04110.038|0.083[0.062]0.028]0.043
VI otivER | ng/l | — - — 10.036)0,024|0.044]0. 035/ 0.034)0. 051 0. 047 (0. 0308, 046] 0, 051 | 0. 024 ] 0. 039
7 nthpat pigE | mg/l | — — [ — 10.011]0.006/0.0t2]0.018(0.005/0.014]0.014[0.006(0.011]0.014]0.005]0.010
TNLEE mg/1 | 0.66]0676)069|069)|054]073)102]|110]1,00[0.79]0880.88[110 |0.54 |0.81
T NHE mg/1 | 0.72]0.72[0.65]0.67]0.63[0.74]| 1,10 1.12]0.99(0.86[0.89]0.85]1.12 [0.63 |0.83
TNTHE mg/1 | 0.72]0.73)0.64]0.71)0.53|075|1.04[1.13]0.87/[0.09]0.900.84[113 [0.09 |0.75
TP.EJE mg/1 10,046|0.071|0.086]0.089|0.060]0.076| 0. 095(0.168)0.129{0, 120(0, 100 0. 072]0. 168 |0. 046 |0. 093
TPHE mg/1 |0.048]0.066|0.085]0.079)0.068)0.072)0.104]0.166|0.182]0.124]0.101]0. 0690, 166 |0. 048 |0. 093
TPTE mg/l 10.056]0.071)0,081]0.089(0.062|0,078|0.098)0.178)0.139|0.1200.102(0. 06910. 178 |0. 056 |0, 095
COD.LE mg/l | 7.13 ] 7.79 | 8.06|7.50} 7838|7668 76|10.06]/805|8 197708 15/10.06[7 13 [8.04
COoDHE mg/l | 7.19|728|7.84|754|7.58| 7.9 (9.10/9.80(7.93/8.96|7.96|770/9.80 |7.19 |8.06
CODT/E | mg/l| 745|759 816|752 7.18|744(8.82)9.80|7.97(8.80[857|760/9.80 [7.18 [8.03

KB KRk °C - — — — — — - - —

E411] °C — — — = - _ = — - _ - —

0. 5m °C — — — — = _ - — — — _ —

1, 0m °C — — — — —~ _ Z — = — _ _

2. 0m °C — — — | = - — _Z - — _ — —

3. 0m °C — — - — —_ = _ _ = — - —

4. 0m °C — — — — — _ — — — _ - —

5, 0m °C — — — — — = — _ _ — — —

6, 0m °C |~ — — - — — — Z — — — _
EX °C - - — — — — — - - - - —
*DO JKE|mg/1]| — — — — = — — — — g —
I g/l - | - | = | = | = =T =1 = =1 =1 <-TG<=

0. 5m mg/l | — — — | = — — — — _ — - —

1, 0m mg/l | — — — — — — — _ _ — _ —

2, 0m mg/1 — — — - _ — — — _ . — —
3. 0m g/l | — — - —Z = ” - - - — - —
4, 0m ng/l | — — — -~ Z — — — _ _ - —

5 0m mg/l1 — — — — Z - _ = _ — _ -

6. 0m mg/l | — — — — = — — _ — — — —
B mg/l | — — — - _ - — _ — — — —
JkEIRE JRE [ Lux | — — — = _ — ~ - = — — —
HH Lux — — — — — — — - - | = — —
0.5m Lux — — — — _ — — _ — _ . —

1. 0m Lux — — — 1 =] - — R — — _ -

2. 0m + Lux - — = - — - —= - - — - -

- 8, 0m Lux — — — — = — _ _ = — — _
4. 0im Lux - — - — — — — — — _ - —

5 (m Lux — — — — _ — — — — — _ —

6, 0m Lux — - | = — — = - - = _ _ _
Eiig Lux | — — — — _Z - — = _ - - —

BREEORP [ w | — [ - [ — [ — @ — == — == =T~

= * DO D OFHc & B IR




| / KHEEEE (RO 1) |
AEA | W5k 11T 1 2 1 501 S 14E(19994)

H O B | B4 | 1/5 | 2/2 | 8/2 | 4714|5711 | 6/8 | 7/6 | 8/8 | 9/7 | 1076 | 11/9 | 12/1 |SAd] g/ el 2 48
X #® | -~ | B[ & | % B 2|8 &E| K| 8| K| K| £
Bk es> | 11:04]13:06]10:58] 7:00 [ 13:08]18:19]13:19]14:00]12:47[13:14]18:20[12:40
Sk m_ | 4,30]4.65[4.60[4.70]4.55]4.20[4.82]4.40] 4.45[4.10] 4.40[ 4.30
kK m | 0.50]050]050]050]050]050[050]050]050]050][0850]0.50
4 B’ c |58 80l1.3]1.8]16.2] 22 20.2]32.6]30.1]21.8[17.8]132
K & °C | 6.8] 75 88 [148[10.8]96.2]24.8]81.0] 280232175124 3.0 6.8 |18.4
NG D) = | vim | vonm| van | voein| s whoRm R EE RRBE RRnE| s | seinE
2 & O ~ R S SRS | MR MR ER R ER R )RR RSB
BRE cm | 80,0 84.5[ 8241700260240 19,4210 35.0]26.0]18.6]3L3
BYHE .m | 0.50]0.48[0.40] 0.40]0.87]0.40]0.80[0.40[0.55/0.50]0.85]0.50] 0.55]0.80]0.43
K — 16 | 16 | 16 | 16 [ 16 | 16 | 16 | 16 | 16 [ 18 | 16 | 186
p H — [8.88]815[8.20]8.23[7.82/800]8.01][855[8234[8238]8.06[8.26]855][782]8.21
DO mg/l [12.88]12.72]18.72[11.25] 8. 12 [ 10.56] 9.47 [ 9.87 [ 9.07 [ 9.29 [10.75(11.21]18. 72| 8. 12| 10. 70
BOD wg/l [ 2.45]3.75]8.70]3.84]2.23|4.84]2.83] 206223 1.22]2.40[2.66[4.34] 1.22] 2.88

ATU-BOD |mg/l| - | = | — | ~ | = -
CODQMn)_ | mg/L | 824]|8.08(8.30] 836 7.686.74|7.6d4] 714|756 770|774 7. 18] 8.36 | 6.74 | 7.69

DCODGUM| mg/t [ — | = | — | == -1 - - [ -] -] =-—1T=71T-7T-=
‘P.CODGM|mg/L | ~ [ = - - | ~ T - -1 - " - - -1 - [T -
COD(Cn) |mgA| — | = = =T =1 =-T=1 -1 =T=1T=1T=7T+=71T+=7-=

D-CODD [mg/L | - | = [ = [ = [ - [ = [ =T - =-T=T=17T=1T+—-T1T+-1T+=-—]
sS mg/1 | 10,7157 | 11,0 20.2|23.2 | 15.7 | 26.0 | 15.7 | 15,5 | 16.5| 22.2 | 14.2 | 26.0 | 10.7 | 17. 2

KIGHE TS w0001 |3, 36+] | 2, OE+2| 7. OE+1| 7, OB+1 |7, 9E+1|3. 3B+1 |3, 3E+1]3, 8B+2| 1, TE+L|4. TE+1| 7. 8E+1| 2. 8E+1|8. 3E49 | 1. TE+] |8, 8E+]
TN mg/l [ 1,17 [1.02]0.74]0.81]0.76|0.78)1.04]0.75]0,68|0.68|0.87|084])1.170.68 ] 0,85
TP ng/1 10, 062)0.064|0.08170.091/0.079/0,0689]0,080/0,079]0.074]0.063[0.068]0,072)0.091]0.062]0.074

NHy;—N | mg/L | 0.08]0.04]0.09] 0.02] 0.03] 0.02] 0.08 ] 0.00] 0.01 | 003 0.03] 0.06 ] 0.09 | 0.00 | 0.04
NO,—N | mg/I [0.010]0.017[0. 013]0.002]0.002]0. 002]0. 018]0. 002]0. 001 0. 008]0. 021]0. 006] 0. 021] 0. 00L] 0. 00
NOo—N [ mg/ | 0.42( 0,35 0,10 | 0.07 [ 0.01] 0,00 0,16 0.04 [ 0.03 | 0.09 0.15] 0.06 ] 0.42 | 0.00 | 0. 10
"IN mg/1 | 046 0.41]0.20 | 0.09[0.042[ 0.02] 0.26 | 0.04]0.04 | 0.180.20] 0.13 ] 0.46 [ 0.02 ] 0.17
oN ng/1 107410691060 | 0807 0.78 | 0.780.810.720.69 | 0.60]0.78]0.73] 0.81 [ 0.60 [ 0.72
D.-ON |mg/1]| - | — - - - -1 =-T-1T=-1T-T=-=T-17T-T-=
P« ON ng/1 - - - - - - - - - - - .
‘DTN Jmg} - | = | - [ -1~ ]~ -1 -] -]-1-1]-1-1T-1]=
TN mg/L [ 120 [ 1,10 0.80 | 0.89 0.822/ 0.80 | 1.07 | 0.76 | 0.73 | 0.73 | 0.93 | 0.86 | 1.20 | 0.73 | 0.89
D PO4—P | mg/1 |0.002]0.003]0. 004]0. 002|0. 003]0. 004]0. 007 ] 0. 008]0. 008 0. 004 0. D03 0. 02| 0. 008 0. 002 0. 004
D TP [mg| - [ - [ - T -T~-1-1T-T-T-—T—-7T= - =1 -
‘P.Tp |mg/t] ~ [ - [ —

l
|

‘_.
&
=3
o
)

IC mg/l | 118|107 1L.6]13.2]18.8]15.6 81152150 .
TOC mg/l | 6.1 | s |69 77|76l s6e ] s nlle0] 7.3]64 6.1 7.7 [ 5.9 1 6.8
*TC mg/1 [ 17.9]18.2[18.5[20.9] 2.4 21,5281 20.9]21,2]228]20.0 213 23, 1 179 20. 6
D:-0C we/t | — | — — — — — — — — — — =
*P.OC mg/l | — - - -1 = - - - - — - - — ~ -
D:Fe mg/l | — - — — — — — — — — - — — — —
D+ Mn mg/1 | — — — — ] - — — — — — — | = — - -
Fe mg/l| | - ] = — — — — — — - - - — — -
Mn ng/L | — - — | = — — — — — — - | = - [ = —
H OB B 113.9]19.7(12.2[26.0]382.1]20.6]8.9]20.6]19.8[20.7]30.8]20.7]|82.1]12.2]22.4

BEM0°C) [ us/on] 4156 | 408 | 420 | 338 | 425 | 529 | 463 ) 448 | 488 | 483 | 475 | 444 | 529 | 338 | 443

Ca mg/l — — — — - - - - - - — - - — —_

Mg mg/1

pH4.87 V7% V| mg/1 | 67.6 | 66.1] 67.6 61.6] 64.0 65.6] 66.2 | 69.1] 76.2| 73.2 | 70.1| 79.2 | 79.2 | 61.6 | 68.9
pHO.OB M| mg/l | 9.6 [ 510554 |5.0d]5.544.83] 604453503 504]302[402]09.60]802]5.28
PHIOTAAVE g/l | — | — [ = | - | — [ = =T =1 -1~ -—T-1-1T-—71+=

§04%" ng/l | — - - - - = - - - - - -] - - -
ci1- mg/l | 66.2|67.7|75.8)54.9)|736|929|8.8|77.6(792|80.6([837)|725]092.9|54.9|755
Na m/1] - | — | - | - | - | - | - | -1 -1 -1 -1=-1T-=-71T-71T-

K /L] — | — | = | = | =] = =1 - -1 [ =1 -1=1<=1-<=

RS PR 77 S N A N N N N S (= S A N e =
A UA ng/l

]
{
|
]

|
|
!

Chl-a ng/ 1| 57,7 57.5)65.3|64.8|5L.8|54.1[49.6|48.0 48.6] 40.9 50 9559658/ 40.9]538
Chl-b wg/1]1 2.0 1 5.9 1214130101607 3920 1.6]1L.3]21]50]07] 24
Chl-c g/l 7.3 1 17.0) 9.0 | 88| 6.7 | 7.6 | 6.5 | 5.86.4] 80/ 96]97]|17.0| 581 85
DA77 4F v lug/ 1| 140 16 3 17 101721 16.5/18.2]120.8]19.7 (150 12.1] 6.7 | 95 ]20.8| 6.7 |15.8
A 4 REEEN | mg/l | — — — — — —~ — — - - — —
: == *Eﬂ@ﬁﬁ(i&ﬂtoﬁﬂnxbﬁbm 8. P-ON=(ON)—(D-ON) f P-TP=(TP)—(D-TP)
LP-COD=(COD)—(D-COD). 4, D-TN=CINY+(D-ON) T.TC=(1CY4+(TOC)

2. IN=(NH4-N)+(N02-N)+(N03~N) 5 TN=(IN)+(ON) 8 P-0C=(TOC)-(D-0C)




. JKEfFER (20 2)

LS Wik KA FilR ) SIES 2 EFAR ) Pl 1 AEC199042)

H B | B4 | I/5 ) 2/2 | 8/2 | 4/14 [ 6/11 | 6/8 | 7/6 | 8/3 | 8/7 | 10/6 | 11/9 | 12/1 |SRAE|B/IME| T4
2-MIB pg/l| — - — = - - - - - - - - - - -
VAAI Y |wg/l| -~ - - - - - - - - - - - - - -

Vinn2 p 7 RSARCTHRER) | mg/1 — — — — — — — — - — - = — — —

JoudbhEpRAE | me/1 | — - - - - ~ - - — - - - - - -

Fowhmegvtsg g/l | - | - | - | - | = | = | = | - == -1 -=1-= - | =

e A e e e N N N S e e e

7 ntuAEBERE | mg/l | — - - - = - - = = - - - - - -

TN.EF mg/l | 1.17)1,02]0.7470.81)0.76]0.78(1.04]0.75]0.68)0.68[087)0.84]1.17]0.68] 0.85
TNHE mg/l | — - - - - - -1 - - - = - - - -
TNTE mg/1|1,06)0,99080[0.8]0.76]0.76(0.95]0.77|071]0.72[090]078]1.06][0.7L[0.84
TP LE ng/1 10,0620, 0640, 081]0.091[0.079]0.069] 0.08 |0.079(0.074(0.068(0.088|0.072] 0,081 0. 0620, 074
TP mgt| - [ - | ~ [ - [ - — - [ -] -] -]- =[] —-1=7]<
TPTFE mg/1 | 0.060)0. 670)0.089]0.087(0.079]0.064)0.073|0.087|0.084]0.063]0.068| 0,066/ 0.083]0.060]0,074
COD. LB mg/1 [8,24|808|8230|836|7.68|674)754|714|7566[7.70]774|7.18/)886]6.74] 769
CODHE mg/l | — - - | = - - - - - - — - - - -
CODTE ng/l | — - - | - = — - - = - - - — = -
KR kb °’c - - - - - — - - - - - -
%@ . °C — — — — — — — — —_ — — —
0.5m °C — — -~ -~ - - — — - - = -
1. 0m T - - - - - - - - - - - -
2. 0m °C - — - - ~ — — - - - - -
3, 0m °C — - — - - - - - - - - -
4, 0m °C - — - - - - - - - - - —
5. 0m °C - - — - - - - - - - - -
6. 0m °C — - - — — - — - - - -~ -
&R °C — - - - - - — - — - — -
*DO KE|ng/l| = - — — - - — - — - - -
Eia] ng/l | — - = - - - - - - - - -
0, 5m mg/l | — = ~ - - — — - — - - -
1L.0m ng/l | — - - - - - - - - - - -
2. 0m mg/l | - - - — — — — = — - - -
3. 0m mg/l | — - ~ — - = - - — — - -
4, 0m mg/l | — - - - - - - - - = - -
5, 0m mg/l | — — - - — — - - - - - -
6, 0m ng/l | — - - - - - - - - - - -
Il /1] - [ - = [ - = - [ - [ =-[—1T=
JRAFREE kb | Lux - - -~ - - — - - - - - —
Edli] Lux | — - - - - - = - - - - -
0. 5m Lux — — — — - ~ - — - - = -
1, 0m bux | — - - - - - - - - - - -
2, 0m Lux - - — — — - — - — - - -
8. 0m Lux — — — - — - — = - — - -
4, 0m Lux = - ~ - — - — - - - — -
5, 0m Lux - - — — - — - - - - - -
8. 0m Lux — - -~ - = = — - - = - -
R Lux | — — ~ - — — — - — - — -
ERmEORP | oV - — — - — — - - - - - -
ﬁ

i .

% DOID OBHic L B ilEks R




e KR (2D 1)

FEIEA A IE KR AR GITHES & BEFIR ) ik 1 1 4E19994E)
H B | 6| 1/56 | 2/2 | 8/2 | 4/14 | 5/11 | 6/8 | 7/6 | 8/8 | 9/7 | 10/6 | 11/9 | 12/1 [FRR4E R/ IME| P35 44
X B | = | B | & | [ B8 | & | B | B | B B | g[8 &8
BREZ Mg |18:84.18: 19 11:09] 7:12 |13:21]13:81]13:32(14:15/13:01(13:27(13:31[12:50
£k m [2.40]8.60[275/220[245[3.00205]300][250]290 |8 15] 297
Hoksk g m |0.50]0.50[050]0.50][050]050]0.50][050][050](0.50]0.50]0.50
& @& c Prsl10.5]10.9]15.6]160[24.0]19.7]32.0]80.2(21.0]17.8[125
& & °C 1 7.8 7.0 83 [14.8([19.4(252(23.9([380.1]27.7[23.2[17.1[12.2]30.1] 7.0 |18.0
A (AR N T e e e e D L e P
R & B — R (R (R | R | R | fR | R | ER MR | R | MR | R
B cm [88.0]96.0030.0]2L.5]20.0)23.0]17.0]13.2)]23.6)255]16.5]255
HRAE m | 0.55]050]045/[0.800.30[0.40[020/0.18]027]0.38[0.25]037]0.55][0.18]0.35
K — 16 | 16 | 16 | 16 [ 16 | 16 | 16 | i6 | 18 16 | 16 | 18 ~
pH — |852]838[825[827]800]820[8.17[8.45|7.91(8.24[788(8.19]8.52]788]8.21
DO mg/1 [13.93113.08/12.91[10.78] 8.56 | 9.13 | 9.66 | 9.32 | 7.23 | 8.56 | 9.63 [10.98]13. 33| 7.28 | 10. 26
BOD mg/l | .57 874 3.40]3.50[293]3812/2.523.311.63]231]1,94[221]374| 163277

ATU-BOD | mg/l — — — — — — :
COD(n) mg/l | 7.9318.04|8.41|8.11 | 7.46]6.87|7.40]7.80]7.466.80)6.54| 7.52]| 8.41 ['6.37| 7.50
D«CODUn)| mg/l | — — — — — - | - — — — — - - — —
*p.cop@m|mgt | — [~ - — [ 1T -—1T-T-T-T-T-1T-1-
CoD(rn [mg/l| - | — | - | = | - [ = [ = [ =T =T =1T=T=T1T=T+=-1T-+=
D-coDCO | mg/1| — | = | — | = = [ = -1 - [ - [ - -—1T-1=1=-71+=

§S mg/1 | 10.0) 87 |12.0/20.2|255)15.0/36.4|37.2)28.2]19.0)26.2]17.2]37.2] 9.7 |21.4
KIGERS  |wexaoom) |, 8841} 2, TB41)9. 4B41| L TB+2) 4, OR+1| 1. 1R+1)1, BE49| L, BB42| 4, BB+1| 1. T641| 7, 9B41) 7. 0B+1) 1, 7TE+2) 1. 1BH | 7. OB+1
TN mg/1 | 1.02]0.940.82)0.87]0.770.7410.98]0.83{0.85|0.70)0.87[0.88]1,02]0.70] 0.86
TP ng/1 |0.058(0.062]0.084|0.096]0,086[0.060]0.096/0.103[0.091/0.0710.081|0.064]0.103{0.058]|0.079

NH, =N mg/1]0,02)008]0.97|0.03[0.02(0602]0,04]001/0,05]0.03]010]0.05]010]0,01]0,04
NO,—N mg/1 ]0.014)0.018[0.011]0.004]0.002]0.002)0.016/0.001]0.124]0.041]0.010]0.016]0. 124 0. 0601]0. 022
NOs;—N mg/1 10,8808 |0.11]0.02]0.01]600]010)0.04[009]009)0.24|0.11]0.38]0.00])013
"IN mg/) [ 0,41 /0.86]0.19[0050.032)0.02]0.16/005)0.26]016[0.85]018]0.41]002])0 19
ON mg/1 | 0.6670.64) 06508207 |075]08)082]083]059{0.57[0.72]0.84]0.57]0.70
D-ON mg/l}] — | — | - -] =] -] =] =-=1]=1=1+= - - -
*P+ON mg/l | — - - - - | = - - | - - - -
*D.TN mg/lf = | — | = | =] =] =1=-1=-f=1] = - =
‘TN mg/l | 1,07 1.00)0.84|0.87 [0.782] 0.77]1.00]0.87|0.89(0.75]0.92]0.90] 1.07 | 0.75 | 0.89
D:PO4—P | mg/l [0.002]0.003|0.004]0.008]0,004]0.005]0.007|0.015/0.028|0.008]0,013|0.003]0. 028 0. 002 | 0. 008
D:TP mg/l| - | — | - | -1 - -1 =1 = - | - i -
*P- TP mg/l| = | - | =
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I1C mg/1 ] 18.0 . A , : i 6 5] 15.8 .
TOC mg/1] 62|70 67|76 7558|6964 ]62][64]59]69] 7.8 5.3 6. 6
"TC ng/1| 19.2]20.1]18.7 227215 21.1]22.5]20.5] 21,9220 10.0[ 2.4 22,7 18.7] 20.9
D:0C mg/1| — | = — — — - | = — — — — - - —

*P.OC ng/l | — — — — - | = — — - = - — — - —
D-Fe g/l - | - | = | = | = =] = = [ -] -1 =1 =1 =1-=71-°=
D:Mn ng/l | — — — — - — — - — — — — = — —

Fe wg/1 | — — — — ~ — — - — | = — — = — —
Mn ng/l | — — — - — — — — — — — — — — —
WA B | 19.1]12.9| 14,0 25.6|87.8 [ 20. 1] 46.1[40.5 31,3 26.7]39.6] 24,6 46.1] 12.3 [ 27.6

BEBQNC) | us/em| 466 | 441 | 387 | 425 | 381 | 543 | 430 | 413 | 532 | 503 | 404 | 481 | 543 | 381 | 451

Ca mg/1 — — — — — — — — — — — — — — —

Mg mg/1

p H4.87 V7 V| mg/1 | 78.7 | 74,2 | 65. 1| 66.6 ] 60.1 | 69.1 68. 1] 69.1 77.2 | 76.2 | 69.1 80.2| 80.2 | 60.1 | 70.7 |
pHO.0% [ mg/I | 9.1 [4.40]6.04(5.04]453[5.04[504[403]704]4.53[5.54]5.08]9.10]4.03]5.45
pHOOFAAYE|[ g/l | - | = | = | = | = | - [ - [ - [ - | -1 - [ =1 -=1-123=

S0 4 - mg/l - — — — — — — — - - — — - _ —
clL- mg/l | 84.482.8 | 71.8|71.9)63.8]99.7|869.1|67.8|94.2|87.0([666)89.6]099.7) 633|790
Na . g/l - | - | - | -1 = - - [ = -1 -1 -"T1-71T-=7T+=7+-

K /1] - | - | - | - | = | = [ = [ = =1 =" =T-1T-=T7T-1-=-

SR PR 77 Nt I B I N B B A M
A ng/1 — —

|
|
|
!
|
j

Chl-a ng/ 1| 54,8)58.7)|64.2[63.1]528]|87.7]50.6|47.83(86.3|37.7|86.4[47.7]|64.2]86.3]48.8
Chl-b pg/1] 20566162718 1.6|04]20] 241 1.6]08] 1.3 ] 561 0.4] 19
Chl-c g/l 7.1 114.4] 95180 6.4 715449647160 88/ [144] 49| 7.6
DA 4F |pg/) | 18.2]11.7]28.0]17.8 1 611390 26.0 20.7 11. 11 12.8]16.8 15 0] 26.0 1111 16.6
B A AV REE A mg/l — — — — — — — -
e xmoalﬁﬁtmima’rﬁnwz%m 3, P-ON= (ON) (D- ON) G.P—’I‘P-(’I‘P)—(D-’I‘P)
LP-COD=(COD)-(D-COD) . 4 D-TN=(IN)+(D-ON) 1. TC=(IC)+(TOC)

2. IN=(NH4-N)+(NO2-N)+(NOS-N) 5 TN=(IN)+(ON) 8. P-0C=(TOC)—(D-0C)




KEER (XD 2)

EERIEIES VAR EoR i P TR i MIES B ERFAR PR 1 AEC109947)

. B | Bz ] 1/6 | 2/2 | 3/2 | 4/14 | 5/11| 6/8 | 7/6 | 8/3 | 8/7 | 10/6 | 11/9 | 12/1 |[FRKAE|R/IME |ESME
2~-MIB Jug/l]| - - = - - - - - - - = - - - -
VARIY |we/l| — - - - - - - - - = - - - - -

Wnagvtegeeni | mg/1 | = | = | = | = | = | = [ = | = | =1 =1 =71= - - —
gombhEgRRE | mg/t | -] = | - | - | ~ | - -1 - -] -] =-1=-01—-71T-71=

7 avy poofpvE g | mg/l ~ = — - — — — = - - = - — — —

V7 ek | mg/l | — - - - - — - - - - - - = — -

JutdbadpE g/l | ~ | - | — | = | =] = | = = =] =] =] = - - ~

TN.LE mg/1 ] 1,02)0.94)0.82)087]077[0.74/098)0.83(085/[0.70]0.87|088[1.02 [0.70 |0.86
TNHE mg/1 | 1.080.03)0.88|0.87(072(0.71([0.95]|087]089]074(0.89]085(1.08 [0.71 |0.87
TNT/E mg/1 | 1,07 /095080081079 074095088086 |0.75]091]083[1.07 [0.74 |0.88
TP LB mg/1 [0.068]0.062) 0. 0840, 096 0. 086 0. 0600, 096]0.103}0. 0910, 071|0. 0810, 064]0. 103 |0. 058 |0. 079
TPHE mg/1 0. 061/0.062|0.090)0.085]0. 0840, 066|0.086]0.112)0. 0880, 073]0, 085 0. 0660, 112 |0. 061 |0. 080
TPTHE ng/1 |0,0640.062]0.085[0.,098]0. 078(0. 071]0.090|0.113]0.091]0. 0760, 091]0. 064]0. 113 |0. 062 |0. 082
COD.LE mg/1|7,93)|8.04|841]|811|746]6.37|740]7.80(7.46/[6.90|6.54]|752([841 |637 |7.50
CODHE | mg/l |8.82|7.71|887)858|748|6.31732|827[797[7.05|7.43]7.74][8.97 |6.81 [7.76
CODTF mg/l [8.827.85)883|8%56|7.76|7.46[784)|817|7.42(7.17]7.74)762]883 [7.17 |7.85
kit Kk | C - - = |- - - - - - - - il

Edii] c - - - = - - -~ - - - - -

0. 5m °C - - - - | = - - - - - - -

L {m °C - - - - - - -~ - - - - —

2. 0m c = - - - - - - - - - - -

3. 0m c | - T-1T-T-1T=1T-T=-1T=-T<-1T-T-1T-=

4. 0m c - - - - - - - — - - - -

5. 0m c |l -T-T-1T-TT-"1T-T-T-T=T-—1-=-T-=

6. 0m Cl -1l -1 =-1T-T-T=T=-1T-"1T-1-1T-1T-=

T °C - - - - - - - — - - - —

*DO kb | my/l]| - - - - - - - = - - - -

4] ng/l | — - - = - - - - - - - -

0.5m mg/l | — — - - - - - - - - - -

1.0m mg/l | — - - - = - = - - - = -

2, 0m mg/l | — - - - - - - = - - - -

3. 0m ng/l ] — - - — - — — - - - - -

4. 0m mg/l | — - - - = - - — - - - -

5. 0m mg/l ] — - - - - - - - - - - -

6. 0m mg/l}p = | - =) =] = =] -] - === -

ER mg/l | — - - - - - - - - - - -

kR kB Lux | — - — = - - - - - - - -

Edii] ux | - - - - - - - - - - - -

0.5m Lux | — - - - - - - - - - - -

1.0m Lux - - - - - - - - - - - —

2. 0m Lux | - - - - - — - - - - - -

3. 0m Lux - - - - - — - - - - - -

4, 0m Lux — - - - — - - - — - - -

5. 0m Lux — - - - - — - - - - - -

6. 0m Lux | - — - - - - - - - - - —

i) ux | - - - - - - - - - - - -

BRI EORP | ¥ - - - - - - - - — - - -

ik

¥ DOD OfMC L B HlEIEE




 KHEER (Z0 1)

BTG BAH kA AR SNIES HBERIAR 1| S 1 14R(19994E)
IH H | Bfz| 1/5 | 2/2 |82 |4/14|5/11| 6/8 | 7/6 | 8/8 | 9/7 | 10/6 | 11/9 | 12/1 |RKRM|Be/INE [Pt
K& | - 1% 2 B Ik | B BB K| &2 B B2
kR s> |13:46]18:31)13:58( 8:56 |13:92]13:43(18:45]14:30[13:14[13:38]13:4513:02
Lk B m | 4.8 [4.97]480 470 |505]480[600]|470]475|470]485][5 00
Hokkg m | 0,50 ] 0.50]050] 050050050 ]050]050]050]0.506]050]0 50
% B c |81 |10.3]i42]17.0]16.0]23.7]19.9]30.0/[80.0/[2.8|17.8]13.2
& B C | 74 7419815210625 23.820.427.8/22.8[16.9([12.8]20.4] 7.4 182
N8B ER T e e e e e e A S L e
2 & Q) — [ | e | R | ER | R | R | R | deR | JER | R | B | KR
B cm | 43.4186.0]20.0]21.6]24.5]30.028.6/[24.2]38.4]40.0/28.0]34.83
HIAE m [0,60]0.50]045[0.30]0.40]0.45(06.40] 0.40[0.55(0,50]0.43[0.55]0.60] 0.307] 0,46
p = — 16 | 16 | 16 | 16 | 16 | 16 | 16 [ 18 | 18 | 16 | 16 | 16 -
pH — | 8.60(856|846]853]830]809]/818[8.50]820)8.62[8093[8.881/8.88]8038]8.40
DO mg/1 |13,46(13.58]14,11]10.82| 8.87 | 9. 14 | 8.81 | 9.04 | 8,78 | 9.45 [ 10. 13[11.67] 14. 11| 8.78 | 10, 68

BOD mg/l | 2.434.04]3.31]3.22)|2.80/2.064]223|204]L 97 2111242289404 197127
ATU-BOD | mg/1]| — — — — = — - = _ — _ — _ _
C OD(dn) mg/l [ 8,24 | 8.64 ) 7.84(8.40]7.66)6.47[6.98]| 7047 54 7.64 | 7.68 | 7.50 | 8.64 | 6.47 | 7.63 |
D CODM)| ng/1 | — — - — — — - _ — — — _ — — —
*P.CODMn)| mg/1 | - — - — — — | - = Z - _ = R I =
COD(Cr) ng/l | — — — — - =z Z —Z _ _Z — _ . . -
D+« COD(r)| mg/l — — — — - — - — — — _ — _ — —

S8 mg/l | 7.5 | 956 |10.5[19.6]17.7] 9.5 20014712 8.5 [150[11.0] 20.0( 7.5 | 13.0
KRIBEEES,  ewtoo[ 1. 3842) 3. 3842 1. 1842 1. SE43| 7. 9E+2| 7. 9E+4 |3, 3E+3| %, 36+2|4. 0B41[4. 9E+2|3. 3B+3] 1. 3B+2] 3, 3B+3| 4, 0B+11 9, 18+
TN mg/l | 1,02 1.00]0.82|06.80|0.71]0.65)0.84|0.77]0.65)0.65/[0.86]0.85]1.02]065]0.80
TP mg/1 [ 0. 0560, 07210,089]0. 08510, 077(0. 055(0. 081]0. 096]0. 066] 0. 059] 0. 069 0. 063] 0. 096 | 0. 055 0. 072

NH,-N [ mg/1]008]0.04]0.06]0.02]0.01]0.02]0.05]003[004]0.02][0.03]0.05]006]0.01]0.03
NO,—N | mg/1 [0.016]0.022]0.012]0.004]0.002]0.002/0.011]0.002]0.012]0.001]0.007]0.019]0.022]0.00L]0. 009
NO3z—N | mg/1[0.33]0.29]006[002][002]0.00]011]005]0.02[0.00]025[0.18]0.83]0,01]0.11
"IN mg/1 | 0.98]0.95] 0.13 ] 0.04[0.082] 0.08] 0,17 0.08 ] 0.07 | 0.03 | 0.27 [ 0.20] 0.38 | 0.03 [ 0.15
ON mg/1 [ 0.70 | 0.71] 0,70 0.81] 0.71] 0.657] 0.75 | 0.75 | 0.68 | 0.67 [ 0.61 | 0.71 | 0.81 | 0.61 | 0,70
D-ON |m/i| - [ - | - [ - [ -~ | = T [ [ = -— T =1T=1T-=-1T-+=
*P.ON ng/l | — - - - - - - - - - - - - —
DTN |wm| - | - | - -~ - - -1 -—T=—1T-1T-1T-—1T—1T=7T=
*TN mg/1 | 1,08 1.06]0.830.85]0.742] 0.68 | 0.92 [ 0.83 [ 0.70 [ 0.70 | 0.88 | 0.91 | 1.08 | 0.68 | 0.85
D.PO4-P | mgl [0.002]0.002]0.008]0.003]0.003]0.005]0.008]0.01L|0.008]0.004]0.0060.002]0.011]0.002]0.005
D-TP |mg/l| — | - | — | - - T - T -1 -1 -1-1+= -1 =1 =
‘P.TP | mg/l

)
!

,_.
=
o]
—
=
.
—
oo

_IcC mg/t | 18.1]18.1)12.0]18.3| 14 |15.8|16.4( 14,0 18.4| 156 14.0] 14, 0141
TOC mg/t | 6.7 |78 |69 |74|72)|862)68)509]|63/60]66)60]78]|59]|66
*TC mg/l |119.8120.9(18.9120.7|21.2)22.0]227)19.9|10.7|21.6)/20.6|20.8|227]|1889])207

D:-0OC ng/l | — - - - ~ - - - - - - - - - -

‘PaoC |m/1| = | - | - [ - — [ - — == — - —[ - - ~=

D'Fe ng/l ] - — - - — - - - - - - - - - -

D-Mn mg/l| — - - - - — - - - - - - - — -
Fe ng/l | — - = - = - - — - - - - - - -
Mn ng/l | — - - - - - - - - - - - - - -

iR B ] 95 |120]11.8]246/288]12.6(29.9/16.8]13.4|11.6 23.0/160/29.9] 9.5 | 17.4
HEHRQ0°C) Jus/on| 457 | 482 | 403 | 457 | 405 | 503 | 440 | 396 | 521 | 499 | 432 | 503 | 521 | 395 | 458
Ca mg/l | - - - - - - - | - - - - - - - =
Mg mg/l | — i - - - - - - - : -

pH4.87 v V| wg/1 | 74.2 | 74.2 | 68.1 | 70.1] 653 69.1 | 69.1|66. 1| 84.2 | 81.2 | 69.680.7 | 84.2 | 65.8 | 72.7 |
pHO.0M M| ng/l | 6.6 | 6.60|4.08504]504] 418 4.03]4.03]4.534.73]8.52] 6,04 6,60 | 3.52 | 4,94
pPHOOZARVE [ mg/L | — | — | — | = | — [ - | -~ [ -~ | - [ -1 - -1 =1 =1-

ST 77N e D I e e A e e e N A e
cl1- mg/1 | 84.9 [ 87.8 ] 79.9 | 8L 6| 65.386.7 | 72.2 | 61.9 | 92.6 | 86. 1 | 73.6 | 01.5| 02.6 | 61.9 | 79.8
N a g/l — | - | - [ -~ -1 - [ [ = = [ -1 - T -1 -T-71-
K Pran e e I I e e e e e N I N

TP 7 I NS = N = I N B HE S N N R

|
|
|
I
|
|

ey yAa | g/l

Chl-a ng/ )| 51,6 4 6|66.4])686)| 527284 54 6| 49. 1 38 11454 |43.2]44.1 68 6| 28.4 | 50.6
Chl-b pg/l| 2526|2424 10412906 17| L4 L7113 1L6] 207 06] 19
Chl-¢ vg/1] 67 [160]10.9) 83|81 |68 668|687l |84|74(79]160] 63/ 8.4
TxA 745y \ngll 16 2118.4)24,5)17.7120.6] 155 21.5] 16.4 21 01170 12.2 30.8180.812.2] 19.3
A o R EA | mg/1 — — — — — — — — — —
e *molﬁﬁtm“%@afﬁa .,tbsmbf:q 3 P-ON=(ON)- (D ON) 6.P-TP=(TP)—(D-TP)
1.L.P-COD=(COD)-(D-COD) 4. D-TN=CIN)+(D-ON) 7. TC=CICY+(TOC)
"~ 2 IN=(NHA-N)+(NO2-N)+(NO3-N) 5, TN=CINY+(ON) 8. P-0C=(TOC)-(D-0C)




) KE4EE (2D 2)

gkl 1 £EC19994F)

B E B IKBA FIRJ1] taIIES AR
] H | B4 | 1/5 | 2/2 | 8/2 | 4/14 [ 5/10 | 6/8 | 7/6 | 8/8 | 8/7 | 10/6 | 11/9 | 12/1 |R4H B/ M| 148
2-MIB |ug/l[ ~ | =T - T -1 -1T-T-T-T-=-"T-T-T-=-1T-"1+=71T-=-
VARI Y |ug/1| -~ - - - - - = - - - - - - - -
Hnasd vtk RABCTINRRY | mg/1 | — ~ ~ - — — - ~ ~ — - — - - —
JondhAEREEE | mg/l | ~ - - - - - - - - - - - - - -
7oty pompgyas | mg/l | — - -~ - - — - - - - - ~ - — -
VO eed kAR | mg/l | — - - - ~ —~ - - - - - - - - -
7 nEbvhd kAL | me/l | — = = - - - - = - - - — - - -
TNLE mg/1 [ 1,02 1.00)082)080]071[0.65)0-84]0.77]|065)0.65]086]0.85][1.02 |[0.85 [0.80
TNHE mg/1 | 1,06]1.05)0.82/0.81|070|0.63)0.85]|0.75]0.66]0.63]0683]085]1.06|0.63 [0.80
TNTE mg/1 {1.03]1.06|0.78]0.87]0.72|0.60|094]073]0.67]0.62]0.91]0682]1.06[0.60 081
TP LE mg/1 10, 0560, 0720, 089{0. 085| 0. 077(0. 055(0, 081(0. 096 0. 066 | 0. 059]0. 069|0. 063 [0, 096 (0. 055 0. 072
TPHIE mg/1 | 0. 058 0.072)0.081]0.082] 0.069 0,054 0,08 |0. 0890, 064]0.058|0. 0670, 059]0. 089 |0. 054 |0. 069
TPTE ng/1 |0, 056]0.068(0.076]0.0960.078]0.053]0.088|0.086|0.069|0.056]0.073/0,060]0, 096 [0. 053 [0, 071
COD.LHE mg/1 | 8248641784840 756|647 698704 |7.54/764|768]750] 864 |647 [7.63
CODH/E mg/1 ] 806818806752 708)698|6.96)6.98)744|7.35)|7.85(7.68([8.18 [6,96 |7 47
CODF mg/1 [822)8.24]7.86 818688 |655]724]659(782|717[751[758]824 |6.55 |7.45
kg kb °C - - - - - - = - - - - -
L °C — - - - - - - — — — - —
0.5m c | -1 -1T-1T-1T-1T=-T-1T-T=-T-T-=-71T=
L (m C - o~ - - - - - - = - - -
2.0m c |l -1 =-T-1T=-T-T-1T=-T-T-1T-T-1>=
3. 0m c | - -T-1T"=1T-=-1T=-T-T=7T-T-1T=71=
4.0m c | -—[T-1-1T-1T-=-1T-T-1T-T-=-T-1=71T+
5. 0m c |l -1 =T-T-1T-T=-T-1T-T=-T-7T-1T+
6. 0m c |l -[-1T-1T=-T=-1T-1T=-1T-T=-1T-T-=-1=
T °C - - - - - - - - - - - -
*DO Kb mg/l] - - - - - - - - - - - -
Hill mg/L| — e e e T T
0.6m ng/l ] — - - - - - - - - - - -
1.0m mg/l| — - - - - - - - - - - -
2. 0m mg/l | — | — [ - - -1 —"T-1T-T-T=-1T-1T+-
3. 0m mg/l | — - - - - - - - - - - -
4. 0m mg/l | — - - - - - - - - - - -
5. Om mg/1| — | =T -1 -1 -1T=1-=-1-T-1T-1T-=71=
§. 0mn /1| - | - [ - -1 -T-T-T-1T-1-1=1=
B ng/I — | = [ = [ - [ - [ == - =] =1=71T-
AkepiEE oRE Lux [ — = - - - - - - - - - =
EJii] lux [ — - - - - - ~ - - - - -
0.5m x | =T - T -T-T-1-T-1T=-1T=-1"=-1-1+=
1.0m Llux | — - - - - - -~ - - - = -
2. 0m Lux - - — ~ - — — - - - - —
3. 0m Lux | — ~ - - - - — - - - - -
4, {m Lux — - — - — — — - — - — —
5. 0m b | — -1 -T-T-7T-T-T-T=7"=1T-=-71T=
6. 0m Jux | — - = — - - - - - - - -
Eﬁ Lux — — —- — — — — — - - — —
JEJRH.EORP | mV — - - - - - - - —~ - - -

e

¥ DORDORIZL AR




HKEFER (£D1)

SIS A k%4 FAR)I FalIES AR ) ¥ 1 1 4199948
H B | mar | 1/5 | 2/2 | 8/2 | 4/14 | 5/11 | 6/8 | 7/6 | 8/8 | 9/7 | 10/8 | 11/9 | 12/1 [SRAAE| R ME| -4 4E
x B’ | - | ® | & | B | K] &8 8|8 | K| 2| 8|K| &8
Bk el W4y [14:19]14:05|14:83] 0:18 [13:53114:06(14:07(15:00(13:39|13:50(14:06(18:24
Sk m | 5305205055255 155255805 10]500]530]|545]| 550
FRkok g m | 0.50 00,500,501 0.50]050[050]050]0,50]050]0.50)050]) 0,50
& iR °C | 9.9 ]10.4|14.86]17.9]16.1]22.0/20.8]382.2]29.4|21.5|17.0]18.6
K R C | 7.1 7.1 0.1 115.1]19.2)23.09023,9|20.2|27.8]22.7/17.2]12.8129.2| 7.1 |17.9
MO (B T et weia s AEen | R B kB M E] R IE R MR B B IR MR IS RIS
IR R = amE | e e | e | e | s e | R | eS| e | RR | R
ERE em | 40218600305 222 24.0084.0]24.0{27.5144.8}33.0)32.0]83.6
BE m | 0.60]0.55]0.500.40 ] 0.40]0.50]0.85[0.45[0.70] 0.50]0.53|0.56( 0.70 | 0.85 | 0,50
XA — 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16
pH [ 8.5618.73 870 8.63 | 8.93 | 8,24 8.24[8.65|8.38|8.71(852|826(873]823]8.48
DO . mg/1 |18, 97| 14. 18] 14. 62/ 10, 94| 8. 96 [ 10.37] 9.83 | 8.86 | 8. 89 [10. 95|12, 38(10.82) 14.62] 8.86 | 11. 17
BOD me/l | 2.75 | 4.27 1 8.6014.32 1 2.573.96|2.22]8.58 162 2.16 [ 2. 171 2.56 | 4.32 ]| 1.62 | 2.98

ATUBOD |mg/l| — | - | - | - [ ~| =1 -1+ - -
CODGHn) | mg/1 | 8.14 | 8,64 | 8.65|8.16| 7.98 | 7.06 | 7.2 | 6. 67 7.56 | 5.8 | 6.741 6.70| .68 | 6.67 | 7.64
p:copOm | /1] - | - | - -1 -~ | - -1 =-=1T-1T-1T-]-1-1=-1-+-
‘p.copGm | m/t| — | - | = | = [ -] -] -1]~-]-]-1-[-1]-1-=-1*=
copC) (m/ll = | - | - = -1 -[-1T=T-1T-T-1-1-1=-1+=
p.-cony | m/1| - | = | - | - | -1 - -[=-=1T-1T-T1T~-1-t-=-1-1~=

SS we/1 | 6.5 | 7.5 1 10.2( 16,7 | 8.6 8.5 [ 20.8|18,2)10.5) 6.0 {11,7] 9.5 1208} 6.0 | 11.6
KIEEEER |wr/woonl| 1. 3E+2| 7, 0B+1[4. 06+1]3, 8E+2] 4. 65424, 9842 |8, 30423, 26+41| 7. 9B41]4. 9B+2]7, OE+2| 1. TE42] 7, OE42) 8. 2641 |2, 9E+2
TN mg/1 | 1.13 ] 0.96] 0.82 | 0.89 | 0.85 | 0.73 | 0.83 | 0.74 | 0.72 0,59 ]0.95] 0.88 ] 1.18 | 0.59 0.84
TP mg/1 10.056]0.061]0.083]0.082] 0. 083[0. 084 0. 080] 0, 080] 0. 068(0. 057 0. 075 0. 060) 0. 083 | 0. 056 | 0. 071

NH,-N mg/1 | 0.0 ] 0,04 ] 0,08 0,04 0.00[0.02[005[004]0.04]001[0.07[0.05)0.08]0.01]0 04
NO,—-N mg/1 |0, 017]0,019(0. 015]0. 006 0. 002(0. 002] 0. 009 0. 002 0. 005{0. 002]0. 006{0. 019{0.019{0.00210. 008}
NOz—N me/1 | 0.44 ] 0,38 | 0.13 [ 0.10 | 0.01 ] 0.02[0.09[0.04]0.020.00]02{[015]0,440.00] 0183
"IN mg/1 | 0.49 ] 0.44 | 0.92 | 0. 15 (0.022] 0.04 [ 0.15]0.08 | 0,06} 0.01}0.29]0.22} 0.49)0.01) 0,18
ON mg/1 | 0.71]0.60]0.640.79]0.81]0.72]076]0.72[0.68]0.63]072|073]08L]060]071
D-Ong/lw—ﬂ—~—————————ﬁ
*p.oN |mgnf|{ -| -[ -1 - =-1=]1-—1=1=1]=

DTN i - - | = [ = = - [ - - =[=T-1-1-7T-
*TN me/1 | 1,201 1,04 10.86 | 0.94 [0.832]0.76 | 0.81 [ 0.801 0,747 0.64] 1,010,951 120 0.64 | 0.89

D-PO4—P | mg/L|0.001]0.005]0.005]0.002|0.004]0,0050.010]0.059]0.0L1|0.005]0. 004] 0. 008] 0. 058 | 0. 001 0. 010
D-TP |mg/A| — | = | =1 ~ 1 -1 -1 -1 —=1=1]=1= - =-1=
‘peTp  mgA| - | - | =] = | =~ | = | - - | = | -

1C . |mg/1]18.2]14.2]11.8]14.2]18.9]15.4]16.1|14.5]16.2|13.7| (2.0 21 16.2 1 11,8 14.2
TOC mg/1 | 6.3 | 7.8 78|71 (74697055 (61|70(67(52|78152]|867
*TC mg/1 | 19,5215 18.1121.3 21 9092.323.1]20.0]228]20.7|18.7/20.4]281]18.7]209
D-0C Img/i| — | — | = | = T I e I I R I e
*P.OC /1| - | - | - | - | - | -1l =-1-1=1=-1l=1=-"{=1=1 =
D:«Fe ‘mg/l | — - - | = - — - - - — — — — — —
D+Mn mg/l | — - — — — — — - - — - - - — -
Fe mg/l | — - — -~ ~ — - - — — —~ ~ — - -
Mn ng/l — - — - - — — — — — — - — - —
m B E | 10.1]10.4)12.1]22.0|81.1[12.8[82.8]152]129[10.2]/19.8|18.8]82.8]10.1]16.8
BEMR0°C) | pws/onf 924 |. 638 | 553 | 483 | 421 | 743 | 439 | 450 | 590 | 828 | 474 | 512 924 | 421 | 588
Ca ng/1 — - — - - = = — —. - - ~ - — —
Mg mg/l | — — - — ~ i - — - - — - - -
S H4 87 A V| mg/L | 75,7 78.2 | 70.1] 77.2 [ 60.9 70.11656 70.1[86.7(76.7|70.6|79.2]86.7| 609 78.4
p HY, 08 B mg/1 | 8.10 500 504 | 4.08 ] 5.54 | 4,98 (504 | 4.08]4.03|4.83]4.02]508]810]402] 497
p HA 07 VAV E] ng/l — - — — — — — — — -~ — — — -
so, |mg/t| — [ -1 -] =-T-1=-T-1-1-1=1=1= -1 -]
cli- mg/1 | 220.4]182.8]107.7] 90.8 | 69.9 [155, 7] 71,6 | 78.3 | 106.0]186.0 82,1 | 62.5)220.4| 69.9 116. 2]
Na il - [ - T -1 -1-T1-1-1-1-—1- -1 -
R i T - T =T =T = - - -~ - |- -1 -1 -]
T - §i0y ng/L | — — — — - | = - - — — - - - - —
B VA |ml| — | - |~ | - | - | = - -1 -1 ~7 -T~[=-T=-1]~]
Chi-a wg/ 1] 45, 7]66.8]76.1170.9)70.5)48,657.4]50.9)427] 368 60 0 42.7] 76.1]36.8 ] 65.4
Chl-b wg/1| 1.41387 2628 21|L1][00]25][08 12|14 L1]37][08] L8
Chl-¢ wg/ 1| 6.6 | 14.9]1,2] 9.8 | 9.7 7.3 [68]64]68]|76]|80]|66]I145]|64] 84
TxA74F | lug/ 1] 18,2240 26 7123.6(23.6116.6(24,5(24.919.4]16.2 17 1126.7126.7(16.2] 218
A ot v REENR | ng/l — i = — — _ — — — — — —
eSS *Eﬂﬂ)lﬁﬁti&\‘k@ﬂﬁ%ﬁ('&bﬁwto 38, P-ON=(ON)—(D-ON)" 8 P~-TP=(TP)-(D-TP)
, I.LP-COD=(COD)-(D-COD) 4, D-TN=(IN)Y+(D-ON) 7T.TC=CIC)+(TOC)
2, I N=(NH4-N)+(NO2-NI+(NO3-N) 5. TN=C1 N)+(ON) . P-0C=(TOC)-(D-0C)




KEER (RD2)

4 B e 7Y {GIIES H EEUARI] ST 1 14E(19994F)
H B | B4L | 1/5 | 2/2 | 8/2 | 4/14 | 6/11 | 6/8 | 7/6 | 8/8 | 9/7 | 10/6 | 11/9 | 12/1 [N |T/ME | PR
2-MIB [pg/l| - [ - | - [ - -1 -T-1T-T-T1T-1T-"T-1T-=1=7T1T7°<=
VARIY  ug/)] - - - - - - - - - - - - - - -
Mineg vt BAECTINER) | mg/1 [ — - - - - - - - - - - - - — —
JunkpAERRAE | mg/l | — | — | — - -1 - - - - - | - - - - -
TRy handivg | mg/) | = - - - - - - - - - - - - - -
VU oRRR R | mg/l | — - — - - - - - - - - - - - -
TuthhdeRkel | mg/l1 | — | - | = | = | = - - ===t =] =1- - -
TN.EE mg/l | 1,18)0.96)0.82(0.89]0.85]0.73[0.83)0.74]0.72|0.59)0.95/0.88[1.13 [0.59 [0.84
T NHE mg/l | — - - - - - - - - - - - - - -
TNTHE mg/l | 1,16 10.99)0.81)0.87|0.79(0.80]0.90]0.81/0.75/]0.81|092)0.91[1,16 |0.61 |0 86
TP.LE mg/1 10.0560.061)0.088)0.082|0. 083 0. 064 0. 080 0. 080 0. 068) 0. 057 0. 075] 0. 0600. 083 |0. 056 0. 071
TPHE mg/l | — - - - - - - - - - - - - - -
TPTHE mg/1 |0.055)0,065]0.081|0.088)0.081)0.077]0.088]0.093]0.078]0,057] 0. 077 0. 060(0. 093 [0. 055 |0. 075
CODL/E | mg/l [814|864)|865]|816]788|706]724|667|756]|868]674|670|8.68 [6.67 |7.64
copAgE |mgl] — | — | - | =1 - | -1 =1 -1 -=-1T-T-1-1T=-"1T=71°+=
CODFE | mg/l]| - - - .= - - - - - - - - - - -
ki Kbk | C - - - - - = - - - - - -
Eed1] °C - - - - - = - - - - - -
0. 5m cl -T-=-1T-1T=-1T-T-=-1-T=1T=T-T-=1-=
1,0m c T -T-T-T-=-1T-=-T-=-1T=-T=T=17T=-T-=7T1T-=
2. 0m c |l -1 -1T-1T-T-T-=-T-1T-T-1T=T-=-71+=
8, 0m c | -1 -T=1T-T-=-1T-1T=T"T"=1=1T-T=1+=
4, 0m c | -T-T1T-T=-T-=-T-T=-T-T=-T=-=1T=1T+=
5. 0m °C - - - - - - - - - - - ~
6. 0m c |l -] ~-1T-T-1T=-T-1T-1T-T=1T=1T=1+=
B °C - - - - - - - - - - - -
#DO  JKE|mg/l| — - - - - - - - - - - -
£ - mg/l | — - - - - - - - - - - -
0. 5m mg/l | — - - - - - - - - - - -
1. 0m wg/L| - - -1 =T -1 -1 —=—T-1T-T-1~=1T+-
2. 0m /1] — [ -1 - T -T-1T-1T-T-T-T-=-1T=71T+=
3.0m mg/l] - [ -1 -1 -1 =-1T-1T-1T-1T-1T=-T1T-1=
4, 0m g/l - [ - =T -—T =T -T-T-T=-1T-1T-7T+-=
5. )m g/l — [ - - T =T -T-T-T-T-T-1T-=1+-=
6, 0m g/l — | - [ - T -1 -] -T-=-T-=-1T-1T=1T-1T=
B mg/l [ — - - - - - - - - - - -
JRPUBBE kb | lux | — - - - - - - - - - - -
E3i) Lux | — - = - - = - - - - - -
0. 5m Lux — - - - - = — - — - - —
1. jm Lux - - - - - - - — - - - -
2.0m ux | — | - [ - [ =T -T=T-T=-7T-T-1T=7TH+=
3. (m lix | - =T -1 -1 -T-1T-1T-1T-T-1T-1+=
4.0m Lux | — - - - — - = —~ - - - -
5 0m Lux — - —= - - - - - - - - -
6. 0m | - [ - | - =T -T-T-=T-T-T-1T+=1T-+-
i) lux | - - - - - — - ~ - - | = -
BERE EORP [ my - — - - - - - - - - - -

i

¥ DOIDOMIZ &L AHELER




. 7kHEER (20 1)

B4 AR kA% FARJ 1% AR SERE 1 14E(100048)
oo B | B 15| 2/2 | 3/2 | 4/14 | 5/11 | 6/8 | 7/6 | 8/3 | 9/7 | 10/6 | 11/9 | 12/1 [BeAd ||
K g | - | w2 | B B | & ®B| 2| B |2 | B | 8| &8
RIS sy 112:48] 6:43 [13:10]10:10 [ 11:27]11:35[11:38]12:20(11:14]11:24|11:45] 6:38
£k m 328820 [310[327[340][4560]3.25[290.0315[3.30[325]3 20
kK m_ 0,50 [0.50 ] 050|050 ]050]060]0850]050]0650/(050]050]050
& B °C 8.6 | 28 [11.3[18517.2)26.2]19.8[31..4]30.2[22.0]18.2] 82 ' :
Kk B C 169|586 ]10.0[158]19.9(2,2123.280.9/27.0/225/[17.2[12.3]380.0] 5.6 |18.1
S (D L L P e e L e R e
B & Ok — IR | ER | R R | eR | s | e s e | R | MR | dee
EIRE ~em | 80.5)16.5(20,0]21.0]18.5]255]15.5/]16.5]27.5]24.5]|18.5]24.5
BRE m |0.50]0.25[040/0.88]0.30]0.83/020[0.30]040/0.40]0.80]0.30]0.50]0.20]70.34
7k — 17 16 16 16 16 16 16 16 16 16 17 16
pH ~ |850[728]|842]8.43]8.30]|7.89]840]8.79/840/8.80]8.58]8.22]8.80[728]3s. 33
DO ng/1 [12.99]12.26[18.25|11,79] 9.50 | 9.94 | 9.36 | 8.31 [ 8.65 | 10.59]10. 97[11. 81| 13.25] 8. 65 | 10. 83
BOD ng/l | 2.89 (570 3.67]8.53 3.81 3,07 3,08 [4.07[2.44]245[2.66]5.11] 570 244 3, b4

ATU-BOD |mg/l | — | — | — | - | =
COD Qi) | mg/1 | 6.91|10.45] 8.5 | 6.50 | 7.22 | 5.08 | 6.24 | 5.27 | 5.790| .96 | 5.63 | .1 [ 10.45] 7.2 5. 51
D-CODGM| mg/lr| = [ — [ =T =] -1 =T-T-1T-"T-T-T-1T-1-71-
‘PecODGM|mg/L | ~ | - [ =] - | - - T ~T1T -] -T-1-1-1-"1-
CoDEr) |mg/i| — | — | = [ — | = =T -1 T =T -1 -1 -1 =1 ~-1-=
D.CODC [mg/1]| — | — | = [ - [ - [ — | === -1 -"T-"T-1T -1+

S8 mg/t | 14.0127.2|13.2(25.2|287[21.7/38.8(267[22.7)18.2[20.7[22.7]88.8]13.2]24.1
KIBEE S |ww/100n| 1, 1042|1742 2. 8B+1] 7, 0E41[ L, TB+2[ 7. 0B+2] 2. 4E+2] 1. TE+2[1. 18423, 3E+2]3, BE+2] 2. 38+1| 7. 9B+2| 2. 3E+1 ] 2. 1E42
TN mg/l {1,151, 08| 1,00|0.850.80|0.78|1.08(0.81/076(0.79/[097|1L01]L15][0.76]0.92
TP mg/1 10.07210.082|0. 083]0. 118]0.1040.078(0. 114[0. 108|0. 087,0. 085|0. 08710, 07910, 114]0.072]0. 081

NH,~-N mg/1 10.0810.09(0.08(001]001(0602(005{000/0603[0002(00310.07%0.09]0.001]70 04
NO,—N mg/1 ]0.01210,017/0.011[0.003]0.002[0,002|0.008/0.002]0.001]0.002/0.017]0.010]0.017]0.001]0.007
NOz—N mg/1 0.40]0.85]0.12]0.04]0.00]0.00]0.09[0.03]002[001[0.16]0.06]0.40]0.00]°0.11
IN mg/1 | 0,44 10,46 0,21 0.05[0.012] 0,02 0.15] 0.03[0.05/0.03]0.21]0.14]0.46] 0.01]0.15
ON mg/1 | 0.80 ] 0.66]0.80[0.83]0.82/0.78/0.90/0.84[0.76/0.80]0.81[0.91}0.91]0. 66 0.81
D:0ON mg/l | ~— — — — - — - — - - - - - —
*P.ON mg/l | — - | = — — — — — — - - — — —
DTN mg/l | — — - .| - - - — ~ - - | = — .=
TN mg/1 [ 1,24 11,127 1.01]0.88]0.832] 0.80 | 1.05[ 0.87 0.8, [0.83]1.02]1.05] 1.24] 0.801] 0.98
D+«PO4—-P | mg/1 |0.003]0.005]0. 005 0. 003|0.006]0,006|0,006)0.099]0,013|0.004]0.003]0.003]0.099(0.003]0.013
D:TP ng/1 — - — — -~ — = — — —

*P.TP ng/1 - - — — - - — — — - - — -~ — —
1C mg/l 11,5 12.0]11.4)185]13.9|13.8(16.9]|14.5[14.8[138.7]128]13.0] 150 11.4[13.4

. TOC mg/1 6591677471 ]70[76]|62]|76|72|75|78|01]62]7173
*TC ng/1 )] 18.0 Zl 1)18,1)20.9)21.0)20.9]23.5)20.7]21,9]20.9)20.3 20 8123.5)18.0120.7
D.0C | mg/1| — - [ - [ - [ =T =1 -1 =1T-=71= - | =1 =
‘p.oc mg/i| - T - [ — T — [ — T | =T -1 -1 -1 -1T=1T-=-T1T-"1~=-
D Fe e/l — | - [ - | - | =~ [ = - [ [ = =1 =T =1T=1T<-71=
D+Mn mg/l | — -~ -~ — - -~ — — — — — ~ — — —
Fe mg/l | = | = — — — — - | = — — — — - — —
Mn g/l — | = [ - [ — | = - [ - - I = -1 = -1 =1 =71-+=
w BE |19.8]31.4]153/80.6]40.0]823]50.7[30.5][265/(19.0]43.0/[26.6]50.7] 15.3] 30.4
BEAR(20°C) | ps/en| 417 | 898 | 383 | 350 | 374 | 433 | 406 [ 411 | 399 | 419 | 402 | 485 | 435 | 350 | 402
Ca g/l — | - = — | - -1 -1 -1 - -1 -1 -1I=-1=-1=

Mg mg/1 - -

pH4 87V JBE| mg/l | 65.1(68.1]68.1[651(591/621]69.1]67.1[757[68.1]721](78.7]78.7]59.
p HY. 0% B| mg/1 | 10.1)6,00)4,81[504)|5.64]584]|584[4.08[508]4.08[4.53]8.86]10.10]4.03]577

p HO. 07 b4 Y B mg/l

S04% ng/t | — - - - - - - - - — - - - = -
cl- ng/1 | 65.6 | 65.7|69.8)57.4|56.9(69.2(638|64.8|59.8]50.7[57.8]70.2]70.2](56.9]68.4
N a | mg/l | - - — — = - — - — — - — — -~ —

K mg/1 — — — — — — — — — — . = — — _ —

T - 8i0, mg/l—————‘~~————~—~—
s )h ng/l | — — ' ~ — —

!

I

|
i

Chl-a pg/ 1) 47.7|54.3) 64,7 54 91563445 77.0|53.0[522)89.4|61.8 6 54177.0]33.4]5589
Chl-b pg/l] 1.8 18812127 ]19]25|07 |46 2822 1521|461/ 07] 24
Chl-¢ pwg/l] 7 114.2/11.5| 7.8 [ 86 | 66| 91|58 )49/82]|98 /104|142 4971 8.8
TaA74F Y |ug/l] 22 | 26.2)22.6[20.021.1]21.7]250 21.4 22,8 128.0113.0]19.8] 2801301219
oA A Y RIS IA| ng/1 - = - - - - - - - -
I *Eﬂ@lﬁﬂli&‘t@ﬁﬁk&bﬁcwta 3. P-ON=(ON)- (D ON) §.P-TP=(TP)~(D-TP)
1LP-COD=(COD)—(D-COD) 4, D-TN=(IN)+(D-ON) 72.TC=(1C)+(TOC)

2 I N=(NH4-NY+(NO2-N)+(NO3-N) 5 TN=CI N)+(ON) 8§ P-OC=(TOC)-(D-0C)




COKEER (20 2)

A Al ey FARJI F1J12 FI4R)I] Epk 114 (199948
I H Bz | 1/5 | 2/2 | 8/2 | 4/14 | 6/11| 6/8 | 7/6 | 8/3 | 9/1 1076 ) 11/9 | 12/1 TR | e/ Ml | et
2-MIB Jug/1]| - | - | - | - | - [ -] - - -1 - T -1 -1 -1 -1=
VAAI v pg/l]l = - — - - — - - — - - — - - -
woprmiie [mg/l | — | - [ = | =~ | = | = = | -1 T -1 -1 -=1=71-=71-=
PowkhERREE |mg/l | — | — | = | - | = | - [ = | = =T -] =1 -1=T1T-=71-+=
TewthnER (ng/t | - | - | - | - | - | - [ -~ | -1 -1 -1--1-1-=1T-7T°=
iR | mg/l - — - — - — — — ~ — - — - — —
7 nedvhEEE | mg/l | — - — - — — — - — i — — — —
TN_LEE mg/1 [ 115 1,08 ] 1.00]0.85[0.80]0. 781,03 0.8/ [0.76[0.70[0.97][1.01[11570.76 092
TNHE ng/l| — = - - - - - - - - - - - -
TNTFE mg/l. | 1,21 | 1.,11] 1,06 0,89 0.85]0.81]1.107]0.91]084]0.87]100]0.92]1.21 [0.81 |0 96
TPLE mg/1 {0.072]0.082]0.083| 0. 113[0.104]0.078]0.114]0.108]0.087]0.085]0.087[0.079]0.114 [0. 072 |0, 091
TPHE mg/l | — — - - - - - - | = - - - - - —
TPFE mg/1 [0.082]0.084[0.091(0,096]0.106]0.079) 0.13 |0.133]0,109|0.116]0.088(0.073[0.133 |0.073 |0.099
COD.EE mg/l | 8.84 |10.45] 8.55 | 8.56 | 7.22 | 8.08 | 8.24 [8.27|8.71|8.96|8.63|8. 11]10.457.22 [8.51
CODAHE [mg/1| - | - | — | — [ = — T = — |l -1 -T=1T=-T1T=-71T=
CODFEB |mg/1| - | — | — | - [ T — T — T -1 - T -1 | — 1 -1 -1°=
KB kb ‘C - — — -~ — — = — - — — —
&t o I I N S I N A e A A
0.5m Bl I N N e e T I P e
1.0m . °C - - - - — - — — - = — —
2. 0m °C - - — - — - = - ~ — - -
3.0m C | - - T =T =1T=T-=-T=-"T=1T=-1T=1T"=T-=
10m RO I e e I I I I I e e e
5.0m C | - | - [ -1 =T -T-T-"T=T=-—"r=-1T=7T=
6. 0m °C — — - — - — — - — - - —
Eill C | - [ - -1 -1 -T=-T1T-T=-T-1T-1T-
*DO Kb mg/l] — - - — - - - — - - — —
E R 7 I I N N I I I e I
0.5m g/l — | — | - [ - [ = [ - [ =1 -1 -1 =-T=1+=
1.0m. mg/l | — - - - - — — - - - - -
2. 0m mg/1| — [ = - -] =-T-T1T-=-T=1T-7T=7T-=
3 0m mg/l | — - - — - — - ~ ~ — — —
4, 0m mg/l] — | = | - | - | - | - | - - -1 =1T-71+=
5, 0m mg/l | — — —~ - — ~ - — — - — -
6. 0m mg/l | — - - — - — - — ~ — - -
1] mg/l | — - - - - - - - - - — -
AERE AL| x| = [ - [ = | - = | - — [ = - -1 -1- »
Bt Lux — — — o — — - — — — -
0. 5m Lux — - - — — — — — ~ - — -
L0m wx | - | - | - | = | =1 — | - — [ =1 =1 —1-=
2.0m lx | — | - | === =T-T~-T=-1-1-T1T+=
3.0m ux | — | - | = [ = =1 =1 =1T-=-T=1T-=T-=—7T-+=
4. 0m Lux | —~ - - - - — - - - - - —
5.0m lix | - | = | ~ | = [ =T =TT -T-1"=1-"1=
6. 0m Lux - - — - — — — - — — - -
B Lux — — — — - — — - - — ~ —
JERIHEORP | Y — — — — - — — -~ — - — —

%

¥ DOIRD ORIz X A ERR




KHER (FD1 1)

Fepl 1 145 (199948

FNPE A LS 4B )45 ﬁﬁﬁ_

i H | magr| 151 1/18 | 1/26 | 2/271°9/16 | 2/28 | 8/2 | 8/9 | 8/16 | 4/18 | 4/20 | 4/27 | 5/11 | 5/18 | 5/95
R & — |1 B | 8 | |8 | B | B | & /J\m | 2 || & | W | ¢ M | &
BokBe%l s | 8:20 | 9:85 |10:25| 8:56 | 9:22 | 9:30 | 8:20 | 9:45 | 9:52 | 8:10 | 9:40 | 9:46 | 8:33 | 9:43 | 9:34
ENIR m | 4.30]4.3114.25]4.3014.2714.82(4,1414.15]4.40[4.87[4.10]4.4814.05]4.20]4.29
BRIKIKE m ] 0.50]050]050]050][050]050/0.50]050] 050050 [050]050]050]0.50] 050
& i’ °c | 20471755052 70]60 50198/ [159/17.2/180.2]17.1]2L.0]28.0
& 8 °C | 5548 60]58|54]60]70/(82]00/[I140/158[17.8[18.2[19.8]21.6

OB () — | uesinn| i yzmg&\m@m?ﬁ@jﬁw 19| seiam | s sl piainm| wesm| e

£ KO | o | den | deR | s | JeR | R s | eS| 4 MR | R | fER | MR |
B cm | 30.50820]850]27.0]360]255/(17.5]150]16.2(15.0(20.0/ 16,0 14,0163/ 125
BYE m | 0.45]0.40]0.45] 0,50 | 0.55 | 0.40(0.80]0,20]0.20]0.27]06.80]0.27 (025 0.27]0.26
7k ~ 18 18 18 18 16 18 16 16 18 16 .1 18 168 18 16 | 16

pH — l7.82]808]785]802]840]8650799]%785]8.16/]8,87(800]896[790]7.97]786
DO ng/l [12.24] — | — [12.981] — - 12,27 - — [10.88] - - [849] - ~
BOD mg/l | 2.54] ~ - |1l — | - {872 — | — |38 ] — | — 1459 — -

CODQMn) | mg/t [ 6.10] 6,76 | 5.86 525765694 754788808707 [0.24)90.26|728|742]7.54

D:CODMn)| meg/l | 3.9614.00 (4,30 4.27]560]4.89)4.44]4.25]500[4.01]508)527]885]4.64]4.62

‘P CODMN)| me/l | 2,14 2.67] 1.56]0.98]2.05[255|810853)3.08]3.06]421(399]843]2.78/2.92
COD(Cr) mg/l 116.86] — | — [14.54] — — 119.36] — — [16.48] - - [19.85] — -

D:COD(r) | mg/1 [ 4.82] — — | 545 ~ - 856 — - (9.2 - - (12,02 — | —
S$S mg/l 1 9.6 1 9.0 108010.8110.6]11.51225099.0(260/220]20.0{220]84.0]8L.5]265
RGBS owroof L7848 — | — 2.8t — | — 17.98i[ —~ | — |T.E2| -~ | — |7.eme] — | -
TN mg/l 11,80 1.99 | 1.67(1.50] 1. 05 1,18 | 1. 64 1.90|1.41 | 1. 47/ 1.16(0.89]1.14]1,00]0.80
TP mg/1 [0.066]0.083]0. 071]0.068]0.061]0.070]0.106]0. 112]0. 116]0. 093] 0. 090]0. 1841 0. 090]0. 093] 0. 084
NH;—-N mg/1 [0.02(0.02(0.02]002/0602]001]0.07]008]002[003[002]0.02][003]002]0.02
NO,—N mg/) 10,013]0.019]0.013]0.014]0,010]0.015]0.015]:0.016)0.014]0.016]0.0615] 0. 007]0.011]0. 009]0. 001
NOsg—N mg/l 1 0.67(0.77]0.84]0.97]0.46]0.54]1,26]0.96!0.78]0.170.88/0.10]0.59]0.30] 0,05
IN mng/1 1070081 [0.87]1.00/0.49/057]1.85]1.01[0.8010.22/[042(0,13/0.631]0.33]0. 07

ON mg/1 ] 0.5810.91]0.69]0.491(0.59]0.62]0.68]0.79[0.63]1.15/[0.76/(0.79]0.58]067/0.70
D:ON mg/110.8410.49(0.40{0.3010.390.400.44[0.50(0.89]0.49(0.401(0.4100,2810.851/0.41

*P.ON mg/1 [0.24104210.2970.19/0.2810.2210.24]0201]0.24[0.66(0.36)0.380.28/0.82]0.29
*D.TN mg/t | 1,041,800 1,27(1.80[082]0.97 179 1.50]1.20]0.71]0.82]0.54]0.91]0.68]0.48
‘TN me/1 | 1.2811,7211.56(1.49/1.08(1.19/203]1.80] 1.44]1,97(1.18]0.92[1.1911.00] 0.77

D.-PO4-~P | mg/1 [0.008[0.002]0,000]0.005]0.005]0.000(0.026]0,0603]0.002(0.003]0.000)0.00¢]0.002]0.005]0, 019
D-TP | mg/110.028]0.020]0, 0440, 0420, 035 0. 024 0. 045 0. 030 0. 085 0. 015 0. 019 0, 045] 0. 006 0. 023 0. 026
*P.TP mg/1 |0.038]0.04310. 027]0.027]0. 025 0. 046] 0. 061 ] 0. 08210, 081] 0. 078 0. 071]0. 089/ 0. 084 0. 070 0, 058

1C mg/1 ) 15,5 ] — - 1441 - - 1 131] - — 1128 - — [181] — —-
TOC mg/1 ] 401 47181 |44 57|55 ]164]|60[76]50861]91[77]57]55
*TC mg/l [18.5] — — |18.8] — — [19.5] — - (185 — - [20.8] — -
D-0C mg/l 1221251624127 81183/389140137]47]441]381]385]30

‘P.OC mg/l ) 1.8 1292115 2080248180386 2213890/ 47(89]22]25
D+ Fe ng/1]0.28] — — 10.36] — - 10,20 — - o]l - - 10.18] ~ -
D Mn ng/1 | 0.00] - - lo00] — - [002] — - [0.00[ — - 1000 — -
Fe ng/1 10,86 — — 1054 — - 10.68] — - 10,7 —~ — 10.47] — - |
Mn ng/1 [ 0.08] - — l004] — — [0.05] — — (o009 ] — - [0.06] — —
B & 185 — - |10,2] — —_li7.5] - — [18.8] ~ - [25.1] - -

BBA(20°C) [res/cn| 280 | —~ — [ 286 | — — [ 330 | — — [ 303 | - — 214 ] — —
Ca ng/1 | 17.3] — - 189 — - [19.5] = — |15 — — [11.4] - -
Mg mg/l | 7.97] — — [795] — | — 1842 —~ — 688 — - |14 7] = —

p HA 87 N4V E mg/1] 49.7] — — | 54.0] — — 529 - — [5L4] = - [42.8] - -

p H. 082 BE| mg/1 8.32 - — 129.55] — — 2985 — — |27.40| = | -~ 468 = ~

p HO. 074 Y B mg/1 1l = — — — — — — - - — — — -
80,°%" ng/1 30.3 — - 1 8L2) —~ —~ 18011 — - 1280 — - 82.2 — -~
cl- ng/1 | 80.8] — - [86.0] - — 801 — — [ 844 —~ — [92.8] - -
Na mg/l[20.1] -~ — 13804 - — 18%.4] — —- [27.6] — - [2L7] — -

K mg/l | 5.10] — — 1583 ~— - | 5567]. — - 4] = - {417l - ~

T - §i0; mg/1]19.5| — — [15.58] = — |25.84] - | — [28.5] — - [a10] - -

] mg/1 |14, 44} ~ — el - - [1l2] = — 58] — — | 6.88] —
Chi-a wg/1]48,2)47.2128.0 50,0 (50,8 56.4(65.8(94.1(08.6/90.9[144.4/120.2] 94.1 753 5.3
Chl-b pg/i) 22184187040 50(41]90]54]102[19.4[13.6]10.8] 87 |99 |55
Chl-c wg/1]1 6019846160158/ 81 [161/]13.3(150/[18.1(36.1]80.8 158254170

TJxeA74Fv lpg/tl 051 1.8 186581 L0l 011 1.2 (18.10154( 9010 0.4 (48,61 9.4 (22.6(16.41 6.8

s A v REEes ] me/1 10027 — | — [0.02] — — J0.04] — — T0.02] = — 001 = —
DARI Y |wg/ 1]0.020]0.035]0.017[0.018]0.012]0.013]0. 013]0. 018]0.027[0.078]0. 028} 0. 612]0. 001]0. 002] 0. 001

- 2-MIB_ |ug/1]0.006[0. 007(0.010/0.008}0.019]0.010(0.011]0,0106[0.018]0.071[0,084(0,028(0.001]0,002(0. 001

Mnuad vk RABCTINEP) | mg/1 | — = - - - - - - - - - - = - -
eSS HENOIE B RRROPBEIT L H kb, 3. P-ON=(ON)Y—(D-ON) * 0.P-TP=(TP)~(D-TP)

1.P-COD=(COD)-(D-COD)

2 I N=(NH4-N)+(NO2-N)+(NO§-N)

4. D-TN=(IN)+(D-ON)
5 TN=CIN)+(ON)

. TC=(lIC)+(TOC)

8, P-OC=(TOC)—~(D-0C)




KEFEHR (£ 1~ 2)

A2 [#LEM] KB AR Ml ' SR L I4EC109948)
I H | #4r | 6/8 | 6/16 [ 6722 | 7/6 | 7/21 ] 1/27 8/24 | 8/7 [ 9/21 | 9/28 [ 10/6 [10/18]10/28
K # - | 8 | B | & | £ | 2 | 2 | & B [ & |82 |8
BRIk W | 8:81 | 9:48 [ 9:43 | 8:30 | 10:12] 9:51 10:04) 8:27 | 9:41 | 9:85 | 8:86 | 9:19 [ 9:45
£k m J4.2414,261450]4.13]4.38]4.20 4,2714.20|4.85 | 4.20 [ 4,004,844 10
BokakiR m | 0.50[050050]050]|0,50] 0,50 0.50] 0.50 | 0.50 | 0.50 ) 0.50 0.50 | 0,50
& B °C_128.71263]258]20.229.4]802 30.0126.6]23.4127.0(20.5] 158 19.8
& B °C_ 124.3125.8(123.8[22.927.2]28.5 30.4(27.2(260)25.5)21,718.8]18.1
N CEED - il MR IR A e L o) eiam| wspeseim| wsbeia
2 & 4R — | R | e | den ) i G ‘ R il 3
- BmRE cn 120.0)145)14.5] 11,51 16.0 16,0 22,0129.5)18.0124.0] 23,5 16.01 18,0
B m | 0.83[0.2710.20]0.17]0.27]0.28 0.38 10.48)0.85(0.40[0.80] 0.27]0.25
=) — 16 16 18 18 168 14 16 16 16 16 16 16 16
p H — 1822791 |7.78117.99(8.1617 85 8.051820|814)853)878[8.00]8.66]
DO mg/l]8.68] — - | 7.6 — — — 1847 - — 1906 — —
BOD mg/l | 3.68[ — — 1321 — - = 1333 - — 1360 — —
COD) mg/l {7,388 17,06166617701!9.931°7 48 6.70 | 6.68 {8.04 | 8,54 | 8,40 (10.02] 8.42
D«CODMm)| mg/L 14,73 15.20)4.82)4.62]5.82] 5.50 4,80 5.48)5.59 ] 5. 6115 86]|5.78]4.91
*P.COD(Mn)| mg/l | 2.65 | 1.77) 1.83|3.08|4.61[1. 98 1,901 1,20 | 2.451 2.98 | 8.04 | 4.29 | 8.51
COoD(Cr) ng/1 [ 10,40 — — [1L81] - - — [14.80] — - 120.93] — | -
D+« COD(Cr) | mg/1 | 5.8 — — | 818 - - — [10. 04 - - 112.62] — —
S$S mg/l | 24,0(28.5)20.0)40.0(26.3129.8 17811751 27,61 26,4 | 25.6 | 33.0 | 25.6
AIBBHA  lewioom|d, 0042]  — — [3.8E48] —~ | — — |3.9848] - — 70842 - -
TN mg/1 | 1.00)0.85]0.87 ] 1,101 1.47] 1,60 1.36 ] 1.18 1 0.80) 0.81 ) 0.85( 1,191 1,22
TP mg/1 10.104]0,080(0.070]0. 127(0. 107{0. 101 0.08710.094/0,091({0,001]0,080/0,112(0. 105
NH;—N mg/1 ] 0.02)0.02]0,06)006]0.02]0.03 0.03(0.05/001]0.02/[002]0.04]0.01
NO,—N mg/1 10,002]0,002|0.012]0.082|0.019]0. 089 0. 0600, 020]) 0. 0040, 00210, 002] 0. 006] 0. 007
NO;—N mg/1 ] 0.01]0.01]0.06]0.32(050]0,65 1,141 0.48 10,08 | 0.07 ] 0.15] 0.11 [ 0.28
*IN wg/110.08(0.03[0.13(0.411/[0.54]0,77 1.2310.50]009[0.09]0.17]0.16]0.30
ON mg/1 ] 0.96]0.74)0.68]0.69] 094 0.84 0.50) 0.6910.7210.77 ] 0.68 | 0.84 ] 0.92
D:ON [ mg/1]0.586)]042/0.39]0.41]0.48]0.48 0,2110.87)0.41]0.8510.35(0.40]0.44
*P.ON mg/1 | 0.4010.82]0.2010.28 [ 0.46 | 0.36 0.2910.3210.81]0.42]0.33]0.44] 0.48
‘DTN mg/110,59]045/.0.52(1082]1.02]1.28 1.4410.87(0.50]0.44 ] 0.52 | 0.58 10,74
*TN mg/1 109910771081 [1.10]1.48] 1.861 1,781 1.1810.8110.88]0.85] 1.00[ 1.22
D+ PO4—P | mg/) 10.005]0.002]0.008[0.020]0.005]0.020 0.009]0.014]0.010/0.002]0.005]0.011{0,003
D-TP mg/1 0.003(0.013]0.010(0.032(0.017(0.025 0.02510.08210.020!0.01210,01810.025(0.012
*‘P.TP mg/1 10.09110.067(0.060]0.095[0. 0900, 076 0.062]0,062)0.07110.079/0.077]0,087]0. 098
IC mg/t [12.7] — | — T148] — [ - -l = .- Tuas] - [ =
TOC mg/l] 52562148 63]82]50 571558171179 168871178
*rc mg/l 117.81 — - 121 - - - 1 18.4] — - 120.8] — —
D.0OC mg/l] 8.0 ) 8.3 811381421 238 3.4 1 3118646182411 40
*P.0cC mg/l ] 2.2 1 1,91 L7(382]40] 229 28124185 888146338
D+Fe ng/l1 10,08 -~ - 10,8 ]| — — ~ 160] - - [ 0.08] — —
D «Mn mg/1 10,00 — - [0.02] — — - 10,04 — — 10,00 — -
Fe mg/1 | 0.76( — | — |0.64] — [ — — 1099 — | — Jo81] - | =
Mn ‘mg/1 10,04 — - 10,08 . — - — 1 0.08] — - 10,06] — —
B B 1201 — — | 24.4] — - - 1150 — - {2L4| — —
HER(I0C) | ps/en[ 277 = — 211 — - — 308 - - 347 — ~
Ca mg/l 16,61 — — 118,11 — — — 118,80 - - 11871 — —
Mg mg/l (146 — | — |77 — [ — - |89 -1 — 98| — | -
pH4. 87 A V| mg/l | 48.0 ] — - 605 — — — | 531 - — [ 59.2] — -
p HY. 0% B ng/1 114, 48| — — 1 8.41] - - — 1861 — ~ 165 — -
pHO 07 NVA V| me/Ll | — - - | = — - - - — — — - -
S$0,°%" mg/l | 8.7 — — 1837 — - — 128.8] — = 1289 — -
ct- mg/1]83.8| — — | 854 — — —~ 1898 — — (44,9 = -
N a mg/l 1278 — - [ 305] — — - 1267 — - 130,71 — -
K g/l 110.61] ~ — |10,53] - — - 527 — ~ 5.3 — —
T + 810, ng/l | 28,7 — | — [40.0] — - - [18.1] = - 90 = | —
MY U A mg/1 11,41 — — 111.89] - — - [ 701 — - 342 — —
Chl-a ng/ 11686 86.9]33.0)37.0)]68.6) 298 30.7)82.4[77.6|54.9181.5[42.2]33.7
Chl-b | wg/1) 8.0 2.6 (8617247185 1.2 1211421551 28| 17140
Chl-c ug/ 11180 4.9 | 6.1 1 11.4] 7.1 ] 4.6 1.9 1 8.9 1861 75| 57]60] 40
TJxA74F v lug/1]117.61 0.5 | 4.8 110.9] 2.7 [ 2.8 288|147 ) 1.9 [ 8719821481852
B A VvRERER | ng/1 ]0.01 | — — [ 0.01] — — - 10,02] - — 10,02 — —
VARV |ue/110.014]0.022]0,009[0. 007]0.003] 0. 004 0. 004]0.008(0.002[0.001]0.001]0.002]0.002
2-MIB £g/110,015(0,041(0.01410,011]0.030/0. 009 0.002]0.039]0.001]0.000]0.001]0,001]0.001
Moy R ARCTINRP) | mg/1 — — — — — — — — — - | - — —
i FENOEH RO & b Rdiz, P-ON=(ON)—(D-ON) 6. P-TP=(TP)~(D-TP)
LP-COD=(COD)~(D-COD) D-TN=(IN)+(D-ON) 7.TC=(1C)+(TOC)
2, IN=(NH4-N)+(NO2-NY+(NO3-N) TN=C(IN)+(ON) 8, P-OC=(T0C)~(D-0C)




KkBGEHE (201 -8)

A Y A e AR A s S 1 14E.(190948
H B | B | 11/9 | 11/24]11/80] 12/1 | 12/7 | 12/14 [BA Gl IME| T34 48
K& — | m | @ | o & | R :

KR Wesr 1 8:50 | 0:45 | 9:9270 8:40 | 9396 [ 9:42
Ak m | 4.85[4.25[4.26(4.80] 4.32 1 4.40]
Kk IR m | 0.50] 0.50] 0.50 | 0.50 | 0.50 ] 0.50
& @ °c |17.8[11.2]10.0] 87]10.2] 7.8 '
! °c_|16.0(18.0]11.9/11.2] 8.1 ] 881]30.4] 48 171
S CERD —  |usmsmln IR AT | 2k 1y R %
R OA QR |~ | e | e | des | e | e | des
BIRE cm [ 19.5(20.5)28.0]23.0/260]24.0
BRI m |0.30[0.25]047]0.40]0.48]0.40/ 0.55 | 0.17 | 0.38
Xk — I w116 | 16 [
p H ~ |84418.66[845/8.53(8,38(8.61]8600[757]824
‘DO - Img i1l — | - l11.66] = [ ~ [12.91]7.56[10.17
BOD [wmg/lam] — | - [a0] = — [4.59]201]881

CODQn) | mg/1 |7.96]7.08]665]690]764]780]10.02]5.256|.7.54
D:CODMn)| mg/1)5.65(4.68)|4.63]4.49|5.87]507] 573 | 3.85.| 4.89
*P+CODMa)) mg/) | 2,81 2.851202]|241)2.27[223)4.61]0.98]| 265

COD(Cr) | mg/1[12.82] — - 1871 - — 120.99]10,40] 15, 82
D:CODCCr) | mg/l [10.22] — | =~ |7.80 ]| — — 112, 62( 4.82 ] 8.70
SS mg/l 128.6122.0]16.3(128] 186 11,3]40,00(9,007(21.88
KIBERE |wenoom| 8. 9818]  — — |3.gm48] — — 18, 348(2, 8E+1|1. 8149
TN mg/) 11,20 1. 181088 (1,04 0.75/0.84] 1.99[0.75][1.18
TP mg/L | 0.077]0.103] 0. 067]0. 06710, 060] 0. 054] 0. 1341 0. 054 ] 0, 080

NHy—N mg/110.02]001({001]002[001]002(013]001]0.03
NO,—N mg/1 10.009(0.010{0.006(0,010)0.005] 0. 002] 0. 089 | 0, 001 | 0, 020
NOs—N mg/1 {0.56]0.73)0.83|0.48(0.240.11] 1.26(0.01] 0.44
*IN mg/1]10.6910.75]0.85[052)0.26)013]1385]003]0.49
ON -mg/l 10.62 ) 0.58|0.44]0.560]0.59/]07]/115]0.440.70
D-ON mg/110.8010.83)024[029/0.84041]056]0.21]0.38
*P«ON mg/1{082]020/0.20[021]0.25/[0.29)0.66]0,19]0.81
*DTN- | mg/1]0.89)1,08)0.59[0.81]0.60]054]1.79]0.44 [ 0.87
*TN mg/111,2011.2810,79(1.02)0.85/083]203]|0.77/118
D-PO4~P | ng/l|0.009]0.0000.000]0.000]0.0000,002]0.028)0,000)0.010
D:TP mg/1 10.008]0. 0040, 004[0.013)0.0140.015] 0. 051 | 0. 004 0. 020
*P. TP mg/1 10.069)0.099]0. 0680. 054 0. 046 0.039]0.0990.01810. 070

IC mg/l | 12.4] — — il - | 156]12.1] 185
TOC ng/1] 6.6 | 6.6 | 59 | 6.4 6.4 6.319.11381]868
*TC mg/1 19,0 — - |185] — — | ot1]17.9]10.4
D:OC - |me/1]81(82]82]| 40/ 86| 89|47 | 1.8 ] 8.4
*‘P.OC mg/l] 85 (84|27 ]24|28[2d4l47]15] 29
D:Fe mg/l [ 0.10] — - {012 — ~ |03 |00L]015
D 'Mn ng/1]0.08] — - [0.00] — — 10.04]0.00] 001
Fe ng/110.62! — - lo2s| — — 1 0.,8110.25] 0.59
Mn mg/1 10,05 — - | 0.18] — - | 0.181002]0.08
i3 E 22.9] - — [18.0] — — | 25.11] 6.5 | 18.4
ﬁ’@Z%B(ZO"C) ps/cn| 844 | — - 219 ] — — | 847 | 214 | 295
Ca mg/1 | 18.7 ] — - [1n0] = — 1197 11.4]17.5
Mg ng/l | 6.8 | — - |l7n14] - — | 14.70] 8 50 | 8.91
pHA. 87 VAV E| mg/1 [ 56,0 — — (50,0 — ~ |1 59.2142.8]5L2
p HY. 0% El wg/tl271] - — |2.04]| — — 146.80] 2.71 | 14.64
pHIOFNAVE] mg/1 ]| — - - [ = - — — — —
§0,*%" mg/L 87| — — 830 ~ — | 8.7]280] 3.8
cl- ng/1]8L8] — — 1840 —| — |44.9]26.8]84.7
" Na mg/l | 27.8] ~ | = |91.4] - — 18241217281
K g/t {405 — | — (48] ~ — 110.61] 4.77 | 6.44
T + 8§10, g/l | 18,5] — | = [17.58] — — 140.00] 9.00 [2L 28
Heavyh |l eg/1]1L30] — — 104 — [ — 114.44[1.04]8.15
Chl-a pg/1].54.8]65.4|49.1(51.1[42.1]30.4|144.4] 28,0 | 58.4 '
Chl-b g/l 229124188114 1,71 L81186[ 1.2 4.9 |*PoEBIRKNROHEIZLHED:.
Chl-c wg/ 1] 89 116.4[10.83[10.7] 85| 4,2 180.8] 0.6 | 10.5[l. P-COD=(COD)—(D-COD)
TaA724Fy \pg/1] 8.6 1 40 ] 1.2 [ 85| 412814861 0.1 /]100]2 1N= (NH4 NY+(NO2-N)
g A v RmEEEs | ng/1]0.01] = ~ 10.08] — | = Jo0.04].0.01]0, 02 HNOS-N)
DA XY |ue/1]0.001]0.0010.002]0.001]0.008]0.0050.08 [.0.00 0. 01 3.P-0N-—<0N>—<D ON)
2-MIB.  |pg/1]0.001)0,001]0. 00170, 001]0.004]0.011]0.08 |0.00 [0.01 |4 D-TN=(IN)+(D-ON)
Moy R baCTinee) | mg/1l | = — — — — — — — — 15, TN=(IN)+(ON)

% ' ' ) B. P-TP=(CTP)—(D-TP)
: 7. TC=CICY+(TOC)
8. P-0C=(TOC)-(D-0C)




KBHER (2D2-1)

P A YT T FURN FaIES B SPRY 1 L4E (1999
15 B wgw | 175 | 1/19 [ 1/26 | 9/2 | 2/16 | 2/23 | 8/2 | 3/9 | 8/16 | 4/18 | 4/20 | 4/27 | /11 | /18 | 5/25
TNEE | g/l | 180 199 1.67 ] 1.50 | 1.05] 1. 18| 1.64] 1.90 | L. 41| 1.47 | 1.16] 0.89] L. 14 L. 00 0.80
TN g/l [ 1,82 — | — [Lda| - | — [129 ~ | — [L48] — | — [L10] ~ | —
TNTH | mg/ 180 — | — [1.87] — | — [t.8] — | = J[Ls7| = | = [nu| — | =
TP LE | mg/1 [0.066]0.063]0.071[0. 069]0. 061[0.070]0. 106]0. 112]0. 116]0. 093] 0. 090] 0. 134]0. 00] 0. 093] 0. 084
TPayg | ng/1 [0.068] — | — [o.069] — [ — [o.om[ — [ — Jooss] — | — Jooes] — | —
TPTE | mg/i [0.076] — | — [0.070] = | = o097 — | — [0.099] — | — lo.0g4| — | ~
CODLE | mg/1 | 6.10 | 6.76 | 5.86 | 525 | 7.65 | 6.94 | 7.54 | 7.8 | 8.08 | 7.07 | 9.24 | 0.26 | 7.98| 7.42 | 7.54
CODWE | mg/L|685] — | — 693 ~ | — |rat| — [ = [ner| — | - |nu]| - | -
CODF/E | ng/L|602] — | — [565] — | — [7.68] — | — [716] — | — [7.18 =
N I IS N I R I A I N I A I I R I
. #m| °C | 6645|5958 556064 6.1]86|180](61]|17.4]10.4]19.6]0.5
0.5m| °C | 5.7 | 4.5 58 | 5.4 | 52 6.8 | 6.6 82 87 | 13.8]16.0]17.8] 10.5]19.5] 214
1.0m[ °C | 6.7 | 45| 58| 5.4 52 68 6.4 8287 [(3.8]15.9]16.8]19.5]19.2]21.2
2.0m| °C_| 68| 45576452 68 648287 |188]158]16.6]19.5]19.2]21.2
3.0m| °C |58 4567|5452 68]64|88]87|188]1(5.8[16.4]19.5]19.2]aL.2
40m| °C | 5.8 | 4.5 56 54|52 68| 648887 |188]|157]16.3]10.5]19.2]21.1

5 0m| °C — - - - - - - - - — - - - -

bom[ °c | - | — | — [ - [ — | -1 - - [ - - T T -1+
Bim| °C | 5.8 | 4556|5452 6.8 6.4 83|87 ]187]156]162]10.5]10.1]2L1

®*D0__ kE[mg/l| — | — [ — [ = [ — | — T - [ - [ = [ - [ -1 T =1 -—T-
| g/l | 112 | 112 10.8]10.5 ] 10.4 [ 10.7| 12.4| (1.2 [ 11,8 10.2 [ 110 10.1] 8.0 | 7.9 | 7.1
0.5m| mg/ | IL 1] (1.0 [ 10. 1] 10,8 10.1]10.2[ 12,4 10.2[10.7]10.2|10.9] 9.8 | 8.0 | 7.8 | 7.0
1.0m| mg/1 [ 10.910.7] 9.8 | 9.8 | 9.9 [ 9.5 [ 121 [ 102107 10.1[10.2] 8.7 [ 7.9 [ 7.9 | 6.4
2. 0m| g/l | 107 10.4] 9.6 [ 9.7 | 9.7 | 9.1 [ 121|112 1L.7][10.1] 8.9 [ 8.8 | 7.9 | 6.9 | 6.0
8.0m| ng/1 [10.0] 9.5 | 9.1 9.5 8.8 9.0 | 121 1L.2[101.2] 9.9 0.6 7.8 ] 7.9 | 6.6 | 5.7
4.0m| mg/1 | 8.9 | 9.7 888990090 1210]10.8[10.0] 0.4 ]88 7.6 7.6]57] 4.8
5m|mg/L| — | - | - | = | - | - - [ -1 -1 -1 -1 -1 -T1T-"71-
bom|{mg/t | - | = | = | — | — | — | - | = | = | - | -1 -] -1 1=
| mg/1 | 8.9 0.5 | 6.1 |27 ] 0.8 | 1.8 [11.8] 0.4 | 2.1 | 0.7 | 42 | 0:8 | 5.8 | 1.9 | 0.9
KRR k| Lux | 8980 | 9900 |41600] 16600] 44500] 47000] 83000] 5210 | 15800 | 11200]41800] 98200] 16300 [ 88700 ] 80200
| Lux | 8520 | 8410 (26700[10400[42100{41100{29100] 4350 | 12600] 7210 38700{ 95600] L0500] 74600 77300
0.5m| Lux_| 1340 | 2470 | 8130 | 3020 | 9870 | 7090 | 5500 | 287 | 1410 | 1350 | 4560 | 8460 | 1190 | 1870010300
1 Om| Lux | 671 | 881 [ 1200 139 | 2450 | 1640 | 184 | 93 | 187 | 164 | 1020 | 1480 | 42 | 1280 | 1270

2, 0m| Lux | 115 | 104 | 241 | 82 | 874 | 238 [ 40-| 6 | 2 | 6 | 108 | 61 | 1 | 108 | 45

3.0m| Lux | 84 | 24 | 51 | 16 | 105 | 70 | 0 | 0 | 0 | 0 | 51 | 15 | 0 | 40 | 18

40m| Lux | 0 | 0 | 0 "0 [ 2 [ 0ol ol o0l o0l o1l o o]u]o

5, 0m| Lux - - — - = — - - - = - - - - -

6. 0m| Lux - - — — - - - - _ - - _- —- — -

iR Lux - - - - - - - - - - - - - - -
JEJRmE EORP | mV | 546 | 189 | 160 | 168 | 149 | 162 | 107 | 97 | 200 | 146 | 40 | 158 | 85 | — | 158

1%
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KEER (XD2—2)

Bliie || Ke% FITRI] T B o il SERL 14E(199048)
T B | | 678 [ 6/15 ] 6722 | /6 | /2t | /e | 8/8 | 8/17 | /24 | 9/7 | 9721 | 9/28 | 10/6 | 10/19] 10/26
TN.EE mg/1 | 1.00 [ 0.95 ] 0.87 | 1.10 | 1. 47 | 1.60 | 100 | 1.01 | 1.36 | 1.19 | 0.80 | 0.8 [ 0.85 | 1.18 | L 22
TNehE me/L | 0.07 - | — || — | = [ros| = [ = [ree|l = - [ew]| - [ -
TNT/E | mg/1]095] - | — (L8] ~ | = [eit] ~ | = el =1 = Josy| - [ - |
TP.LE ng/1 0. 104 0. 08010, 070 0. 1270, 167]0. 10110, 0970, 068 {0. 087 0. 084 (0. 081 (6. 091 0. 0800, 1120, 105
TPHE mg/1 10.008] — | — Joaat] = | = Jo.098] — | = To.osd] = | - To.0es] = [ —
TPFE | mg/l 10.006] — | — o] — | — log09] — | — Jo.084] — | - fo.084] - | -
CODEE | mg/) | 7.88]7.06]6.65 770 ]0893]748]7.47]7.60 670668804 854]840]10,02] 8 42
COD#JE | mg/1|6.78] — | — [789] — | — 764 = | — [784] - | = [770]| = | -
CODTE |m/l 680 — | — |7.87] — | — [800 — | — |606] — [ - [780] — | =
km kbl c | - | - | -1 -1 =T -1T-=-1-T-1T-1T-T-T-1T=1T-

®E| °C | 24,8 | 25.423.7 [ 23.0 | 27.6 | 28.6 | 29.2 ] 29.0 | 80.1 | 27.2 | 25.9 | 26.7 | 21,8 | 18.4 | 17.9
0.5m| °C | 24.6 254 ]923.6 231273286 90.1]20.0[a0.0[27.2]260]2.8]21.7/184]17.8
L0m| °C_ | 24.895.123.2 23,1265 28.5 29,0 29.029.9|27.1]260]25.2[2L.7][185]17.6
9.0m| °C_ | 24.1|24.823.093.126.21]28.42801(29.0/[20.7]27.1(26.0]25.1][21.6]185]17.4
8.0m| °C | 24.124.892.623.1]26.2]28.328.7(28.029.6( 27,1260 26.0]21.6]185]|17.4
40m| °C | 24.1|24.8|22.5|923.1|26.1] 2832879280 |29.5]27.1126.0]950| — |185]17.4
50m| °C — — — - - — — — — — — — — — —
60m| C | - | - | - | - | - [ - | | =1 =1 =1-=-=1T-=1-=1T-""1¢-+=
Em| °c | 24.024.7 228 23.1[26.1]28.2]28.628.8]20.8]27.1(260]250]2L5]185]17.4
*DO_ Kb|m/l| - | = | - | - | -] - -1 -1 -1-1T-=-"T-T1T-1T=13+=
#| ng/L | 7.1 | 7.7 1 66| 7.6 83 | 56| 7.0 | 54|68 | 7.4 77192186 | 88 |10.0
0.6m| mg/1] 66| 7.6 64| 7686016556754 67|74]76]91]|85]|87] 88
1.0m| mg/1 | 6.3 7.2 | 59 .76 | 7.7 | 54| 686165 7075|8788 86| 9.7
9.0m | mg/l | 56| 69052 72|68]58]60]511]68)]64]74]285]80]84] 88
3.0m| mg/l | 4.9 | 66 47| 6762|4068 5158627182 79][78]85
40m| ng/1 | 3.6 | 54 | 88 | 5.3 | 40 | 46 [ 57| 51|55 5L ]70]70] — | 75]83
b0m|mg/t | — | - | - | = [ -1 - -T~-1-T-1T-1T-1T-T1T-T7T+=
60m|m/t | — | — | - | = | = | = [ = =1 =T -1T-—"1T-"T=T1T-1F-
B mg/L | 1.2 | 0.2 25 ] 0.6 0.3 ] 04 0.2 02040283 04][04]07]41
JKRIEE JKE | Lux | 7280024200 78800 [ 36600 | 87500 | 87800 | 95600 [ 99800 9420091600 11800 [ 67300 | 19600 | 18300 ] 72500
| Lux | 52700 19600] 69400 | 20300 | 89300 | 94500 [ 70300 [ 82600 | 81300 | 62500 | 7740 | 54700 | 17200 | 17200 | 69800
0.5m| Lux | 10400 1850 | 5480 | 3640 | 7100 | 10700 | 11000 10400 ] 18600 14700 ] 1090 | 6860 | 3200 | 4130 | 5850
L 0m| Lux | 2460 | 241 | 1100 | 64 | 875 | 1240 | 1330 | 1040 | 1710 | 2840 | 214 | 1540 | 421 | 328 | 1020
2.0m| Lux | 87 | 18 | 51 | 3 | 40 | 70 | 23 | 43 | 83 | 270 | 26 | 105 | 29 | 18 | 45
S.0m| Lux | 11 | o [ 12 [ o [ 1w 1l o 2 |21 | 40 | 2 [ 18 | 5 0 N
4 0m| Lux | 4 0 3 0 0 0 0 0 0| 15 | 0 N 0
5 0m| Lux — — - - — ~ — — - - — - - -~ -
B0m| Lux | — | - | — | - -1 — T - [ - -] -T-T1T-1T=T1T=171+=
Ewl ux | - | = | - | - | - [ = =1 =1 =1-1-=-"1-=T-1:=1-+=
BV LEORP | nv | 33 | 263 | 229 | 277 | 219 | 254 | 246 | 7 | (11 | 188 | 172 | 201 | 189 | 149 | 176

1%
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kAR (202 -3)

s [ R | R 43 | 58 4 i S 1 145 (19994E)
H H | Bd4r | 11/9,11/24]11/80) 12/1 | 12/7 | 12/14 [ B K4l R/ ME| F-451E
TNLE | mg/1 1 1.21 11,18 10.86)1.04)0.7510.84]1.99 |0.750 j1.18
TNHE ng/l | 112 — - 1 1L02] - —~ |1.48 [0.93 | L 17
TNTHE g/l 11,18 — - | L02] - — [1.57 10,89 |1.18
TPLEE ng/1 10.07710.108]0, 087|0. 067]0. 0800, 054]0. 184 [0. 054 |0. 088
TPHIE ng/1 10.075] - - 10.062] - — 10,121 10. 062 [0. 088
TPTFHE | mg/1 (0,079 - — 10,067 — — 0. 111 0. 067 [0. 080
COD LB ng/1 | 7.96|7.08)6.65(6.90]764]780(10.02[525 |7 54
CODHE g/l | 7.16] — — 169 - — |7.89 [5.93 |7.10
CODTH mg/l 1831 — - |20 - — 18.81 |5.65 [7.14
&R AkE|] C — - — - — —

FmE| °C 1159129 11.4(11.8] 9.2 84
0.5m) °C 115911291 11.6,11.4) 9.2 | 85
LOm| °C |15.9112.9|11.6]11.4] 9.2 | 8.4
20m| C 11689([12.9 1 11.5]11.4] 9.2 | 8.4
30m| °C | 1590129 11.5]11.471 9.2 | 8.4
4 0m| °C |15912.9(11.65])11,41] 9.2 | 8.4
5 0m| °C — — - — — —
6.0m| °C — — - - | = —
| °C [150]12.9)11.4(11.3] 9.1 | 84
*DO Kb mg/l | — - — — — -
K| mg/) [10.7]11.6(12.1]11.2]11.9]125
0.5m| mg/t 110,61 11.8112.0]11.3) 11.81 125
LOm| mg/1 | 10.5]10.6]11.9[11.4/11.7]12.8
2.0m| mg/ 110.4 10,2 10,7 11.4[11.5[12.1
3. 0m| mg/1 110.2] 9.9 | 11,4113 1L.8] 119
4. 0m| mg/1 | 9.8 | 8.7 10,8108 10,9119
5 0m | mg/1 — — - - — ~
6. 0m| mg/l | - - - il -
Em| g/l 1 41125 (65 1.8 7.9 |10.7
kHpEE skE| Lux |27400] 4480 | 41200 2610036500 23500
Fm| Lux ] 15800 3570 | 81700 2870025400/ 17400
- 0.5m| Lux | 7110 | 428 | 6870 [ 4180 | 4260.| 3180
1.O0m]| Lux | 1020 [ 113 | 2410 | 562 | 1480 [ 1090
2.0m| Lux | 44 1 255 | 25 | 228 | 284
3. 0m| Lux 3 0 20 0 18 74
4. 0m| Lux 0 0 1 0 [- 0 0
C 5, 0m| Lux — — - — — -
6. 0m| Lux — — — - — —
B Lux | — - - - - -
BEEEORP | oV -] 78 | 166 [ 94 | 119 | 163 | 115

%
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 KEEHE (01— 1)

SERE 1 1419

994F )

Bpg Rkl KGR FARI ES B

H . B | ®4r ] 1/5 | 1/19 | 1/26 | 2/2 [ 2/16 | 2/28.| 8/2 | 8/9 | 8/16 | 4/18 | 4/20 | 4/27 | 6/11 | 5/18 | 5/95

R ® -, W £ M| | B M| | & | & | & | B s |8 )
FRIK IR ks 110:00(10:52]11:05]10:49]10:42]10:14 8:57 [11:08]10:85[ 9:57 110:58] 10:20] 10:18]10:54 | 10:20
27k m | 4.10)4.4014.80]4.10/4.80]4.50/8.85|4.87]4.50)8395[4.42|4.72|4.17)4.40 | 4.60
KRR m. | 0.50[0.50]0,500.60]050]0650]0.50]0.50050]0.50]0.50]0.50]/0.60]0,50]0.50

& " °C 5.9 (69| 607290 82 10,0 6.0 | 8.5 .18.2(19.0)21,3]18.1[20.5]23.2
-k H °C 58 55 1666560727882 90150175 18.7]20.1/20.5] 22.8
Ll =) 2)) — || mien| s vivem| | | sl im| i vt sk g a
RBOAGHR | - [ER | R | R | eE | (R | R | R | :ﬂ!ﬁi@ (R | R | | S |
BRE cm | 20.51380.5]80.0)21.56[24.5/27.0)18.2116.0[14.5]|12,5|16.516.0] 162 17.5]17.5
BHAEE m_]0.35{0.40]0.45)0.40 ) 0.40|0.50]0.82]0.80|0.26]0.25]0.27]0.30]0.256/[0,3010.80

X — 17 1 16 | 16 18 18 16 18 16 17 17 | 18 18 17 18 18
pH — 18,90218.64)79)|84418.4618,81)|864(835(878|8821893]808]788)|873]|8.44

‘ DO ng/1 |13.98] — — 112, 75| " — — 113.62] -— — 111.82] — - | 7.85] — —

BOD mg/1152 | — — 4.8 — | — 14.8]| = — | 6.26] — — | 6,66 — —
COD(Mn) mg/l | 6,511.882]|7.48)7.068:43(7.64]8.27(8.20(9.23(9.72110.84]10.80] 829 |10,26/ 9.385
D:COD(Hn) mg/1| 3,26 | 4,85 | 4,60 2. 90 5,00 4.41[4.26|4.00/4.28|8.66[4.50] 5.82]4.107| 4.76 | 5. 51
*P.CODMn)| mg/l 18,26 8.97|2.88)4.16| 2.443.2314.02| 4,205 006, 06| 6. 34 4.98 14,191 550 3.84

., COD(Cr) mg/1 |16, 44 — 115,51 — — 120,00 — — 125,53 — 119.69] — —

D«COD(Cr)| mg/l | 5,68 | — - 697 - -~ 1880 - — |12.99] = — _111.01 -
S S mg/l | 17.6) 18,6 10.0[14.8[14.0| 14.5] 18.0| 28.5:[28.5| 81,0 28.5 | 22.5| 27.4 32 IJ 22, 0

KIBERE  [wwaow 4, 0849 — — ldom4gl - | — lr.om9] - — |2.888] — ~ | 7. 0848 —

- TN mg/l | 2,10 | 1,56 [ 1.70) 1.72 )1 1.48] 1.1812.14)1.88 | 1.36 | 1.85 | L. 19| 1.16) 1.67 1 1, 79 1. 15
- TP mg/1 [0,112]0,054]0.085[0.109(0.083(0.082]0.119/0.11210,139]0. 190(0. 146|0. 156/0. 125]0. 141]0. 117
NH,;—-N mg/110.01]0.01]602]001[003][002[00{]001]0,01/0.05/0.02]0.0L]007][0.01][001
NO,—N mg/1 [0.026)0.014]0.014(0,018]0,014]0,012/0,017)0,010(0,012/0,028|0.001(0, 008]0.023]0,001]0. 00!
"NO3—N mg/1 1 1,27]0.83]0.84) 1.05]0.95]0.51]1.17]10.36]0.58]0.9010.08]0.03]0.00]0.04]0.02
IN mg/l |- 1,3110.86{0.87)1.08(0.990.54]1.20]0.38/[0.60]0.98!0,10/[0.,04]0.99]0.05]0.08

ON ng/110.70(0.72)0.77]0.66|0.57[0.66]0.84)0.84[0.78]0.87([1.08]1.07]0.70].1.84/ 1.02
D+ON mg/) | 0.40]0.40|0.44[0.40 | 0.86(0.41]0,49(0.54]0.42]0.44]0.59| 0,58 | 0.8L]0.90 | 0.78
*P+ON. mg/l [0.80)0.82]0.33[0.26]021]0.265/0.35/0.80[0.36]0.43]0.491]0,49)0.89[0.74]/0, 29
‘DTN . | mg/1]1.7111,26]1.81|1,48]1.95/0.95] 1.69)0.92]1.02]1.42([0.69]0.62] 1.30]0.95 0,76
PN ng/1]12.01)1.57]1.64 1,74 11,561 1,20(2.0411,22)1,88)1.85]1.181 1, 11)1.68(1.69 |1 05
D«PO4-P | mg/110.005]0,000)0.000]0.002{0.008]0.000f0.023]0,002]|0.000][0.002]0,003|0.000]0.003]0.005]|0, 023
D TP | mg/1 {0.0800.027]0.084]0.031]0.028)0.024]0.047]0. 0190, 027]0. 0180, 028 0. 057 | 0. 006 0. 038 0. 080
P+ TP mg/1 10.082]0.027(0.051]0.078[0.055]0. 05810, 072]0.098/0, 11210, 17210, 123[0.099/(0.119]0. 1080, 087

1C mg/1°]18.2| — — 118.8| — — 1140 — — [ 1L6] — - | 11.8] —

TOC 'mg/l | 6581|5856 55661687280 80|98 11.7]12.6] 80 ]10.1 8.1

*rC mg/l | 18.5] - — 118.8| — - 121.2] = — [21.4] — - 119.8] - —
D-0C mg/l] 3.01321831301/(841341801451490!57/[61 01 45161144
‘P-0OC mg/1] 281 261] 2825|382 3_.4 8.8 1 856 411 411 586 6 | 85 [ 501 8.7

D:-Fe ng/l |0,49 | — - 10,20 — - [015] — - 10.82] - - [0ls| — -

D+«Mn mg/110.00] = - 1000 — - [0.01] = - 1000 — = 1000] ~ -

Fe ng/1 1058 = - 10.8] — — 10,40 — - 10107 - - 10,38 —~ -

. Mn mg/1]10.04] — — 10,04 — — 10.08] — — 1016] — - 1003] — —

g g OHiLal — - | 14.5] - - |1 18.0] — — 1292} — - 120.1] — -

HBROOC) |ps/en| 179 | —~ | — | 218 | — [ — [.248 | ~ | — 1208 | — |~ [ 162 ] — | —

Ca ng/1]| 14,2 — = 1 17.0] — — 1181 - - |1556] — = 1911 - —

. Mg mg/l1}15903] — —~ 1684] — — [7.48] - — | 551 — - [ 10.8] — —

pH4. 87V A VEE| mg/l | 46,9 — - | 52.1] = — [521] — — 1470 — - | 38.6[ — —

p HY. 0Bk E| mg/1 | 2, 60 - — {18,56] — — 118.04] - - |9 54 - - 18781 — -

p HY. 07 )4 ) ﬂg/l — — — — - — — — =~ — — —

S0 4%~ I /1 21 8] — — 1246 - - | 24.4] -~ - 22.5 - = 1250 — -

cl- ng/1 | 16.6| — - |124.2] — - | 21.5] — - | 18.4| = - 117.0] ~ —

Na ', ng/1 | 19,6 ~ - 1281 — - 121.8] = = |20.8|] — - |16, 0] — -

K [mg/Al314] — | .- |857] - — |4.48)| - - 1 327] — = 1848 - —

T +§i0, ng/1|2%4| — —' [21.44] . - = 17,92 = ~ 19311 - = 119.5] — -

Wy Uh ng/1 117, 14 — 12,2 — | 11.4] — . 279 — [ - [7.06] — -
Chl-a pg/ 11180, 0 97 516l.1]77.8 9.3 72.2 ] 91.4[126.9/178.4[179.8/128. 6| 109.6[117.4[183, 4] 107.5
Chl-b wg/1] 2.6 15061 44| 46| 56578610280 |141[14.6] 7.4 1L6[11.6]12.2
Chl-c pg/1127.4(15.0114.1]10.8)12.4110.5]28.1]81.5[86.1)50.7[42.2(41.3]83.9]30.6]839.1
TeAZ24FV pg/1] 1.6 | 4.4 139.8] 5.5 6. 122180 1260)] 5.6 20,4561 158]18.8](16.3] 8.4

1A A v REEs | ng/1 1008 - — [ 0.02 - 10.04] — ~ [0.08] — - 10,01 = —
VARV g/ 110.023]0.052[0. 081(0. 021]0, 011] 0. 018]0.080]0. 017].0. 04970, 084]0. 012/ 0. 015 0. 062] 0. 005 0. 004
2-MIB g/ 110,011{0.015/0,016]0,012/0.017]0.019]0.01810.017]0.025(0.084[0.083]0.036]0.001]0.004]0.004

VinopyyikRABCTiOER) | mg/1 ] — — — | = — — — ~ o — -~ = — —
f# MO BE R RRORI & b skebizo 3. P-ON=(ON)—(D-ON) 6 P-TP=(TP)-(D-TP)

L P-COD=(COD)-(D-COD) 4. D-TN=(CIN)+(D-ON) 7. TC=(I C)+(TOC) _

5 TN=(I N)+(ON) 8. P-0C=(TOC)—(D-0C)

2 I N=(NH4-NI+(NO2-N)+(NO3-N)
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H B | Bifir _6/8 6/15 | 6722 | 7/6 | 7/21 | 7/27 | 8/8 | 8/17|8/24 ] 9/7 [ 9/21 | 9/28 | 10/6 |10/19]10/26
R & i Mg | & | & | K| & | W) oM | B | & | & | & | F | 2 | i
KR K4 [10:92]11:10/10:27[10:81[11:81110:89110:56]11:08|10:50|10:07[11:10]10:17[10:15[10:85[10:25
£k m | 8.95]4,80[4,70(4.00(4.30(4,40(4.154.65[4.53(8.97(4.45(4,50]4.001|4.4714.40
BRI R m_|0.50(050(050]0.500.50]050050]|050]050|050050]050]050]050]0.50
& °C 1924.8127.4]195.01022.1/825/.80.9130.0[81.83[81.5(280/|2301}27.9(23.2]17.0120.2

, &R °C_125.8126.21285124.0)|27.8(130.0/29.9(30.5/80.21]27.8]26.0258]225]|18.8]|17.8
S @ () —  |wsieig SEARISE| W HR IS0 AR | ek 18 | AR AR S AR WOAR IR A | MRS 4% | AN 42i%
RS OERD | — | e8| JeR | R | eR | MR | R | MR | JER | R | R | RR | R | RR | R | KR
B cm | 21.5|14,7(28.5]| 16,0260 16.516.8]|250)260]228/[24.7|44.5)23.01235]24.0
B m_|0,30]0.26[040]0.25]0.8(0.25]0,20]0.38]0.40]0.37)0.40]0.600.87]0.40] 0.45
K — 17 16- | 16 | 18 16 16 18 16 16 16 | 16 18 16 18 18
pH ~ 1789180777078 )74718.87876)|7.75]8.10)8.00)7%896 )38 47 7.89 | 8.14 | 8.76

DO ‘| ng/1] 78] — ~ 1772 - — |10.41] - - [817] = - | 7.80] - -

BOD ng/l | 6,18 = — 1459 — — 16,42 — - (878 — — 18986

- COD(Mn) ng/1 | 8.54)9.10(7.90[883)9.97969[10.07(874)810]862(8 147961825948 929
D-CODMn)| mg/l 16, 12]5.02)4.59(510)6.67|65.28(56.685.47)5495.83)608!587]5.46)6.04]5.41
*P+CODMn)| mg/l | 2,42 |4.08 | 8.31|3.28(4.80(4.46(4.89|8.27/270]279(206]200]278]|344{3 88

COD(Cr) mg/l 18,08] — — 115.63] — — [25. 84| — — [19.28] — | — 115,98

D-CODCr) | mg/1 110.80] — — 12,92 - — 111,42 — —~ |11.48] - — [6901] — —
SS mg/1 | 29.8]26,0]20.5[33.8]22.6] 256/ 80.8]21.0[19.0[.18.5] 14.6] 11.6] 19.6]23.5]19.0

KIBHEBES  |wwaoom|1, 8848 — — |7.9m48] - | — |2.8Et4| - —~ |7.0843] ~— —~ |1.8Bt8] — —
TN - mg/1 10,99 L05] .04 L61 | L5657 L.28 | L7723 1,29 | 1.50 [ L.070.81]1.48]0.96] 1.18

TP _mg/1 ]0.146]0. 1240, 1070, 159]0. 118]0. 1261 0. 175]0, 116]0, 142(0. 174{0. 110] 0. 103/ 0. 156 0. 1210, 110
NH,—N mg/1]0.06]002[001[011]002[003/0.02[0.28[016]0.21]005]001]91210,08]-0.02
NO,—N ng/1 0.004]0.001)0.032]0, 027)0.020] 0. 0170, 016 0. 087)0. 032 0. 0410, 047]0. 0870, 07310, 010 0. 008
NO3—N mg/l | 0.08]0.02]0.12[0.72]0.880.36]093]0.22)046]|0656(022012]0.491)0.15]0,19

*IN ng/1 1 0,09)0.04[0.14]086/0.92]0.41]0.97]0.54/0.656/0.81]082]0.22]0.68/0.21]0.21

ON mg/1§0.90)082)0.86]0.75]|0.75([0.87|088079)0.64]070%]072]072]083] 0,88

D+ON - |mg/]0541048(0.38]0.50(0.82]0.46!0.6¢10.441!0.851(0.410.44]0,40}0.340.48 | 0.46
*P-ON  I'mg/110.36)089)048[025]043,0.41]0.37]0.85]0.29]0.35/0.31]0.32088]040] 042
*D+ TN mg/l | 0.68]047[0.62|1.86(1.24(0.87]1.480.98]1.0041.22/0.76|0.62](1,.02]0.64]0,87

*TN mg/l 10.99)0.86| 1,00 1.60|1.67|.1.28]1.85]1.83/1.20(1,57]1,07]0.94)1.401.04]1.09

D:PO4~-P | mg/l[0.008]0.005|0.002|0.015]0.008|0.0080.015|0.041|0, 048]0, 0420, 028]0. 00810, 027]0. 010]0. 008
D:TP mg/1 |0.02110.021)0.012(0.024]0.017]0.015(0. 037(0. 062/0. 0610, 062]0. 039]0.016]0. 0370, 022(0. 018

‘PeT P mg/1 10.126]0.108]0.095(0.135]0. 096(0. 1110, 13810, 054 0.081/0.112/0,071]0.087]0.118]0.099) 0, 097
1C mg/l | 1L4] — - 110,9] = —. 1 12,8 ~ 1 14.0] — | — [14.8] ~ —
TOC ng/l] 7.2 /81160 788619296 79 70168 71|77 |7.61]91]280
*re ng/l | 18,6 — —~ 118.2] .~ —~ 1224 = — 1 20.8] — — 1.22.5| — -
D:0C mg/l| 8.9 |40 89|40/ 45 50149 50| 4840|401 41| 42| 501]4.9
*‘p.0OC mg/1 8814112188 ]|41/142/47]29|27(28|311]36]34]411]281
D«Fe ng/l ] 0.08] — - 1016 ~— — 10,05 — — [ 0.08] — - 1 001] - —
D+Mn mg/l 10,001 — - 1000} — - 10,00} — - 1006} — - 10001 — -
Fe . mg/l | 0.54] — — 1050 - — 10.89] — — 10.28] — ~ 1054 ~ -
Mn ng/11008| —-| — 1007 - | —-1000]| = = 10.10] — ~ 10.,06] — -
iy & 1.6 — - 1188 - — 180.5| — - [20,2] — - 1185 — —
HBR0°C) | ps/en| 246 - — 170 - — 178 - — | 265 | — - 269 - =
Ca ng/l 15,0 — - 1180 = - 118.7] — — | 15.8.] — - 1182 - -
Mg ng/l | 12,91 — - 5.-1 - — 7.4 — - 7.8 — — 8.2 - -
pH4 87N VE| ng/l | 43.4 ] — - [4L7] -~ — |1 47.8| — — | 675 — - 1638 — —
p HY, 0% B| mg/1 118.48] — — 110.46| — — 1828 — — [10.05] — - 19.84] ~ -
p HA. 07V Y B mg/l - = — — - — — — — - | = - — — —
$0,4%° ng/1]128.8] — - 1206 — — 1230 — — | 24.8] — - 1282| — | —
cl- ng/l)25.1| — - | 45.0] — — 1166 ~— — [29.9] — ~ |26, - -
N a mg/l]22.4| — - 17,8 — - [17.3] — — 1 22.1] — — 1228 —~ —
K mg/1 | B.65 ) — — 1685 — - 17719 — — 1478 — - 1423 — -
T »S§i0, g/l 1 24. 1| = - 1 27.4| — —~ 1258 — - 1801 - - (162 — [ -
e yhy mg/l | 12.89 - (1L 4] - — |14.45] — - [14.45] — — 1426 ~ -
Chl-a - wg/ 1] 78,5 7 0173.0]56.6]|7221185.3|166.4]| 67.81.70,2|52.2191.9)80.6]559]981)708
Chl-b pg/1l 69057 (61 (00067 (11,0017.6(10.5/65) 6815671 704801!{61!70
Chl-c g/t 17.0111,9] 611 0.2 [10.5]14.2117.0]13.8] 9.6 | 9.8 | 7.0 | 6.7 | 13,9132 6.6
DA T 4Fv \pg/1]-22.01164) 2.1 |15, 1(18.2] 0.1 }18.4(15.1] 1.6 |11.2) 8.0 | 7.5 | 85 | 1.3 ]28.4
B REEES | mg/1 1001 — = 10,00 — - [0.02] — - 10.02] — - (1001 = —
VA RIY  |wg/1]0,009)0.050)0.059]0.029]0.005)0.005]0.005{0.008]0.002]0,006|6.001]0,001[0.001]0.002]0.002
2-MIB wg/ 1]0.034]0.087]0.085]0.032|0,044]0. 0431 0. 023] 0. 008/ 0. 003] 0. 0628, 001] 0. 000 0. 003 0. 002 0. 004
Minogyus R akCTNRP) | mg/1 | — — — — — — — - — — —
e | E RRRORHEI & DR, - 8P-ON=(ON)-(D-ON) + B P-TP=(TP)—(D-TP)
. 1,P-COD=(COD)-(D-COD) 4, D-TN=CIN)+(D-ON) 7. TC=(IC)+(TOC)

2 I N=(NH4-N)+(NOZ2-NY+(NO§-N) 5 TN=(INH+(ON) 8. P-0C=(TOC)—(D-0C)
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A L P TIIE? S 1 145199945
H B | B | 119 [L1/24111/80 12/7 | 12/14 [R5/ )Ml 4
R B | — | W [ m | W
BRI B sy [10:88[11:09110:12 10:44[10:85
Ak m | 4,50]4.20 | 4.60 4,45 4,52 ]
kKR m | 0,50 0.50 ] 0.50 0.50 | 0.50|.
& i °c [19.0[1L2]12.0 1L5] 7.8
7k i °c 16,5 18,0121 10.0] 8.4 [380.5] 55 1786
2 5 (A = | B&&‘@Sﬁ?&ﬁ ) 4 Bt
LG HOEREENE TARTCEE ) | R | R
BIRE cn | 20.5(24.01(26.0 1771 17. 9
BIAK m 0850395045 0.2710.30]0.60 | 0.20 ] 0.85
K — | 17 ] 16| 18 7 Tl -
p H — |8.8718.45]8.91 9.1719.0119.171 7.47 ] 8,41
DO ng/l |11.92] — - — | = 115.98] 7.60 ] 10.44
BOD ng/l 2.8 — | — - ~ | 6.66 1] 2.86 | 4.90
COD(N | mg/1]9.98]9.60]09.25 10.44110. 261 10.84( 6.51 | 8,91
D+ CODM)| mg/1 | 580] 6705 84 566 |527]612] 280506
*P+ COD(Mn)| mg/1 | 3.987] 8,90 [ 8 01 473 4.99[6.34 1206386
coDr) | mg/f25.75] — | — — | 25.75] 15. 51 20. 01
D: CODC(Cr) | mg/1 |12.32] — - - — 112.99] 5.58 | 10.17
S S mg/1 | 22.6110.6] 24.8 20.824.0]93.8] 10.0] 21.8
KIBERER  wwiom| 7, 0812] . — | ~ —~ | 2.88+4 | 4 0R49 | 5. 9843
TN mg/) | 116 1.00 [ L. 26 L28] L2214 0.91] 1.40
TP mg/1 10, 129(0.08710. 107 0.18500,122] 0. 190 0. 0541 0. 124
NHy;—-N mg/1 0,01 70.00[001 0.01] 0.00]0.28 [ 0.01] 0.04
NO,—-N ng/1 10.006] 0. 008 9. 001 0. 008 0. 007] 0. 0871 0. 001] 0. 019
NOg—N mg/1 | 0.18]0.08 | 0.47 0.1810.11 ] 1.2710.02] 0.45
*IN mg/1]0.15]0.09 [ 0.48 0.20] 0,13 1.31 10,031 0.51
ON mg/1 | 0.981(0.76 [ 0..67 1.04]1.05] t.6d | 0.57]0.83
D:ON . [ mg/1]0.47]0.42]0.40 0.60 | 0.52[0.900.81]0.46
*P.ON mg/1 | 0.46 ] 0.84 | 0.27 0.44 [ 0.531 0.74 1 0.21 |.0.87
‘DTN ng/1 | 0.62] 0.51]0.88 0.801 0.65] L.71 | 0.47 ] 0.97
. *T'N mg/l ) 1.08]0.85] L I5} L24]1.18] 2,041 0.85 | 1.84
D+PO4—-P | mg/l|0.008]0.000]0.000 0..008[0. 0021 0. 0431 0. 000 0. 010
D-TP ng/1 [0.012]0. 008]0. 007 0. 018/ 0. 021] 0. 0621 0. 006 | 0. 027
*P.TP ng/1 | 0. 117]0.079(0. 100 0.117]0.101] 6. 172 0. 027] 0. 098
1C mg/l | 11.8] —. | - - - 140 10.8] 127
TOC mg/l] 6.8 8.4 ] 9.1 1.1] 9.4 [126] 58] 81
TC ng/1 18,6 - - - | = |22.5]18.2] 20,2
D:-0C mg/l | 8.6 | 4.8 | 4.7 6.1 | 501 701 80 ] 4.4
‘p.oC [mg/1] 8.2 41 ] 44 50| 4415621817
D-Fe ng/1]0.08] — [ — - ~ lod9]0.01]016
D -Mn mg/l 1 0.00] — | — — | — lo08]0.00]0.01
Fe ng/1]0.85 | — - - — | L07]0.25] 0.50
Mn mg/llo07| - [ - — [ = 10151 0.08]0.07
wW B g 12l - | - - | = 1s80.5]112]19.8
WER0°C) |ps/en| 276 | — - — | = | 216 | 182 | 221
Ca mg/l (1656 — | — —- | = 1197081151
Mg we/l ] 6.4 — - — ~ |12.9] 51| 7.5
p HA. 87V VB mg/1 1 50.0] — - — | — 163.8]286]|49.7
p HY. 0% Bl wg/1]8.87] — [ — - = 37 30 260 12 19
p HY. 07 VA V| mg/1 | — | — - - | =1
80,2 mg/il20.2] — | — - 29.2 20.6 24.7
c1l- wg/i 80,2 — | = — — | 45,0 16.5 | 24.8
N a mg/l [ 28.6] — [ — — | — |28 150/(21.2
K mg/l 1444 — | — - — | 8.65]814]4.87
T - §i0, mg/l [ 11,1] - - — | - 1801111219
Wy Uh I mg/i]206] — | — - — 117.14] 2,06 [ 10.44
Chl-a wg/1]64.5]97.8(188.6 174.0/186.8]199.6] 52.2 |103.4
Chl-b pe/ll 4115298 51181/]17.68[ 26 7.8
Chl-c g/1]10.6 5.0 23.3 28.0 [ 20,71 50.7 | 6.1 | 18.5
TxA74Fv (ueg/1] 6.8 | 6.8 | L1 0.4 [ 0.7 8811 0.1 | 12.4
A v RERER| me/1 001 — | — — | = T0.04]0.00]0.02
PARIY | wg/1]0.001]0.002]0. 008 0. 008[0. 004] 0.08 [0.00 [0.02
2-MIB_ |ug/1]0.004]0.008]0.011 0.016/0.016]0.09 |0.00 |0..02
VnoppyiRaectiee) | mg/l | — — — — — — — —~
HE .

-t

YENOEF RRAOHEIL L b ki,

1.LP-COD=(COD)~(D-COD)

2. IN=(NH4-N)+(NO2-N)
H{NO3-N)

3, P- ON—(ON) (D-ON).

4, D-TN=(IN)+(D-ON)

5. TN=(I'N)+(ON)

6. P-TP=(TP)—(D-TP)

7.TC=(ICY+(TOC)

8. P-0C=(TOC)—(D-0C)
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Fakil s M ‘ #1148 By
I B | 4| 1/ (1719 ) 1/26 | 2/2 [ 2/16 | 2788 | 8/2 | 8/9 | 8/16 | 4713 | 4/20 | 4727 | 5/11 | 5/18 | 5/25
"TN.LB mg/l | 2,10 1,56 .70 1.72]1.48[1.1812.14[1.88| .86 [1.85[ 1. 19116 1,87 ] 1.79] 1.15
T NHE wg/tl — { = - 1. = - — — — i M = - — —
TNTE mg/l 1266 — | — | L72| — - [ 197 = |- — |L68| - -~ 1 L6l - | =
TPLE: mg/1 {0.112]0. 05410.085(0. 109]0.088)0.082]0.119]0. 112(0.139|0. 190]0. 146]0. 156]0. 125[0. 141]0. 117
TeE. |mg/l] = | = i - | = = — — -~ - - — - —
TPTE ng/1 10,118 — ~— 10,108 — — 10.119] - — 10,186 — — 10,183 — -
CODLfg .| mg/1'|651)882|748[706]8.43]7.64]827]8.20]9.28]9.72]10.84(10.80] 8.29 [10.26] 9.35
COD ?’E Iﬂ&/_l' — — — — — | = — — - — 1 ~ — — - | -
CODFHE [ mg/l|T.70 [ — — |1 8.86] - — | 8,58 = ~ 16847 - - 1795 — —
iR . kEk| | - = — il B A = — -1 .= - - | = =
- #m °c {6761 )66]58 6870 )74)81]87|149)17.2]19.4)20.2120.4]225
0.6m| °C | 58 )50 | 64)59)590)68]78)82]86]|I140]167]188]20.4]20.1[224
LOm| °C | 65| °50/61|58]5681!681]728286 ] 148]/161[17.3]20.4 19.9]21.9
20m| °C | 55|60 59|58)| 58| 68| 71]82]86]14 811591 17.1|20.4119,.8]21.8
80m| °C | 5615058681 058.681|60|82]|86(I148[150(17.11(20.4/19.8(21.2
40m| °C- | 5.6 | 5.0 | 5.8 1581 581|868 ~ 1 82|86 — 1159]17.1[20.8]19.7/21.2
5. 0m| °C — | = — — - — — — - —= — — - — —
6. Om °C — —_ — _ —_ —_ —_ _ — —_ — — — —_— —
EBEl °C | 564058658167 68168/81]86|147(158]|17.0[20.2]19.7[21.1
% DO RE| mg/l — - — — - — L= = — — = — — — -~
B mg/1 1124|107/ 10.1]10.8]10.5[11.4[11.4]11.6]11.9]110.7]10.83]11.6] 7.6 8.2 8.8
0.5m| mg/t ] 12.2 1 10.5(10.0]10.5[10.0] 10,9 {11,911, 7| 11.8110.5(10.0[11.5] 7.5 | 80 | 87
LOm| mg/1 | 10,7 10,0 9.8 (10,2 9.8 | 8.6 112211, 7/11.40110.41 9.8 (88 | 7.4 | 7.8 77
2,0m)| mg/1111,2) 9.8 | 98] 60| 94|95 [12.0|1L6]11.1]10.8] 95| 756 ]| 7167171
80m) mg/1)10.8) 07| 8619791 |91]|95]|11.4/108/10.1] 84| 70| 6.4 [ 5.1]6.7
+  40m|mg/1) 97]04|84)98]|87)90] — J1L,0[105] ~ | 8166 68]85]59
5, 0m| mg/l | . — — — — - — ~ — — i = | = — —
. 0m| mg/1 | — | — — - — — — - — - - - — - —
B mg/1 [ 6,27 0.2 (6637100091881 0207450007383 02]03
ReFREE sk E| Lux | 2540025500 38200 ] 25500 | 39500 (42400 | 60060 ] 7720 | 2310029400 78300] 96100 ] 42300 39400 | 98000
:  FmE| Lux )21000]21600]81100| 23100] 32700 | 85600 33600| 6310 | 14100| 2150069000 | 95000 | 35400 | 26700 | 86200
0. 6m| Lux | 4020 | 6280 |11500] 8550 | 10800 4550 | 7720 | 1020 | 5450 | 2970 | 14400|11400| 3370 | 7520 | 20200
1.0m|. Lux | 886 | 1840 | 3280.] 1060 | 3690 | 672 | 998 | 63 | 405 | 338 | 1580 | 2020 | 191 | 556 | 1850
2.0m| Lux | 95 | 205.[ 404 | 124 | 270 | 30 84 | 2 42 1 79 1 178 9 45 | 183
8, 0m| Lux | 27 51 | 102 | 81 99 [ 47 |[. 9 | .0 6 0 17 24 0 6 27
4.0m| Lux | 0 0 1 401} 0 0 | 0 ~ 1 0.0 0 - 12 0 0 § ] 18
8, 0m| Lux — - ot — — - - — — b - — - — -
JEmE| Lux | — = — - — — - — — — - = — - —
| B LORP | mV | 448 | 152 | 189 | 182 | 185 | 165 | 248 | 27 62 62 86 [ 20 68. | — 38
e % D OIdD OBk & 5 HlEks R




R (D2 -2)

STy 1 14 (100945)

N 2 O 2 1 FNE | @

H B | Bife ) 6/8 | 6/16 | 6/%2 | 7/6 | 7/21 | 7/27 |. 8/8 | 8/17.| 8/24 | 9/7 | 9/21 | 9/28 | 10/6 | 10/19]10/26
TN.LE mg/1 [0.09]1.°05[1.04 161 (1,571,281 77]|128] 1,20 [ 159107001 ]143[0.98[116]"
TNHE g/l — | .= = 1 = - . = - = =] = - - -
TNTHE ng/l ) 10§ - - 11687] - = 1176 = = | Le[ = - 146 - -
TPLHE _ng/1 10,1461 0.12410.107]0. 159 0. 11310, 126 0. 175]0. 1160, 142|0. 174]0. 1100, 1030, 156 0. 121 | 0. 110
T PHyg mg/l] ~ | - | -] -] -T~[T-]1=+T-1T-T-—1T=T=1=
TPTHE ng/1 10.183| - ~ 10.148] —~ |-~ ]0.108) — — .10,182] - — 10,187 = -
CODIE mg/l | 8,64 19.10 | 7.00 833097960 (10,07/874(819]862[814796|825]948]9 29
CODWRE fmgn| — |- [ =1 - 1" -~ -] -1 - ~T T -7 -1 -T2
CODTH . |mg/l[899] — - 180 — — 1888] — - 1798 — - 1768 -~ -
K AEl C | = | - | - | -] -0~} -] -1 -1 111 -1-171 -

K| °C | 26.1[26.7(231]24.220.2]30.1]830.2)30.2)830.5][281[26.2)265[2293]|188]17.6
0.5m} °C_}25.81!266)2301248129,0|29,0|80.2)30.0304280)263)261]928]187]174
LOm| °C |251|2.7(228|248[27,0]29.91]30.1/20.91/30.8)280/26.8/25922.21]187][17.1
20m| °C 24,9266 |2.6(24.827.0/29.6)230.0)20.830.8/[27.9]26.8]2.7/222/187]16.8
80m| °C 240|258 ]22.4)24.8!268)29.4/20.8/29.8)80.227.8[26.2]25.8/22.2]187/168
4 0m| °C —- 1 %.22.%] — 126.56]20,4)20.7({20,8130,2) — 12629258} — |187]16.8

5, 0m| °C - - - - - - - | - - - = - - - -
6. 0m| °C - - — = | = - -~ - - - - - - — -
B °C | 24.9 196012201242 126.4|29.420.7129.7180.2[27.7/26.2(25.2)222]187]168

*DO  Kb|lmg/l| — | = | = | = -l =l =] =] |17 =]'~] =
M| mg/L | 6.4 | 7.8 | 7.0 | 7.1 ] 0068765615067 %5]060]68]|89]92
0.6m| mg/l [ 6.1 [ 77 |68 |70 )88.66)|761]565)58]|67)|7%.4]88|67]|88]480
LOm| wmg/1 )67 |68 |66(70]883]/64]691|55|67]|61]|f7 82.166188](88
20m|mg/1 {51168 (69169 76]60([64]|54)66]|48]7 7.8 | 6418786
30mjng/1 | 3859496669 |67]61[53 (5140|170 74]61]283]383
ddm|{mg/t | — |54)42) — 160139 |54[47| 48| ~ |68]68 - 179 )81
5 0m| mg/l — — — — [ — —_ - — - — —_ — —
8 0m| mg/l | — - - = | = - - - o = | = = - - -
JEm) mg/1 {01 (01 }08185)01[27/)08]|41]03]07[21}02/40] 14718

KRR kb | Lux 97700 ] 70400 | 60500 | 59600 | 60400 | 91500 | 86700 | 87900 | 62500 | 24600 | 11200 [ 87100 | 83500 | 68200 | 99400
| Lux | 92600 | 63000 | 59400 | 44200 | 59700 | 82100 | 63400 | 88400 | 58400 | 18500 | 10800 | 79500 | 41700 | 58700 | 87600
0.5m| Lux | 16800 7630 | 8540 | 4180 | 7280 | 12500 7200 [24900) 11400| 8980 | 4310 |24600 | 4270 | 10100 | 19800
LOm| Lux |80700| 1500 | 846 | 416 | 1150} 4750 | 1180 | 2970 | 2210 | 518 | 1010 | 6480 | 1260 | 2080 | 3310
20m| Lux ) 207 | 108 | 71 21 62 | 188 | 47 | 198 | 116 | 30 | 149 | 1280 f 215 | 118 | 184
3.0m| Lux | 61 [ 20 | 16 | 6. 14 | 24 | 16 | 81 | ai | 11 | 16 | 151 | 32 | 14 | 45
A0m[ Lux | 9 | 0 [ o | — T ol 5 | o1l 4] -1 040 [ —1T<4a]0o
B 0m| dux | -~ | - | - | ~ | - | - - [ -1 -] -1 —-1-7T=71T~2-1+-
6. 0m| Lux - - - - - = = - - - - - - - -
BE| x | - | - | - [~ o T - - T — 1 =1 =1 =

JEYRmEORP | mV | 231 | 74 | 160 [ 198 | 224 | 87 | 32 | 66 | 18 | 204 |. 226 [ 105 | 221 | 231 | 207

e % DODORHe & & HlEits




KEGR (2D 2-3)

A e R E Y KA ) a1 142199945

;| B | Bdir ) 11/8]11/24)11/80 12/1 | 1/7 12/14 ﬁﬁﬂﬁ TR/ \ME| T34
TNEE | omeg/l [ 1.06)1,0011.26(1.98]1.28]1.22]2.14 (0,81 |1.40
T NHE ng/1 - - - - - -

" TNTHE_. | mg/1 [1.20 2,56 |1.09 |1.88°

TP LE mg/1 {0.129]0,087]|0,1070. 118/0, 185/ 0. 19210, 190 10. 0564 10, 124
TPHE mg/1 — — —

TPTE | ng/1|0.118] — 0. 108 [0. 103 [0. 145

COD.L# mg/119.2819.6010.25|0.83 |10.44]10.26]10.84 |6.5L |8.91

cCoDHg mg/1

CODFE |mz/L1]9072] — | — 1898 — | — | = | = | =

KB KEl C | - | = | = | = | - | —
Hii| °C |16.83113.0]12.5]11.8|10.4] 8.1

0.6m| _°C 1162|181 )12.1]111.8} 9.7 | 82

LOm| °C ]16,2|18.1]11.8[11,2] 9.5 ] 8.2

2.0m| °C_]16.2]13.1[11. 8|11, 1] 8.5 | 82

80m| °C |16, 1]181 |11 8]11.1] 8.5 | 8.2

40m| °C (161181117 — | 9.5 8.2

5, 0m| °C - | - - - — -

6.0m| °C = - -

B °C |16, 118111, 7[1L.1] 8.4 | 82

*DO0 ZRE| mg/l

| me/l | 10,8125 12,2 | 12. 8

11,8 12,5
0.5m| mg/1 110,81 12.1)11.5]11.81] 12,3 12.4
1.Om| mg/1 | 10,9 1L 8] 10,0 10,5 [ 11.9] 121
2.0m| mg/1 110,715, 5110711, 8[10.7111.6
9. 0m| mg/1 | 10,61 10.8]10.8 11, 1]10.1[10.5
4,0m| mg/1 ] 10.8]10.6( 9.9 | — 9.8 1 9.8
5 0m| mg/1 | — — - — — -
6. 0m| mg/1 - — — — —

- JEE| me/2 ) 7.2 1 2.8 29 108|071 0.7

}R*Rﬂ% Ktk Lux 78200| 8560 | 3450029600 79700 14900

M| Lux [56400] 3240 |81100| 19400 68100 18200

0.6m| Lux ]10600| 612 | 8190 | 4440 | 3250 | 1840

LOm| Lux | 2460 |109.3| 1250 | 958 | 758 | 205

20m| Lux | 76 | 8§ [ 124 ] 70 36 | 34

8. 0m| Lux | 9 0 10 3 4 0

4. 0m!| Lux 0 0 0 — 0 0

5. 0m| Lux — - - - - —

6. 0m| Lux — — - | = — — ‘

B Lux | - - - - i '

BERHLEORP | mV |41 | 109 | -8 | 83 a2 | 171

fii% . % DOHED OfHT & 5 MR




KRR (ZD1-1) : _ ;

I 2 VT - 2 Y O N 7112 2 I 25 SERL L4E(19994)
b B | | 15 | 1718 1726 | 2/2 1 2/16| 2/281.8/2 |.8/9 | 8/16 | 4/18 | 4/20 | 4/97 5/11 5/18 | 5/25
PR - & |maw| £ | 6| E | E [ DFAE| B | &) K| 8|8 | B
ok kAl B | 7:85 1 9:00 | 9:47 | 8:08 | 8:51 | 8:55 | 7:40 | 9:18 ] 9:18 | 7:88 | 9:06 | 9:13 ] 7:44 | 9:07 | 8:58
2k m | 6,27(86.30]6.30]6.22]6230]|6230/6.80]685/634]630]6.25]6,441]86.50]6.33]6.35
BokkiR m | 0,50 ] 0.60) 0,80]0.50]0.50]0.50]0.50]0.50]0,50] 0,501 05010501 0.560]0.50]0.50
X H °C 2.4 | 88|55 41506854 58]00]152[18.0]20.0.]16.8[18.2]229
& C 1605058581521 62681] 1791841 1321162117.1]18.8/10.6]2L.8
5 (D — | BRI BRI MR BRI | iR IBiE 7| e ) AR IR e | a8 i) ﬁmm@@gﬁ
2 & QM) | — | e | R | R | MR | ER | 68 | eR | R | R | ER |9 :
BHE cm | 81,0]3L.0/40.0[382024.5]860/17.5]230(27.0]258.0120.5]14.5)80.56125.2124.5
BIAK m 0,500 0.660(0.6010,50108510.5010.30100.4010.,4010.4010.40]0.250.401]0.401 0.40
kK — 18 16 16 16 16 16 16 16 16 16 16 16 16 16- ] .16
pH — | 7811804]776(7.00]820 829|787]|78) 8, 16 18.83(8.62801]7097] 787|170
DO " |mgn (1t utf — | — (176 — | — (18,92 — [ —~ |10.86] — | —~ [8561] — | -
BOD ng/l 1 8.24| = - 1277 = — 1870 — — 1837 — — 1880 — -~
" COD®n) mg/) | 6.677.20]7.286.86|7.85|6.71]736[721|775([6.761]8488.88]6.69]669]|86. 82
D+-CODWMn)| mg/l | 4.26|4.47|4.88 [ 4.91 [5.26[4.10[4.56|-4.71[4.02|8.94[4.83[4.96]4.824.49]4.08
*P . CODN) }__g 2.41 12,78 2. 90 2.85]259] 261|280]250]|373]282|4.15]8.92]1.87]220]214
COD(Cr) g/l 111,311 — 15. 18] — - 117.88] — [-— 118,96 - — |14.17] — —
D+ CODCr) | mg/1 | 5, 77| - — [5h17] — — 1820 - - 1701] — - | 78] — -
SS mg/1 ) 11,8106 0 ) 7.8 |18.0) 6.0 1 19.0| 155 6.0 16.6)21,.0)28.0]14.520.0] 16,0
- KIBEEE  ewiom|8 52| - — 7.1 — - 28848 - ~ a3t - ~ L7l -~ -
TN mg/l | 1.1911.20]1.46(1.09 ) 1.09[0.8811.92]1.03({0,771.10/0.800.88]0.870.69] 0,57
TP mg/1 |0.000]0,08410,075{0,07010.08310.066(0,112(0,09610,095(0,086]0.100(0, 127(0, 0671{0,073]0, 065

NH;—N mg/1 | 0.02)0.04]0.08]0-01[0.00/002]0063)0.02]0,01)0.02/[0.02)0,01]0,01]0.01] 0802
NO,—N mg/1 | 0.008)0,007)0.009]0.009(0.007{0.011]0.007)0.004{0.007]0.001/0.001]0.002]0.000]0.002]0, 002
NOs—N mg/1 | 0.51]0.50/0.48(0.50(0.65/0.40]1.15]0.22[0.14{0.01/0.10(0.17]0.03]0,07]|0.08
*IN mg/1 | 0.54]0.55)0.52]0.52)0.56]|043(1.16]0,24[0.1610,08]0.12[0.18/0.04/0.08]0.05
ON | mg/1]10.68)0.66)0.86/|0569)0.55)050/(0869]0.75/061]0,97]0.60]0.75]0.58]0 61057
D-ON mg/1)0,8910.8)0.50]0.88|036/(029]0.42)0.48/0,84|0.49/0.89]0.89]0.8G]0.33]9.20
*P:ON mg/110.24]0.81]0.86]0.26]019]021]0.27]|027|027]048]0.800.8]0,28]0,.28] 0. 28
*D: TN mg/1 | 0.98)0.90(1.020.85[0.92]072]1.61]0.72f0.50]0.52]0.6L[057]0,34]0.41]084
TN mg/) | 3,47 1.20(1,88)1.11(1.11]0.983)1.88/0.99]0.771.0010.81]0.983 0.69 | 0.62
D:PO4-—-P | mg/l }0.008)0.000)0.000]0. 0000, 007]0.000)0.025)0.002]0,000)0.002|0. 002 0, 000] 0. 0.013
D+TP ng/1 §0.02810.028/0.027)0.0260.020]0.021)0.039(0.022(0.080]0.018(0.022) 0. 039 0. 003 0026 0, 028

CD'c
<
[=]
4
o [
=
=1y
=
e

*P.TP_ | mg/1]0.062]0.041]0.048]0.044]0.068]0.045(0.073]0.0740.065]0.073]0.078]0. 0880, 084 0. 053]0, 037
1C mg/1 1831 — [ — T129l — [ — Tiga] — 1 — T4 — | - 124 = [ —
TOC g/l 5006756164651 65)60]71]690!70/80]103] 54161147

T o mg/l [19.2] — | — [19.8] - | = [188] = [ = 1184 — [ — [17.8] — | =
D:-0C mg/1 | 87828040389 (84]80]3808]388|37|45/[68][80]29]25
*P.OC |mg/1) 22125 2112426813082 81[38![385]45]24]22]|22
.D+Fe mg/1 028 — | —Jo00] — | —Joos] — [ =~ 004 — | — [oo02] — | -
D_-Mn g/l 0.00] — | — Jo00] — [ = 1oo00] — [ = Jooo[ — [ — [000] — [ —
F e g/ §0.34] — | — Jo0a] — | — jo0.88] — [ — 10271 — | — |010] — | —

Mn ng/1]0.02] - | —Jo08] — [ — Jood] - [ — loor| - [ — [0.08] — | —
g & les | — | — 188 — [ = T1eo] —.] = |2l — ] -~ 82" =1 —
CaERO0C) (us/oml 258 | —~ 1 —~ T | — 1 — {801 ] — — 1988 | — - 1ol -1 -
Ca mg/1 § 16,9 — | — 1186 — [ — T198] — | - [17.8] — [ — [160] — | —

Mg mg/1]800] — [~ |88 — [ — |846] — | — [750] — [ — [164] — | —
pH4.87 VA VE| ng/1 | 49.8] — | — |58.6 — | — [60.4] — [ — (50,8 — [ — |6kd| — | —
p 10, 0k B mg/1]9.02] — [ — [17.86] — | — [165.06[ —~ | — [84.80] — [ — [68.1] — [ —
p HO. 07 h VB ng/l — — L= — — | = — — — — — — — — —
85042 mg/t|8L0] — [ — [98] — | — |87 — | — |80.90] — | —~"187.8] — | —
cl1- ng/11880] — | ~ [420] — | — |41.6] — | — I868] — | — [481] — | —
Na ng/10192.8] - | — [92.8] — | — l8d2] ~ [ ~ [822] — | — |831] — [ -

K ng/l1 | 5141 = = |6500] — | ~ ]667] = | — 479 - | = 1400 — [ —

T + 810, mg/ifo6s] — | — l16.88] — | — (9078 — | — 1242] — | — [12.6] — | —
HeEvUh | meg/1]18.23 - |10.8] = [ = TiLg| ~ 6.05 ] — 6.12 -
Chl-a wg/1]61.2 66.7 65.1]55.8 | 60.6]55.2]528]79.8 859 64.2 | 52.3 726 33.8 399 31,2
Ghi-b  lug/1l 301l 88ls2(41(60l4610.2( 860612505 [84(60(63]49
Chl-c’ pg/1l10.1] 8.2 [19.6] 8.0 [18.8] 6.8 [14.8[16.3[11.0(20.0(26.7[16.7] 87 [14.3]11.6
TaA T4 F v | ug/1] 1.5 1.8 L7140 4781435 22.4] 1.8 [20.3]19.8 171 7.1 92 2.4

Rt A Rmnstis | ‘mg/1 | 0. 01 — 1000 — =00l — - 1002} - 0..00 =
PARIY  |ng/110.038]0. 019 0. 0580, 026]0.012/0.010[0.017]0.018{0. 0280, 057(0. 0100, 006 0. 062 0. 004 0. 008
2-MIB_ |ug/1]0.0040.007]0.008[0.005]0.008(0,010]0.011]0.014}0,019}0.102]0.019]0.014]0.002)0.001]{0.001

MroaviEsgscier) | mg/1 | = — — — — — — — — - - — - =

RiES YEROHE R IRRAOHIIZ £ D3Rk, 8. P-ON=(ON)—(D-ON) 6. P-TP=(TP)~(D-TP)
o 1,P-COD=(CQOD)—(D-COD) 4. D-TN=(IN)+(D-0N) 7.TC=(1C)+(TOC)
2 IN=(NHA-N)+(NO2-N)+(NOB-N) 6 TN=CINI+(ON) 8 F-0C=(TOC)~(D-0C)




Mﬁﬁiﬁ (#D1~ 2)

WA ] KB FUARJ] iﬂnlﬁ ﬁ'ﬁl:ﬁ . P L L4E(199948)
H H | w4 | 6/8 | 6/1616/22] 7/6 | 7/21 | /27| 8/8 8/17 8/24 | 9/7 | 8/21 9/28 10/6 | 10/19(10/26
R — ® | W | B B | F| oMo M8 ) B2 | B | H| 8 | K| K
PROREA | Besd | 7248 9018 9:08 | 7045 | 9:85 | 9:14 | 8:00 | 9:07 | 9:80 | 7:41 ) 9:11 | 8:59 | 7:54 | 8:46 [ 9:07
2RI m | 6.80]620]640/[6.32]6.40]6:85]6,15]6.55(6.45[6.85[6.586,15]6.25]6.30]86.15
HRaRok R .m | 0,50 0.50]0.56]050]0.50]0.50]0.50]050]0.50]050]|050]0.50]050](050] 050
& iR °C 124,0)26.0|256]195|285/30,.0]29.0]29.6)30.0)258)237)288]|20,8)170]19.2
K _H . °C 122.7124.9128.0(22.8/26.7(28.8)|28.8)20.83|29.8(27.0/260)250]220]192]1%71
S CEAD | —  lucsinml visinim| siaism] s isim| wiaiss wie s e m| via i m| BUaiRie MR OS] Hain] vl Biin ) wiads
2 RGH | - |ER| () MR | feR | | R | R | R | R | R | e
BRE cn 124,01 21,5(24.5) 16,5260 250(18.5(280(38.41]27.5(255]860]230.01320126.5
BAE m | 0.40]0.40/0.43]0.800.35/[0.60.] 0.35]0.35/0.60]0.47] 0,451 0.55 | 0.60] 0.50 | 0,50
A= — 16 | 16 16 |1 16 16 16 16 18 16 16 16 16 16 .| 16 18
pH — 7821780784 17981749(8888.26! 766816814806 (8.54]1873(819{8 13
DO mg/l 16,78 — - |78 - — 1.8.42]| — - 1862 — [-— [877] — -
BOD mg/l 2,66 — - 1321 — — 18.86] — — 18,46 - ~ 187

CODQm) mg/l | 6.85(6.29(6.28(6.55]844|8238(7.68(7111668]86,97)721|7.62}88l]792]757
D-CODQn)) wmg/l | 483508 |4.49|4.77 (569581548 |505]510(5.48|6.04|580]5891]6,52]|8 170

5
[*P . CODQ| mg/L [ 202|115 1.79| 1.78 [ 2.75 (292225206 1.58]1.49|1, 172322902401 87
COD(Cr)

mg/1 |15, 36 — - |13.81] — = 17480 — | — 11430 ~ - 113.42] - —
D:COD(Cr) | mg/l | 585 — ~ | 787 — | — 112,99 —~ - _[10.72] - —~ |51 — —
SS mg/l ] 16,6 17.0010.0] 18,6160 12.6(23.8]16.6| 9.6 | 12,5/ 18.6 16.8 | 17.0] 19.5]15.3
KEdmes  lowomldooniel — | - [2.3844] - — 17.9848] -~ — 12.9818] — .| = ls.smts| — —
TN mg/l ] 0.90(0.88 [ 0.83)0.9210.96)0.961.00] 1,00]0.85]1,09]0.87]0.72(0.92/0.96]0.98
TP mg/1 | 0.049]0.055]0. 066(0, 131]0.081]0.076] 0. 118]0.113[0. 104]0. 102] 0, 106] 0. 089]0. 0960, 088]0, 088

NH,—N mg/1 § 6.0110.01001)0.06]001004]0,0140.26)0,050.06]005]0.0%]000]003)002
NO,—N mg/1 |0, 001(0.001]0.006|0.026)0.012)0.00410,002]|0.021{0.019]0.0160. 036 0.001|0.001]0.002]0. 002
NOs—N mg/110.02]000)002[017)0.100,08]0,80]0.21[0.28)0.30.09]0.06]014]0.15]0.19
*IN ng/t ) 0.08)002)0.04)0.26)021)012,081)0.49]0,85)0.470.18)0.07)0.14)0.18)0.21
ON mg/1 | 0.76]0.66| 0.67 | 0.667| 0.670.79|0.69]0.51]0.501]0.60]0.69|0.69]074]0.68]074
D:ON ng/1)0.39]0.85)0.39(0.89)0.81]0.460.41)06.2]]025)0.81/[040)0.33]0.87]0.87]0.85
*P«ON mg/1]10.87]038110.28]0.27)0.86)0.34]0.28)0.80]0.25]90.290.29]0.36]0.837]0.811}08D)
*D: TN mg/1 |0.42]0.870.43]0.65(0.52(0.57|0.72]0.70]0.60. 0.78 ] 0.58 [ 0.40 | 0.5L | 0.55] 0.56 |
TN mg/1 ] 0.7910.68[071[0.92(0.88]0 0] . . 0.87 [ 0.76 0.88 [ 0.86 [ 0.95
D+PO4—P | mg/1 |0,002{0.005)0,010)0.030]0.003]|0.010]0 030 0. 061]0. 035 0. 028)0.081]0.005{0.010)0. 0060, 003
D+ TP ng/1 10.01110.017)0.018(0.038]0,013(0. 018]0. . 0.087(0.014]0.019(0.012/0.014
‘P.TP ng/1 | 0.08810.088]0, 068 0. 093] 0. 068|0. 063 |0, 069 | 0. 038 0 055 0.05810.069)0.075]0,077]0,076/0. 074
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1C ng/1 [12.0] — | — |12.9 1.2 18.1] ~ | - [42] -
TOG | ma/I | 5.6 6.0 6.0 7.2 | 8.6 7.3 8.3 | 6.6 6.0 6.2] 6.6 | 7.4 856]7.0] 68
T ng/L [ 17.6] — | — [20.0] — | ~ [26.5] — | — [18.8] — | — [22.8] — | =
D-0C |mg/1]| 8087|8486 46]|37]|44]|87]|38]835]|80]40]|45][89]85
'P.0C |mg/L| 2682|2786 403689282127 27]8d44l]40]81
DFe |mg/l|0.05] — | ~ J0.05] — [ — [0.08] — | ~ [0.08] = [ - [0.00] - | -
D-Mn | mg/1]0.00] — | — J000] — | -~ Joo0] = | — Jooo] — | — [00e] - | -
Fo g/l | 056 — | — [0.58] — | — [0.85] — | — |o12] — | — (048] — | —

Mn g/l [ 0,06 — | — 006 — | — [0.05] — | = [0.06] = | — [0.03] — | —
W% g |08 — | — [16a] — | — [182] — | = [18.3] - | — [18.2] -~ [ =
BWEQVC) |usfen] 295 | — | — [ 208 | — | — [0 ] — | = [818] — [ — [g0| — | —
Ca wg/L [ 16.7] — | — [19.8] — | — [18.t] — | — |[17.8] = | — |85 — [ -
Mg g/l | 151 — | — |85 — [ = [v2| - | = o6 - - o8] — | —

b HA.87 V7 V| mg/l | 44,5 — | — |62.0] — | — |60.5] = | — |681] — | — |60.2] — | —
pHO.OB B mg/l [17.55] — | ~ [0.84] — | — J7.98] — | - [8.00] — 1 — (674 — | —
pBOOTAAVE g/l | — | — | — | — | — | = | — [ [ = - [ = [ — [ - ==
50,7 |wmg/1|846] — | - [86.0] - | — [8L0] — | — [82.8] — [ — [263| ~ | —
1~ |wg/1|80.8] — | — [85.6] — | —.lans| — [ — |45.0] — | — [40.9] - | —
"Na - |mg/L|80.8] — | — [986.9] — | — [20.0] ~ | — |e8d] — | — |as3] — | -

K ng/L[10.57] — | — |10.88] — | — [lo.7i| = | = [&81] — | — [614] — | -

T S0, | mg/1|23.0] — | — [888] - [ — (a0l — | — [20.7] - | = 72| = | —
WEYU A | ag/l |11.49] — | — [18.99 — 115,57 — 981 — | — [8.08 =
“Chla ug/ 113088500 9.0 268 72.8| 60876 1]87.2] 82,0 85.4]70.8] 660 561 554]3r.d
Chib  [ug/1| 30|84 1.8 | 84] 6460|7555 27]27]|38]84[67]27]50
Chl-c_ |wp/1] 6.7 88|28 1.2 |164] 7.1 0.6 11,7 1.5 | 4.0 | 11.7] 14.4]184]12.1] 4.3
TaA 747 g/ 1] 181 2.0 Ly [80.27 60 86 456 142 2L0] 48 20 522] 82146 l2g
et A RmEeA | mg/1 [ 0.00] — | — [0.00] ~ | — (000 — | — (0.0 — 1 0.01 ~
DF 21> e/ T]0.018]0.0271 0. 03110, 085 0. 008 | 00081, 07| 0.00Z 0. 00| 0. 0021 0. 001 0 001 [0. 00L[ 0. 00L 0001
2-M1B [ug/110.018]0.024]0.022[0. 035[0. 066T0.084]0. 0221 0. 005 0. 002 0. 018 . 000[. 001 . 001T0. 001]0. 0L

VJnod v RABCTIIER) | mg/ 1 - — — — — | - — — — —

£ © eorEBRERROHEIC L bR, ' 3. P-ON=(ON)—(D-ON) L. P-TP—(TP)—(D-TP)
1L,P-COD=(COD)-(P-COD) . 4. D-TN=(IN)+(D-ON) 7. TC=(ICY+(TOC)
2 IN=(NHA-N)+(NO2-N)+(NO§-N) 5 TN=CIN)+(ON) 8. P-O0C=(TOC)-(D-0GC)



KEER (201 ~8)

[ BpA AR A L] P 1 14ECL9994E)
e ) B | 11/9 [11/24]11/80) 1971 | 12/7 | 19/14 | B A ] IR/ IMIE| -5 i
xR — | | m | ae] || B
PRokEE] | Wse | 7:55 ) 9:00 | 8:56 | 7:50 | 8:02 | 9:08
| 2k® | m[6.25]6.80(6.85]6.30]6.80]6.30
$okkig m | 0.50]0.50]0.50]0.50 0,50 [ 0:50 .
A °C §16.2]12.0]10.5110.1] 9.8 ] 6.0 , .
K iR °c |158[185]12.1/11.6] 9.1 )88/[29.8]50/168 4 '
A B CEARD [: —  leinslvietnm| vl wising wisis| v : ‘
2 A O | — [RR|ER | mE | KE) KR | KR
B “cm 182.8)84.5[28.480.7] 280205
ERE m_| 0.50] 055 0.45 | 0,55 [ 0.40 | 0.50 | 0.60 | 0.25 | 0.45
Kt — | 18 |16 | .16 |16 | 16 [ 18 .
pH . — [824[8.27[8.56/[7.90]843[8.30/]8.73][7.49]8.10 )
DO mg/1 10,88 — | — T11.26] — | — 18.92(6.78]0.85
BOD me/i {2,820 — 1 — Taoegl — | — |380[20]317
COD(Mn) | mg/1 | 7.56|.7.41 | 7.06] 772|768 7.65]8.886.23]785
D+ CODOM)| mg/1 [ 580517 ]4.89]5.10]562]535]6.04]894]4.94
*P . COD(Mn)| mg/l | 2,25 224 2.1712.62 z.ne 280 [ 4. 15| L15] 241
COD(Cr) [ mg/1 |13.82 — [15.91 — |17.88]1L.381[14,71
D-COD) [ mg/1[9.92] — | — [880] — | — [12.22]5.178.08
SS mg/1 [ 12.6(186(136(6011600110.6}28.0] 6.0-114.9
KBEFE  evaoalr g2 — | - [4omi9] - — |2, 8E+4|3. 8E+1|3, 3E+8
TN mg/1 1 0.7810.66.[074]0.70(077(097]1.921(0.57(0.94
TP mg/1 [0.089]0.053(0. 067(0. 066(0. 067]0. 064[ 0. 18110. 04810, 084

NH,—N mg/11001]001[001]001}001]002[0.26]0.00][0.03
NO,—N ng/1 10.005]0.001)0.001]0.001|0.001]0.001]0.036]0.000] 0. 007
NO3—N -|mg/1]0.08[007(009(0.06]004(006{115][001]021
LN mg/1 {0,.1010.08]0100.07)0.05/0.08)119/0.02]0. 24
ON mg/1 1 0.66)0.57|0.569) 066071089097 0.50 | 0.67
D:ON mg/1]0.85]0800.30]087)0.42| 055! 0.565] 021 0. 37
*P+ON [ mg/1]0,31/027]020029[029]0.84]0.48]0.19]0,80.
*DvTN | mg/1]0.45(0.88)0.40({0.44(0.47|0.63] 1.61 | 0.34 [ 0.61
TN | mg/) ] 0.76|0.65/!0.69]073]076]0:87]1.880.62] 0,81
D:PO4—P | mg/l |0.008]0.000]0.000]0.000]0.000]0.002]0.061]0:000]0.009
D:TP mg/1 10.010]0.004]0.002]0.011]0,012]0.012]0. 075 0. 002]0. 023
*P.TP mg/1 10,0590, 048{90, 065 0.055] 0. 055| 0. 052] 0. 093 0, 087 | 0. 061

1C ng/l 1124 — 12.7] = — 11421141127
TOC mg/1| 7.0 | 7.9 7.3 7.7 17917811081 47| 6.9
TC ng/l]19.4 — — 1204 — | . — |22.8[17.6]19.5
D:0C . | mg/t] 374114188149 40| 58] 2.5 88
*P.0OC mg/t] 3.3 (8882891801388 ] 45" 211381
D:'Te mg/l 016 — | — [004] — — 10230001006
D Mn mg/l] 0.00] — — 1000 = — 1.0.00 10,0010, 00
Fe mg/l | 0.6l — — 1007 — — 10.61]001]082
Mn ng/110.06] — - 1020] = — 10.207]0.02] 0,08
i E ¥ 11L8] — - 11841 — - 1162 7.8 1 1L.7
HBHR20°C) | us/en] 810 = ~ |.816 | — - 320 .| 258 | 206
Ca mg/1 | 17,0 — - 117.8] = - 1198150177
Mg wg/l) 7.5 0 — | — 17471 - — 11841 7.2 | 9.5
pH4. 87 VA YVEE| mg/l ]| 59,0 — — | 52,4 - — 159.2 144,552, 9
pHO.0BR ~ B[ mg/1]1.98] — - 12 54 — ~ 15811 1.0 | 158
p HO. 07 A V| ng/l1] — — — — — — — —
' $0,4%° mg/l 1807 — — 31.8 - = 1878312581821
Cl~ | mg/1|40.5| — — 141.6] ~— — | 45.9 | 85.5 | 40.2
Na ‘mg/1 {830 — —. | 8L56] — — | 85812841822
K | mg/l]5.16] — — 1505] — — 110.88] 4.79 | 6. 56
T +S§i0, mg/1] 6.8 [ — — 112.77] — — 83.8 | 6.9 ]19.5
AN mg/1 10,16 | — - (0612 = — 115.571 0,121 8.48
Chl-a pg/1]143.4146.8139.9189.8|44.235.6(850(288]5L.7
Chl-b g/t 811 431 44) 2684 382]1125] 1.8 5.4 .
Chl-c pg/ 1165 | 11,6165 7.8 | 9.1 44129.9] 1.2 | 10.8 |+nomEEidRADEI & D Ridiz,
TJaA24FY | pupg/1] 94 1.8 ] 27 40] 78] 383143.5] 1.3 | 8.7 |LP-coD=(CcOD)-(D-COD)
B A vREEES | mg/110.00] — — 1000 — ~ 10,02 [0.00] 0,012 I N=(NH&N)+(NO2-N)
VARV [pg/ 110.00110.002]0.002]0.004]0.003]/0.003[ 0.06 | 0.00 | 0.01 |8 P-ON=CON)~(D-ON)
2-MIB _|zg/1]0.000]0. 008]|0,008|0, 003]0.005/0.007] 0.10 | 0.00 | 0. 01 |4 D-TN=CIN)+(D-ON)
MnopdydRaB(THNRP) | mg/1.] — — — — — — — — — |5 TN=(CIN)+(ON)
oz . 8. P-TP=(TP)-(D-TP)

T.TC=(IC)+(TOC)
8. P-0C=(TOC)—(D-0C)




KEEH (02— 1)

NG WL | kRE FUARJ| FETIES Bl L P D 14EC199948)
. B [ B4 | 1/6 | 1719 ) 1/28 | 2/2 | 2/18 | 2/28 | 8/2 | 3/9 | 8/16 | 4/18 | 4720 | 4727 | 5/11 | 5/18 | 5/95 |
"TNEE | mg/t ] 1191200 1,46 11,001,090 088 (1,92 1.08] 077 )1 1010680]088]0867]060][057

‘TN mg/l ) 1181 —, = 1106] .~ - 1L09f ~ | =" "1118] = | = [0.68] — .| =

TNTFE g/l {118 — | — [L14] - - | 13%] -~ - |1L15] ~ - [070] - -
TP.LHE ng/1 10,0900.064}0.075[0. 0700, 088/0.086)0. 112]0.0960.085]0. 0860, 100]0. 127 0. 06710, 079 0. 065

TPHE mg/1 0,079, — = 100711 - — 0. 108] - - 10.086] - - [0.078] —. | —

TPTHE ng/1 10,102] — - 10.075] -~ — 10, 112) — ~ 10.084] - - 10.069) ~ -
COD LB ng/1 | 6.67 | 7.20 | 7.28 |6.86 | 7.85 [6.71 (730 [721 |77 ]6:76|848 8.8 |669|6869]682

CODHE mg/l | 6,66 | — - |614| = - 719! - - 78] - - 1673] - =

CODPHE . | mg/l [7.481 ~— — |698] ~ = [800] — — 7131 - - 696 — —

kil kbl c | - [ - [ - - [~ - -1 -] ~-T-T-T-T-T-"T1T-+-
| °C | 6.2 | 485765 ]52|61 (567581 ]128]162]17.2(18.1]19.4]21.8

0.6m| °C 6.2 1481586656160 60]| 7680128161171 ‘19.1 19.4 [ 21. 2

10m| °C 1868|4858 |56 5115960 76180/ 127[160/[168][°10.1]19.4/[23L0

20m| °C | 68486656 5169861 |76]/80 [127[1509]167]10.1[18,3]2L.0

80m| °C |68 )|48|56/)56[61]60]61|76|80]127|159]165]19.2]19.3]20.9

40m| °C | 63 (486656561 (59617680 ] 127]148]165]18.21108.2(20.

bO0m|{ °C | 68|48 |65 |56 {61 |656161(761801 12611481163 118.21196.2120.9
6.0m| °C 163485556 51160617680 125|147 16.2(18.2119.220.9

BE| °C /,6.'3) 48 155|656 |51 |58 (61| 76|80/ 125[147(162]19.2]19.2]20.9

*D0 Kb mg/l | A - | = - — - [ = - — — —- = — — -
FwE| ng/1 110810010 6.7 | 10,2106 (100 ) 17102 10.4(10.1] 81| 82 85174168

0.5m| mg/1 | 10.8110,0] 87 | 0.1 10.5]10.8 | 11.8 11,8 10.1[10.1] 90| 81|86 73167

LOm| mg/t [10.2] 0.8 1 91 /067068 10,0 [11.8/11.51 9.8 10,1187 ]| 7.8 89.0170]865

20m| mg/1 ] 10.2]98 (8895|8407 |1L0]10.5] 95 10,086 | 7.6.0881]8690]861
80m|me/1110.2198 8502890182 120/[11.5]068 10174 74/801]67]5%9

4.0m| mg/1110.0( 9.8 |.7.7 | 848288 120[11.5|861]98|71[7.2]89]62]|57
50m|mg/1 198197176 (81.1801(85 120(1.1({83198!421(465188]|68]556

60m| mg/1 ] 9585|7678 1761/[811122[100. 7493|386 /[61[88]|54][388

JEME| mg/1 | 9.4 | 6.0 [ 48 /4421 )21 [121/105[74]78[08/[88[84]41](L1
AR Kb | Lux | 4300 | 8350 87800 | 7040 |41700 4530015900 | 8310 | 5630 | 5790 [44600 [ 99700 [16200 [43300 [44000!
S| Lux | 3260 | 7540 {32100 | 6810 | 3850040900 11800 7680 | 5110 | 4630 40800 | 85800 ] 11900 [21500 | 20500
0,5 Lux | 1250 | 1820 | 7850 | 2120 | 9470 | 8840 | 8200 | 1140 | 1320 | 1590 | 4370 [ 11700 3260 | 11400 7100 ]

- . 10m]| lux [ 306 | 767 | 8580 | 628..[ 4100 | 8760 |.530 | 301 | 398 | 439 [ 1680 | 1640 | 63 | 3420-|.2760
20m| Lux | 69 | 249 | 751 | 147 | 816 | 821 | 82 | 48 | 109 | o4 [ 983 | 78 | 34 [ 505 | 1420

8, 0m| Lux | 4 83 | 109 | 44 | 258 | 227 [ 0 0 82 B 66 | 13 0 65 | 33

4 0m| Lux 0 0 87 0 94 31 0 0 1 0 8. 0 0 21 62

5 0m| Lux 0 0 0 0 [ 0 0 0 0 0 .0 0 0 0 4 5

8. 0m| Lux | 0 0 0 10 0 0 0. 0 0 0 0 0 0 0 0

BEE| Lux [ — - — - - — — - - - - | - - ~ —

B EORP | mV | 677 | 202 | 63 | 199 | 121 | 127 | 9 | 102 | 242 | 547 | 187 | 524 | 140 | — | 109

I “I* DOWD ORIz & AjlEEE




KEESR (2D2-2)

P L AR C100048)

BlpE Wb Jos [ R | RE | Ei
i B | s ) 6/8 [ 6/15 | 6/92 | 7/6 | 7/21 | 7/27 | 8/8 | 8/17 | /24 | o/7 | /21 | 9/28 | 10/6 | 10/19 ) 10/26]
. TNLE mg/l 1 0.90/088/0.83]0.921]0,06/0.86]100]100]0 8 | 1.09/087/0.72)0062]096]|0 88
TNHYE | ng/L [0.86] ~ | - [0.95] - | — [0.05] - |.— [Lo6] — | — |os| — | -
TNTHE ng/l | 0.09| -~ - 1092] — - | 112] = = | LO07]. ~ — | 078] - -
__TPEE | ng/L|0.049(0.056]0. 066]0. 131] 0. 081]0. 076]0. 118]0. 118 ]0. 104]0. 102]0. 106]0. 086 0. 096 | 0. 088] 0. 088
TPYyE | mg/ |0.085] ~ | — lo.i7] — | — o8] — | — lo.d00] —.] — [o.002] — | —
TPTHE mg/l 10,088 — | - 10.171] — — |0, 146] — - 10,182 = | = 0104 - | -
CODLEE | mg/l 1685623628 |665|844/823|768|711668)607)|721|762]|881 702|757
copwd |mg/tl6os| — | — {rae| — | ~ |rii] = | ~ (68l - [ - Js0]| ~ | —
-CODTE mg/l 1803 — — 165688 -~ - (7841 - = (6861 — - 1781 — —
KB KE] C | - | - - - o - T - e T
- #E| °C |23.1[24.8)22.7(22026.8|284(20.2/20.4[20.0)27.4)262]25.2]222]10.2]1738
0.6m| °C [22.01247)|227)|220|267|284120.17294]|20,8]27.4|263/25,8|22.2)19.2]17.2
Lom| °C [22.9124.5|22.7[22.9)2622838/|201)20.4/208|27.4(26.2)25.1]228][18.8[17.2
20m)] °C 192.8)24.4122.61229[26.0)28229.0)29.4|29.8)27.4)262)25019.8)18.8)17.2
30m| °C 125.81248[224)28.0/259/282/289/[29.4]20.8(27,4/262/250]223]19.8]172
40m| °C |22.8|243|224]23.0(2.8/282/289|29.4/20.8|27.4126.2)2501223)10.8]17.2
6.0m| °C )22.824.8/223/229)258|281|2890)208)20.7|27.4[2621]250]2238]19.8]17.2
6.0m| °C [22.8|24.8|22.8220)258]281/28920.8)29.7[27.4[26.2/25.0]/228]19.8]17.2
BHE|] °C 122.8124.2122.2122.0)25.7]280280|26.3)20.7]27.4 26.2 | 25.0|222]19.8]172
*DOQ " kb | mg/l - - — - = —. - - — - -~ - — - -
' | mg/) | 6.1 | 67| 678072 60]68)654]|68])66|78)|84]|88|86]85
0.5m|mg/1 ] 60| 66|66 | 78] 70|68/ 63 681 62]62|761|84)388) 86|85
LOm|mg/l | 58|54 )665]|7.9]868]|67]|60)|58)6¢0|62]74|84]87]|85]3838
20m| mg/1 ) 658 |61 |61)79|64]67]60]511[59]|868|74)811]87]|85 /(83
80m|mg/l ) 56 | 49|67 ]|70]61/[66]665|46]57]62]|74]76]286]|85]83
40m|mg/1| 86|46 ]654 77 [657|64|63|45 |54|61|71]75](86]84181
50m|mg/l | 54415076 ]|60]61]61]45]|64|50]70|175](861!82/(80
6.0m| mg/l | 45|86 | 36| 76|48 |60)461] 45 |41]|521]69)|72]851! 80| 179
BEm | mg/) | 2.4 1 0.8 { 21 [48)04/02(00/2008|341]25 70 14141172
KRR gk | Lux [82900)44000 | 82000 15800 | 9870 | 99200 | 04400 | 98500.| 43800 | 17200 | 8940 |83900 | 28100 | 67900 | 69800
# Lux | 27600 | 39600 | 79400 { 12400 { 92400 | 81400 | 58700 | 83100 | 39600 { 13500 | 7900 {71100 | 23000 { 56400 | 59500
0. 5m| Lux | 6640 | 4730 {23100) 3610 |21300]12100 | 12900]32700{12100| 4180 | 1820 | 25400 | 3880 | 21300 [ 14800
LOm] Lux [ 1100 | 1810 | 5180 | 234 | 8430 | 8460 | 1480 | 5660 | 2810 | 801 | 128 | 3410 | 1410 | 4170 | 4860
2.0m| Lux | 206 | 222 | 1080 | 12 | 218 | 1490 | 117 | 1080 | 148 [ 111 | 48 | 1160 | 228 | 1080 | 477
3 0m| Lux | 30 61 | 181 2 81 | 17 | 24 83 96 - | 28 12 | 425 | 157 | 215 | 104
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1.0m| Lux | 1880 | 198 | 1230 | 894 | 1200 | 1130
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JEE| Lux | — - = - - .-
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CN mg/1 10.00]0.00[000/000(000/[000]000[000]000/000]000[000]0.00]0.00]000]|0.00

Pb ng/1 {0, 000)0.000]0.000]0.000]0.000]0.000]0.000]0.000]0.000]0.0000.000]0.000]0, 600 0. 000] 0. 000] 0. 000

Cr (VD) ng/l 16,00 0.00)0.00)000)0.00]06060)0600!000]000)000!06060}000]0001000]000]0.00
As ng/1 | 0.000 | 0.000 | 0,000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.001 | 6.001{ 0.002 | 6.003 | 0,001 | 0.001 0.001 | 0. 001

T—Hg mg/1 | <0.0005) <0.0005 ] <0. 0005] <0. 6005 <0. 0005 <0. 0005 <0. 0005 | <0. 0005] <0. 0005 <0. 0005 <0, 0005 <0. 0005 | 0. 0005 | <0. 0005] <0, 0003 <0. 0005
PCB ng/1 |o,0000) — — — |0 coo0j0.0000] ~ _|o.0000] =~ [0.0000)0.0000] ~— |0.0000[0.0000) —-| —

Myonstyy ng/1 | 0. onos| <o. 0005 <0. 005 | <0. 0005/ <0. 0005 | <0. 0005 <0, 0005 | <0. 0005 | <0, 0005 | ¢b. 0005 <0. 0005 | <. 0005 | <0, 0005 | <0. 0005 | <0, 0ges] <o. 2005

Fhiymnefyy ng/1 | 0. 0005 <0. 0005 <0, 0005| <0. 0005/ <0, 0005 | <0. 0005 | <0. 0005 | <0 0008 | <0, 0005 0. 0005 <0. D005 | <0. 0005 | <0, 0005 | <0. 0005 | <0. 000s | <0. 0005
pusgfepedE - | ne/l |co.0002] - —~ | -~ [<o.0002)c0.0002] - |co.0002] - |co.o002|co.0m0e] -~ [<o.0002f <0002 - -
¥ jongyy mg/1l |0, 0002 — - —|«0.0002)0.0002] — |co.0002] — |<o os02|co.0002] —  [<o.0002] <. 0002 - -
L 2-¥ juosyy | og/l |co.n00e| - - — |«o.0002f[<0.0002] - |co0002] - |co.0002fco.0008] — |[co.0002]co.0002] — -
L1, 1-Mjuutyy | og/t |o,0008 - - — lco.0005| <o.0006) ~ |<0.0005] — |<o.0005)co.0005] — |<o.0006f <0.0008] — —~
L L 2-t)yooxryy | ve/l | 0002| - - ~ |«o.0002[co. 0002 — |<n.oo0g] — [<o.0002]<co.0002] — <o 0002|¢o.0002] — -
1, 1=y joogfvy | g/l |co.0002] - ~ |~ |co.0002]<o.0002f — |co.0002) - | <o oooz|co.0002] — |<o.0002] <o, 0002 - -
Ya-1, 2= honzivy| o/l [co.0002] - - - |co.0002) 0.0002] — co.0002] — |co.0002!co.0002] — |[<o.0002] <0.0008] — -
1,8-¥"Jun7°uA"y | og/) [co.0002] - - ~  |«o.0002| ¢o.0002) — |co.0008] — [<o.0002] co.0002) - |<o,0002| <o.0002] — -
FI5 A ng/l | ¢p.0005) - - ~ | <0.0006<0.0005] — |<c0.0005] — |<0.0006]<0.0005] — |co.0005] <o0.0005] — -
Vv og/l |¢o.0005] — - — _|<0.0005)¢<0.0006] <~ |<¢0.0006] — | <0.0005] <0.0006) — | <0.0005]) 0.0008) — -
FAN VAN g/l |co.q008] - - - l«.0005[<0.0005] -~ |<o.0008] — |<0.0008]<o.0008f - |«o.0005]<0.0008 - -
ey g/ |0 0002) - - - _|<o.0002) co,0002] — |<o.0002] — [<o.0002|<o.0002] - |co.0002|<o.0002] - -
Ly ng/l | 0.000| — - — |oo00]0o000| — |oooo] — [o000]|0000] ~ |o0.000]f0000]| — -
(NO2 +ND8)-N ng/1 _ — — - _ - _ _ _ _ _ _ _ _ _ .
Iy g/l — - - — - - - - - - - - - -~ - -
RO ng/1 — - - - - - - - —~ — - ~ — — - -
EPN og/1 |g, 0000] - — ~ _[0.0000]0.0000] = 10.0000f — |0.0000]0.0000[ — [0.0000f0.0000 ~ -

iz




| EHRKEWESRE (202)

TRIIE8H3A  WE

K F & FUARJH | F AR [ FHARN | FUARIT | FUBRIU (RGBS FUAR I FHR N FUAR I FUARN | FEARDFHRN FGR) ]| FARI | FGR )| RGN

w4 10| Br | 17 i B | | i e o | e | i | d | dei | R | EER | ER | R L

Eihliy e 1 At A o s o e | oot Rt D[t | e oAl el dteen | gm0 |

1A WAL | a3 | 8/3 | 8/3 | /3 | . 8/3 | a/s | a/3 | n/s | a/3 | a/3 | 8/3 | 8/3 | /8 | s/a | 8/3 | 8/8

Cd ng/1 | 0,000/ 0.000 | 0.000 | 0.000 [ 0.000]0.000] 0.000 | 0.000]<0.g01{<0.001)<0.001] <0, 001 <0.001] <. 001] <0, 001] <0. 001
CN ng/1 | 0.00]0.00]0.00]000)000f0.00]0.00]0.00]<0.01/<0.01f<001f<001]<0.01]<001]f<001]<0.01

Pb ng/1 |0, 000]0.000]0.000{0. 000)0. 0000, 000}0. 000]0. 000 <o. 002/ <0. 002 <0. 002} <0. 002| <0. 002 <0. 002 <0. 002 <0. 002

C r (I mg/1 | 0.00(0.00]0.00]0.00]000/000]000/000[<0.01]<oo01]<0.01f2017]c¢0.01]<001]<001] <0
As g/l |¢0.001] ¢0. 001] <0, 01| <0. 001 <0. 001 <0. 001] <0. 001 <0. 001] 0.004 | 0. 001 | 0.002 | 0,001 | .0..002 | 0.001 | <0. 001 0. 003

T—Hg mg/1_) <b. 0005 <0. 0005 | <0. 0005 | <0. 0005 | . 0005 <0, 000 <0. 0005  <0. 0005 | <0, 0005 | <0. 0005 | <0. 0005 0. 0005 | <0, 0005 | <0. 000 <D. 0005 | <0. 0005
PCB ng/l lg.0000 — | — | .— lo.cogolo.0000] — lo.0000]. — |<o.on05)co.000] —. |%o.005]<o.0005] — -

WHALIES 14 12/ | co. 0006/ <0. 0005 ¢0. 0005 | <0. 0005 | 0. D605 <0, 0005 ¢b. 000 <0, 005 | <0, 0005 0. 6005 | <b. 0005 <0. 0008 <0. 0005 | <0. 0005 0. 0008 <. 0005

7bipunsghy 1g/1 | <o, 005 <0. 0005 <0. 000 <0. 6005 | <0, 0005 <0. 0005 <0. 0005 | <0. 0095 | <0. 0005 | <0. 0005 <0. 0005 | 0. 0005 | <0. 0005 <0. 0005 | <0, 0005 | <0, 0005
PEMRSEHE | ne/l [oooe] - | - | — |co.o00fco0o0pf — <0002 — |<o.0002[o.0m2f — |co.0002)<o.0002] ~ | -
¥ yuniyy ug/l |co.0002] — — — |«o.0002fc0.0002] — [co.0002] — |<o.q002)co.0002] — |<o.0002) <o, 0002] — -
1, 2" pomtyy | mg/? o002 — - — | ¢o.0008) co.0002] — |<o.0002] —~ | <0.0002] <0.0002] .~ |<¢0.0002]<0.0008] — —
1, L t--MJouz)y | me/l |co, 0008 — — —|<o.0006]¢0,0005] — |<0.0006] — |<0,0005]<0.0005) ~— | <0,0005)<0.0006] — -
11 2-WJonsyy | we/i |co.002] — — — |«o.0002)c0.0002] — [<o.0002] — <o 0002]o.0002] — | <0.0002]<o.0002] — -
L L= punssby | we/l |0 0002 — - — |co.0002) co.0002] — |<o.0002] — |<o.0002]<o.0002]. — |0 0002 co.0002] — -
Ya-L, 2-* punsfyy| og/l | co.0002] — - — |«0.0002] <0.0002]  — [<o.0002] — |<o0.0002|<o.0002] — |<o.0002] <o.0002 — -
1L, 8-y Joo7 o'y | wg/l |qp.0002] - —  |«0.0002| <0.0002] — [<0.0002] — |<¢0.0005)<¢0.0008] — |<0.0006] 0. 0005] — -
FU5h vg/1 | co.0008] — - — | ¢o.0005[«0.0008] — [¢0.0005] — |co0.0005|<0.0005] — | co.0005) <o.0005] -
=Yy ng/1 | .om| - - —~ |co.oo0t|cooom| — [coooor] — |c¢o.0005]¢0.0005] — | <o 0008 co.0008] — -
FAN V7 ng/l | w.om| - - — o] oo -~ |coor] - [<o.0005]<0.0005] ~— |<o.0005]<o.0005| - -
Ry ng/1 |0 0002] — - — l<o.0002)<0,0002) — [<0.0002] — |co 0002f[<o.0n02] — |co.0002]¢o,0002] - -
il og/l | 0.000| — - — oo o000 — |o.000] — |<o.001j¢0.d01] — [<0.001]<0.001| - -
(NO2+N08)-N | mg/1 | 0.814 ) 0.401 [ 0.801 ] 0. 046 | 0.356 | 0.802 | 0.271 | 0.181 | 0.041 | 0.040 | 0.052 | 0.042 | 0. 041 | 0.052 | 0.042 | 0.032
TR wg/l | 0.15] — - - Jo.151015) — [016] — |<02{<0.1] - | 0.1 <01 — -
AE og/l | 0,08( - - - |o.04[004] — |0.065] ~ [003]004] —~ |0.05]004[ — -
EPN og/1 1o, 0008] - ~ — lo.o600]0.0000] _— o.0000) — | <o.0006]<0.0005] — | <0.0008)¢0.0005) — -~

g
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